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~T79 530 490 27 5 - - - -
80~ 102 99 1 - - - -
& 2553 | 2380 79 16 3 1 - 2




13—d. BRAIAIRER

PR%E
EE
EFE| B 2@ 3@ 4@ SE e 7@ SELlL
I 8| 8 - - - - - - -
\ 9| 8 - - - - - - -
C 02| 282 9 6 1 - - -
A 479 | 89 29 2 - - - - -
T 377 | 384 2 5 2 - - - 1
D 258 | 239 8 4 - 1 - - -
S 1347 1251 62 5 - 1 - - -
NOS 4 T T B
Rs 491 455 1 2 1 1 - - -
Ra 85 | 88 29 6 2 - - - -
Rb 1534 | 1449 3% 3 1 - - - -
P m | w3 - - - - - -
E I T
NOS vl 9 - - - - - - 1
& B |5826 | 5420 217 34 7T 3 - - 3




14, BREIFHX SR, BOXDHIERE

BREE
& | PR RERERRR AR SME £F A ZEH
MR | (RE)  (FiR) (H6E) (EE)
I 8 1 1 - - 6 - -
\% 9 1 1 - - 4 1
C 302 50 38 7 12 157 29
A 479 72 58 15 13 260 41 20
T 377 46 29 9 4 256 20 13
D 258 27 18 6 168 22 13
S 1347 233 167 69 41 657 113 67
NOS 4 - 1 - - 3 - -
Rs 491 79 107 30 22 190 42 21
Ra 885 148 204 67 73 293 55 45
Rb 1534 356 332 149 187 331 108 71
P 119 26 16 19 10 32 6 10
E 3 - - - 1 - -
NOS 10 2 - - 1 2 2
&5t | 5826 1041 972 369 370 2362 439 273




15, RERODESH

A

AR | FE LE  Da Ob Oc m R

EFE | Ip  Is  RE 0 RE 2 RE FRME toft T &

Reke® PHE  fRME

I - - - - - - - - -
v 9 - - - - - - - - -
C 302 - 2 1 - - - - 1 4
A 479 2 3 1 - - - - 1 7
T 377 4 3 - - - 1 2 - 10
D 258 7 1 - - - 1 1 - 10
S 1347 $5 1 7 1 1 - 4 1 70
NOS 4 - - - - - - - - -
Rs 491 5 5 8 - - 1 - - 19
Ra 885 12 12 6 - 1 1 1 2 35
Rb 1534 34 45 17 1 1 6 4 4 | 112
P 119 2 - 1 - - - - - 3
E 3 - - - - - - - - -
NOS 10 - - - - - - - - -
&st 5826 111 82 41 2 3 10 12 9 {270




16.

AIRAOIEEAE
BRFE
& | AL KiER s BE OBEE toft A ZA8
TEBIE
I 8 - 1 - - - -
\% 9 - 1 - - 1 -
C 302 103 21 2 1 1 1 16 157
A 479 166 36 1 - - 2 18 256
T 377 105 40 1 - 4 - 11 216
D 258 78 27 - 3 2 - 6 142
S 1347 457 108 5 3 7 2 53 712
NOS 4 1 - - - - - - 3
Rs 491 153 28 - - 6 1 24 279
Ra 885 300 29 1 3 6 - 34 512
Rb 1534 498 43 1 5 15 3 71 898
p 119 37 - 7 3 - - 4 68
E 3 - - - - - 1 1
NOS 10 3 - - - - - 1 6
&&t 5826 1906 332 20 18 41 10 239 3260




17. BEOKXES

17— a. B&

yOF S 1/3 12 3" wem @ FH %A
EE| UTFT KT UT

I 8 - - 1 1 5 -

v 9 1 1 - - 4 - 3
C 302 1l 31 37 53 150 7 13
A 479 15 31 61 84 243 17 28
T 377 9 11 31 49 247 14 16
D 258 16 6 14 38 163 9 12
S 1347 132 129 143 221 611 26 85
NOS 4 - - - 2 2 - -

Rs 491 43 68 66 103 175 12 24
Ra 885 108 118 135 171 280 23 50
Rb 1534 239 276 317 320 275 42 65
P 119 26 17 19 20 29 4 4
E

NOS 10 - 1 3 1 3 1 1

&&t | 5826 600 689 827 1064 2189 155 302

* 1/3<,1/2=

* %k 1/2<,2/3=



17— b. BRELARX

PR%E
S 1/3 12 w3 EeE 2B A %8
IE BIEX T UT DT

<2cm | 211 156 9 8 9 14 4 11
<3 353 189 93 19 9 26 4 13
<5 1599 187 400 363 224 355 9 61
<7 1826 29 123 325 489 782 18 60
7cm=< | 1298 2 28 76 285 832 16 59
e 285 21 18 20 35 87 22 82
pads 254 16 18 16 13 93 82 16
&E 5826 600 689 827 1064 2189 155 302

* 1/3<,1/2=

* x 1/2<,2/3=



18. $RIRZHE

SMRIFHIB . BRAE

pSE
JiE BB So S S2 Sa ABH pad=]

I 8 1 - 4 3 - -
\Y 9 1 - 3 3 - 2
C 301 30 48 138 81 - 4
A 478 38 66 245 110 5 14
T 376 22 45 195 99 4 11
D 254 31 29 123 62 3 6
S 1338 | 196 175 696 233 12 26
NOS 4 - 2 2 - - -
Rs 489 79 80 220 83 6 21
Ra 875 191 109 390 102 10 73
Rb | 1522 | 518 132 239 112 92 429
P 118 32 6 10 7 6 57
E 3 - - - - 1 2
NOS 10 - 2 5 1 1

&5t | 5785 1139 694 2270 896 140 646




19. &8

19—a. FEfs
SVRIEHIB . RREE
% | H1
ERK HC) & £ HOFRSE H2 H3 FE %l
I 8 8 - - - - - - -
A" 9 8 - - - - - - 1
C 301 262 13 3 1 11 9 2 -
A 478 422 15 2 - 15 22 2 -
T 376 ¢ 315 12 4 2 19 23 1 -
D 254 224 5 - - 8 12 4 1
S 1338 1106 48 10 2 55 96 18 3
NOS 4 3 - - - 1 - - -
Rs 489 414 9 2 17 29 10 3
Ra 875 761 32 3 28 39 9 -
Rb 1522 : 1336 35 12 3 38 37 54 7
P 118 | 104 - 1 - 5 3 5 -
E 3 3 - - - - - - -
NOS 10 8 - - - - 1 - 1
&5t | 5785 5 4974 169 40 13 197 271 105 16

SEAEEERALEREE 451 7TEOHOKIE" HO” LEHINATWS
ERIDIZD . HOERALHO L L2ed . AHOHODEMRE B2 C
LEBHNTS,



19— b. EREERE

SRIFHIR. BRRE

R

FERIE) M) B B PRE ity B BT KR Foft FE £l
I 8 8 - - - - - - - - - -
\% 9 7 - - - - - - - 1 1 -
C 301 | 290 5 1 1 - - - - 1 2 1
A 478 | 462 3 1 1 1 1 - - - 8 1
T 376 | 354 6 - - - - 1 - 2 7 6
D 254 | 242 2 - 1 - - - - 1 7 1
S 1338|1264 17 2 6 5 1 1 1 - 29 12
NOS 4 4 - - - - - - - - - -
Rs 489 | 464 6 1 - - - - 1 10 5
Ra 875 | 837 12 1 2 1 - - 1 9 9
Rb | 1522 |1460 12 2 - 2 1 1 - - 29 15
P 118 | 112 4 - - - - - - - 1 1
E 3 - - - - - - - - - -
NOS 10 - - - - - - - - - 1
&5t | 5785|5516 67 8 14 10 4 3 1 7 103 52




20. U L INEREREDIRE

SVELFRB. BREE

A |

TE BB R0 Rl R2 R3 R4 FH %75
I 8 - 3 1 4 - - -
\' 9 1 2 1 1 - 2 2
C 301 16 46 102 128 1 4 4
A 478 27 51 174 221 - 4 1
T 376 31 75 117 135 - 7 11
D 254 23 46 104 71 - 7 3
S | 1338 150 282 420 432 5 28 21
NOS 4 1 - 1 2 - - =
Rs 489 30 97 196 137 11 12
Ra 875 74 163 352 251 9 15 11
Rb | 1522. ¢ 137 232 557 533 16 23 24
P 118 12 24 47 25 3 4 3
E 3 1 1 - - - -
NOS 10 - 1 3 4 - 1 1
&t | 5785 503 1023 2075 1945 40 106 93




21. &Rk

21. SOFIBRSEERE

SR o 51 AR o
& =) A
SEIFRHE 5785 2768 3017
AUt L 4913 2273 2640
E0tIBR D Y 863 491 372
e & 87 83 4
ARE 8 2 6
FE 36 5 31
HE 10 4
EHig 61 27 34
fE 103 - 103
g - 19 1 18
B3 BR 20 1 19
1% Bt 104 48 56
HRE 8 4 4
K RE 20 15 5
B 27 19 8
+ 15 13 13 -
& 12 12 -
/NBR 103 84 19
£33 29 22
(=) 9 5
i 65 44 21
A 28 27 1
e 3] 11 11 -
g 4 4 -
BRER 1 - 1
ot 117 70 47
T~ 9 4 5




22. YIRRHTYR £ T OB

22— a. OWDRLi#E

s o o B K
FHi¥| <Bem <Sem <10cm 10cm=< FHE ZEH

I 8 - - 1 4 2 1
\Y% 9 1 - 1 3 3 1
C 301 b 9 39 188 38 21
A 478 5 11 67 316 49 30
T 376 6 14 76 224 23 33
D 254 7 7 65 133 24 18
S 1338 31 86 318 714 93 96

Rb | 1522 51 13 73 1061 175 149

P 118 5 2 3 76 15 17
E 3 - - - 1 -
NOS 10 - - 2 - -

p
[

g 5785 140 169 835 3648 527 466




22—b. AWODPEM (485)

R I

shEt AW o BB OB
FHE | Gen <10cm 1l0cm=< ABf el
I 8 - 1 4 2 1
\Y/ 9 1 1 3 3 1
C 301 18 37 185 38 23
A 478 16 79 303 51 29
T 376 33 97 197 17 32
D 254 23 60 130 23 18
S 1338 257 499 399 83 100
NOS 4 - 2 2 - -
HE | 2768 348 776 1223 217 204

22—c. AWODFEE (k)

shwt AW o BE O
FHP| <2m Bem  <SGem Sem=< FH O EH

Rs 489 20 43 150 211 25 40
Ra 875 78 95 251 338 51 62
Rb 1522 148 160 349 558 129 178
P 118 18 23 37 8 15 17
E 3 2 - - 1 -
NOS 10 2 2 4 2 - -

CH 3017 268 323 791 1117 221 297




22—d. OWEAWOHAADbEICLLHE (1)

SVRIFERB . BRAE

AP LTBR YR 2 TORERE (AW)

..........................................................

O HSUEREK|2747] 343 772 1213 419
{g\u-(-» L Nt A
> i< 5.0cm | 180 83 54 41
BREE i<10.0cm | 564| 109 262 187
{igE (10cm=< 11574 142 446 973 13
50K | ANER 429 9 10 12 398
&5 CATDS
22—e. OWEAWOHAEORIZ L B5E ()
SORIERB . BREE
|
RLF{RIEIBRER SR & TORERE (AW)

| <2.0cm <3.0cm  <5.0cm Scm=< ABR
O iSgUEFIR|2886| 243 298 750 1106 489
{’Eﬂf ', ................ G
flo> i< 5.0cm | 116 39 13 21 34
BREE  (<10.0cm | 261 32 35 87 102
Mg 10cm=< 1978|151 224 609 925 69
% O [7REA 531 21 26 33 45 406
&8 : Rs, Ra, Rb




22— . HEFENURKRRE DR

BR#E
y54 oW aw ew

Fh =) () A -) (+)  AE{ (-) (+) TER

1 8 8 - - 8 - - 6 - 2
v 9 5 1 3 6 - 3 4 1 4
C 301 285 - 16 286 - 15 185 16 100
A 478 453 1 24 452 2 24 299 22 157
T 376 355 1 20 356 - 20 229 15 132
D 254 237 - 17 236 - 18 150 7 97
S 1338 1251 - 87 1243 7 88 863 21 454
NOS 4 3 - 1 3 - 1 2 - 2
Rs 489 454 - 35 453 1 35 315 19 155
Ra 875 818 1 56 804 11 60 582 33 260
Rb 1522 1405 1 116 1396 7 119 1111 88 323
P 118 107 2 9 104 2 12 73 16 29
E 3 3 - - 2 1 - - 1
NOS 10 10 - - 10 - - - 5
45t | 5785 5394 7 384 5359 31 395 3826 238 1711




23. ly &v

23—a. ly & VORE
HEIFHH . BRE

515} ly | v

Fh®| O ® A Za | (O O W ZH

I 8 3 2 1 2 3 2 1 2
Vv 9 3 1 4 1 4 - 4 1
C 301 84 162 36 19 151 85 45 20
A 478 151 231 64 32 237 138 69 34
T 376 122 193 31 30 196 109 43 28
D 254 83 112 37 22§ 132 65 37 20
S | 1338 493 592 149 104 ¢ 702 362 177 97
NOS 4 1 2 - 1 2 1 - 1
Rs 489 154 249 51 35 1 247 138 70 34
Ra 875 262 4432 101 70 1 430 263 115 67
Rb | 1522 509 728 174 1ur i 771 445 187 119
P 118 24 65 18 11 | 58 28 20 12
E 3 1 2 - - 3 - - -
NOS 10 3 4 2 1 . 3 2 4 1
&Eh| 5785 | 1893 2785 668 439 1 2939 1638 772 436




28—b. )y ERBLBIREHE
wh. SMRFWG. RAE

HEFa Y N
no n+
MO MONTZ | I IR MO VORI
v(-) | 86584 273 9 | 4951 193 298 4
v | 2681 69 192 7 | 437 36 374 13
VARl 199 12 30 157 | 198 3 29 1leb
&t | 1333 D665 495 173 | 116 | 232 701 183

¥ CATDS

23—c. ) y3EREEFIRIZEY
BB, SWEFEHH. BRAE

E RN 1]
n 0 n+
Boily) Iy AR | E ily() Iy LyTH
(-) 882 568 312 2 510 180 327 3
v (+) 300 7 78 216 6 500 { 47 443 10
B 234 ¢ 9 23 202 168 | 4 32 132
&% | 1416 { 655 551 210 | 1178 | 231 802 145

ER% : Rs,Ra, Rb




23—d— 1. #IREBEHEE v()
v(-) . SVELFHS . BRAE

5hF HO H1 H1 H1 H2 H3 H*
FHiE & kE EG7TH AEH

ly(-) 1614 1524 20 7 2 25 18 18
ly(+) 1306 1180 26 4 2 41 44 9
1yA8 9 8 - - - 1 - -
IyZEH 10 10 - - - - - -

CEH 2939 | 2722 46 11 4 67 62 27

* EABEERATRERA4T 1 7THENODHOKIIHO L EBAZINT
WHIERIDITIA . HOEEZALHO L L7 . FEDOH O DIER
BERLDBIL2BMINT S,
EROHTHIIIHESLZALE TN D,

23—d — 2. BREBEFBE v()
v(+) . SVEIFEWE . BRE

5 HO H1 H1 H1 H2Z2 H3 H*
FHIE & kE EGFH B

ly(-) 247 208 12 1 - 9 14 3
ly (+) 1347 1075 65 17 5 65 108 12
lyABH] 23 18 - - - 1 2 2
IyZEH 21 18 - - - - 3 -

CH 1638 1319 77 18 5 75 127 17




23—d — 3. BIRIRBERBRE v A
v B SERIFHiH . BRAE
43 HO Hl1 H1 HI1 H2 H3 H*
FHr H £ EHABH Z~EH
ly(-) 25 21 1 ~ - 1 - 2
ly (+) 111 92 7 2 - 2 4 4
1yASBH 633 499 20 6 1 26 39 42
1yZH 3 2 - - - - 1 -
&5 772 614 28 8 1 29 44 48
23—d — 4. BIREBENBE v E0

v R SMRIFERR. REE

ShEt HO H1 H1 H1 H2 H3 H*

FHiHK 5k EEFY 7
1y(-) o - - - - -
ly(+) 21 16 1 1 - 2 - 1
AR 3| 03 - - - - - -
lyZEH 405 287 17 2 3 24 38 34
&5t 436 313 18 3 3 26 38 35




24. #H#EE & DukesPH¥E

24— a. &5
ShREFE TR
&3 | &t $idk Kok REE IR BRFENOS
BE BRE BE A R RE
X RIE FIEK 2747 1542 790 131 109 17 158
Dukes A 255 191 41 4 4 16
B 859 538 224 19 26 2 50
C 768 415 242 42 38 4 27
D 633 293 214 48 30 10 38
HE A EE 232 105 69 18 11 1 27
B CATD S (I,V,NOSIZ&EZT°)
24— b. BB
SRR B
A | &t it Kot EEE EIR BRFENOS
BRFE BRAE BRAE MR
X} SRIE HIEL 2886 1638 960 65 78 10 135
Dukes A 508 365 119 3 5 - 16
B 738 465 223 5 15 3 27
C 913 472 349 27 34 3 28
D 441 193 176 25 16 4 27
NE THE 286 143 93 5 8 - 37

[R5 : Rs, Ra, Rb (P, E,NOSIZ& 2 9°)




25. fEBFHEHRE

25— a. EMURIEHHRE
SMRIFRB] . BRAE

aey || festt WtE KB AT
Fl| 2L R RIS ¥ KBk B FE ABL R Zof

8 T 1 - - - - - - - -

I
\ 9l 6i - - - - 1 - - -
C | 301 )213{ 37 6 9 -1 - - - 9
A | 478318 81 4 18 - 10 - - -1
T | 376|240 70 13 10 - 5 - - - 18
D | 254|166 43 1 8 -1 - - -8
S | 1338]913i218 11 53 -0 1 - - 30
NOS 40 -1 1 17 - - - - -

..................... e
Rs | 489 [322f 8 4 22 2 - - - - 1
Ra | 875 {591 {139 12 37 1

P . 18| % 4 3 2 - 5 1 2
E 301 - - - -1 - - -
Ns | 10 sio1ro2 2 - - - - - -
&3 | 5785 (3890 {914 T2 10 4 50 13 2 - 143




25—b. REEFIGHRE

SR FRB. BRAE

5hRt et B KI5 BatiR

Fifk| 2L BRE REE +)-77 KB 82 FE KBR U8 ot
1{8 | 5386 | 3743 820 41 213 4 47 13 2 - 135
28 217 | 104 72 16 14 - 3 - - - 3
3 {8 34 12 11 5 - - - - - - 1
418 5 - - - - - - - -
5 i - 1 - - - - - - -
6 i - - - == - - - - -
7 & - - - - - - - - - - -
81 3 - - - - - - - - -
B 135 27 6 3 - - - - - 4
&5t | 5785 | 3890 914 72 230 4 5 13 2 - 143




26. ) NEiER | BOGREMEERICK S 28, 3FOD

EEMNE > /N EE R
26—a. B (C, A, T, D, S) -
BR7S
18 (1L, 6) o 1 2 3 4 5~ #
2% 0@ 2099 408 201 93 62 95 | 2958
(24,7,9,15) 1 {@ 142 77 51 15 21 42 | 358
2@ 4 51 33 23 17T 29 | 201
3ELLE 48 4 36 34 26 T4 | 257
L7 83 99 39 2 9 38 | 494
38 O & 1721 382 212 104 T4 1218 | 2621
(3.5.8,10, 11@ 4 7 14 1B 1019 | 132
16) 218 14 8 7 8 5 10 62
3@LE 15 9 13 712 n 78
L 821 253 114 64 34 89 | 1375
zft + 57 30 2 13 12 4 | 175

() AOBFIBRAK V. #8280 Y REERD) INBEERT. B85

LEB% (F)&B (18) Vs 9. EEBRY /38 (25)
LB (%) &8 (28) Yo E 10 THRERY o8 (38)
.81 (%) &8 (3]) VUNE 11 hEBY /%

4. XREYRY E (28) 12. AR Y 238 (ERilF. sHEhE.
5. XBERIRY VNE &) UNEBEED)

6. FHERBY) /N (1 E) 13. TEBY /35

1.5EBY N (28) 14. FiFWY) VINE

8. FEBY INE (3R) 15. FDfD 2 B Y VINE

16. EDD 3 Y »/NED



26— b. Rs

34

151 6) ofd 1 2 3 4 5~ &t

2% (OF|::} 180 25 14 3 22 249

(2.4.7,9.15) 1 @ 11 6 3 1 0 27

2@ 3 2 4 - - 6 15

3ELE 3 3 2 - 10 19

8§ 34 4 5 - 9 55

3R (03] 253 34 30 2 6 53 378

(3,8,10,11, 1{# 4 6 4 2 - 18

16) 2@ - - - - - 3 3

SELLE 2 4 2 - - 6 14

g 200 36 21 42 311

T nfe + 6 - 2 ~ - 4 12
26— c. Ra

351

1E0 6 0@ 1 2 3 4 5~ &t

2% ofE 293 58 30 17 18 17 433

2,5.7.9, 1@ 16 10 9 4 4 8 51

11, 15) 28 6 7 5 - 4 6 28

S3ELE 13 7 4 10 5 8 47

Z~eg 41 22 7 4 1 9 84

3R 018 227 57 31 19 19 25 378

(3,10, 12, 18 6 5 2 2 2 5 22

13, 16) 28 - - 1 1 1 1 4

3@ELEL 2 - 1 3 3 3 12

Aeg 134 42 20 10 7 14 227

Ffl + 6 3 1 3 2 1 16




26—d. Rb

BREZ

186,11 of8 1 2 3 4 5~ £t
28 Of8 589 118 56 33 26 51 873
2,5,9,12, 118 29 16 10 8 3 6 72
13, 15) 28 12 4 4 - 2 9 31
3L 9 4 8 8 6 23 58
Eg - - - - - - -
3R O {8 434 81 50 25 26 42 658
(3,10,16) 1@ 3 5 2 5 - 3 18
28 2 - - 1 4 8
3@ELIE 2 1 3 - - 4 10
I8 198 55 23 18 10 36 340
T Dl + 46 23 21 13 13 37 153

26—e. P

BRRZ
188(1,6) oM 1 2 3 4 S~| &t
2% O 44 2 2 - 50
(7,9.11,12 18 3 2 - - - - 5
14, 15) 28 1 2 - 1 1 - 5
3@ELE 4 2 1 - 3 3 13
-8R 1 - 2 - - 1 4

3F OE 41 5 1 1 51
(3.8,10,16) 118 1 - - 1 - 2
28 - - - - - - -
3ELE 2 - - 1 3 6
8§ 9 1 1 18
Eg2kiu] + 1 - 8 6 - 1 2




N. EBif:RE



27.

BERE
JRE
we | Af R METE PR FUDE RIEE
JIE BIEX : E
H#15 198045) 1320 | 551§ de4 18 42 34 220
198147 1455 | 490 | 483 14 83 40§ 345
EH 19804 ) 1482 | 617§ 5% 18 72 35 | 204
19814 1560 | 492 0 553 25 63 34 | 393
& sg26 | 2150 | 20% 75 260 143 {1162

19804E ) : 19864 1 A 1HBAE
1981/ : 1987TFE1 A 1HHTE

* FHFEZ FT




28. BHEEA

RRFE

&R | BR fR AR
ERE XL BET BB VB OF MW Al & I Zoft T
I 8 8 - - - - - - -
\Y 9 5 1 1 - - - - - 1 1
C 302 252 7 16 1 13 6 - l - /A 4
A 479 396 9 12 10 29 13 - 2 - 4 4
T 377 320 6 9 29 3 - - - 3 2
D 258 212 4 ] 21 4 - - 3 2
S 1347 11106 19 38 11 118 20 1 4 - 7 23
NOS 4 ? - 1 - - - - 1 - - -
Rs 491 398 21 10 41 12 2 2 - 3 1
Ra 885 . 692 53 17 4 74 27 4 2 1 4 7
Rb 1534 !1196 142 6 14 76 57 2 12 5 10 14
P 119 70 24 6 5 4 - - 6 1 -
E 3 3 - - - - - - - - - -
NOS 10 8 - 1 - - - - - - 1
& 5826 (4668 286 122 56 406 146 9 24 12 38 59




V. & 7 %



1—1. 4. ESERINEEFE (BB, 5. 26))

<30 F
<40 F
<50 F
<60 F

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 1 14 4 1 0 70.4 + 24.89 (85.2 - 45.5
1 -2 9 1 1 0 62.1 £ 26,9 (89.0 - 35.2
2 -3 7 1 0 0 63.2 + 28.3 (81.5 - 24.9
3 -4 6 0 0 0 53.2 + 28.3 (81.5 - 24.9
4 - 5 6 0 0 0 53.2 £ 28.3 (81.5 - 24.9
5 - 6 6

TOTAL 14 6 2 6

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 71 14 0 0 80.3 + 9.4 (83.7 - 70.8
1 -2 57 7 1 0 70.3 £ 10.9 (81.2 - 59,5
2 -3 49 4 1 0 64.5 + 11.4 ( 76.9 - 53.1
3 -4 44 1 2 0 63.0 £ 11.5 ( 74.6 - 51.5
4 -5 41 1 3 0 61.4 + 11.7 ( 73.1 - 49.8
5 - 37 37

TOTAL 71 27 7 37

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 192 33 6 0 82.5 + 5.5 (88.1-77.0
1 -2 163 18 1 0 72.8 + 6.5 (79.3 - 66.3
2 -3 134 15 3 o] 64.6 + 7.0 (71.6 - 57.5
3 -4 116 5 5 0 61.7 £ 7.2 (68.9 - 54.6
4 -5 106 4 3 0 §9.4 £+ 7.3 (66.6 - 52.1
5 - 99 99

TOTAL 192 75 18 99

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 347 54 6 c 84.3 £+ 3.9 (88.2 - 80.4
1 -2 287 31 2 0 75.2 + 4.7 (79.8 - 70.5
2 -3 254 22 2 0 68.6 + 5.0 ( 73.7 - 63.6
3 -4 230 15 ] 0 64.1 + 5.2 (69.3 - 58.8
4 -5 206 7 16 0 61.8 £+ 5.3 (67.1 - 656.5
5 - 183 183

TOTAL 347 129 35 183

[V RORV R (PR RV (S RVEVEVEV)

[CRVRVRVEV)



<70 *

<80 ¥

80+ ALk

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 5% STD ERROR
0-1 410 79 9 0 80.5 £ 3.8 (84.5 - 76.6
1 -2 322 37 5 0 71.2 £+ 4.5 (75.7 - 66.7
2 -3 280 34 3 0 62.5 £ 4.9 (67.4 - 57.7
3 -4 243 28 4 0 56.2 £+ 5.0 (60.2 - 60.2
4 -5 211 11 18 o] 52.2 £+ 5.0 (57.3 - 47.2
5 - 182 182

TOTAL 410 189 39 182

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 310 79 4 0 74.4 £ 5.0 (79.3 - 69.4
1 -2 227 38 4 0 61.8 £+ 5.6 (67.4 - 56.2
2 -3 185 24 6 0 63.6 + 5.7 ( 59.4 - 47.9
3 -4 165 16 8 0 48.3 t 6.8 ( B4.1 - 42,5
4 -6 132 1 8 0 44.2 6.8 ¢ 0.0 - 08.4
b (B K] i

TOTAL Jg10 167 4o 1y

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
EETTSTTI B cIaZTAR === =======3 =E=sns=s=== SEESRIIITRE=T

0 -1 67 22 0 0 Gl.2 1 1.6 CT8.6 - bb. 7
1 -2 45 13 0 0 47.8 £ 12.2 ( 60.0 - 35.6
2 -3 32 3 0 0 43.3 £ 12.1 ( 55.4 - 31.2
3 -4 29 3 0 0 38.8 £ 11.9 (50.7 - 26.9
4 -5 26 5 3 0 30.9 £ 11.4 (42.3 - 19.5
5 - 18 i8

TOTAL 67 46 3 18
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<30 F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR

0-1 17 2 1 0 87.9 £ 16.1 <(103.9 - 71.8
1 -2 14 0 0 0 87.9 £ 16.1 (103.9 - 71.8
2 -3 14 2 0 0 76.3 + 21.4 ( 96.8 - 53.9
3 -4 12 0 0 0 76.3 + 21.4 ( 96.8 - 53.9
4 -5 12 1 0 0 69.0 + 23.0 (92,1 - 46.0
‘5 - 11 11

TOTAL 17 5 1 11

<40 ;}" YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 63 9 2 1} 85.5 + 8.9 (94.4 - 76.5
1 -2 52 5 1 0 77.2 + 10.7 ( 87.8 - 66.5
2 -3 46 4 0 0 70.5 £ 11.7 ( 82.2 - 58.8
3 -4 42 3 0 0 65.4 + 12.2 ( 77.7 - 53.2
4 -5 as 0 2 0 65.4 + 12.2 ( 77.7 - 63.2
5 - 37 37

TOTAL 63 21 3 a7

<50 ¥ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR

0 1 174 22 4 0 87.2 £ 5.1 (82.3 - 82.1
1 2 148 30 1 0 69.5 £ 7.1 (76.5 - 62.4
2 -3 117 7 1 0 65.3 £+ 7.3 (72.6 - 58.0
3 -4 109 6 1 0 61.7 £+ 7.5 (69.2 - 64,2
4 -5 102 5 7 0 68.6 £+ 7.6 (66.2 - 61.0
5 - 90 90

TOTAL 174 70 14 90

<60 ;}r YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 302 52 3 0 82.7 £+ 4.4 (87.1 - 78.3
1 2 247 39 4 0 63.5 + 5.3 ( 74.9 - 64.2
2 -3 204 24 3 0 61.3 £+ 5.7 (67.0 - 55.6
3 -4 177 10 4 0 57.8 £ 5.8 (63.5 - 62,0
4 5 163 6 11 0 55.6 + 5.8 (61.4 - 49.8
5 146 146

TOTAL 302 131 25 146

(PR R R ~ [V RVRVEVEW)

(VR RV RY



<70 ;f’ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 363 84 4 0 76.7 + 4.4 (81.2 - 72,3
1 -2 275 26 3 0 69.4 £ 4.8 (74,3 - 64.6
2 -3 246 17 11 0 64.5 £+ 5.1 (69.6 - 59.5
3 -4 218 18 7 0 6.1 =+ 5.2 (64.4 - 53.9
4 -5 193 3 13 0 58.2 + 5.3 ( 63.4 - 52.9
5 - 177 177

TOTAL 363 148 a8 177

<80 ? YEAR OF ALIVE AT DIED [N LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 307 60 S 0 80.3 £+ 4.6 (84.9 - 75.7
1 -2 242 47 5 0 64.5 £ 5.5 (70.1 - 59.0
2 -3 190 26 3 0 55.6 + 5.8 (61.4 - 49.9
3 -4 161 11 4 0 51.8 £+ 5.8 (57.6 - 46.0
4 -5 146 10 11 0 48.1 + 5.8 ( 53.9 - 42.3
5 - 125 125

TOTAL 307 154 28 125

80?1«1_{: YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOQD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR

0 -1 50 17 0 0 66.0 + 13.4 ( 79.4 - 52.6
1 -2 33 5 1 0 55.8 £ 14.1 (69.9 - 41.8
2 -3 27 2 0 0 61.7 + 14.2 ( 65.9 - 37.5
3 4 25 6 0 0 39.3 £+ 13.9 (53.2 - 25.4
4 - 5 19 2 1 0 35.1 £ 13.7 ( 48.7 - 21.4
5 - 16 16

TOTAL S0 32 2 16
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<30 F
<40 F
<50 F
<60 F

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 17 3 2 0 81.3 =+ 19.5 (100.8 - 61.7
1 -2 12 5 0 0 47.4 + 25,8 ( 73.2 - 21.6
2 -3 7 0 0 0 47.4 £ 26,8 ( 73.2 - 21.6
3 4 7 1 0 0 40.6 + 26.4 (66.0 - 15,2
4 -5 6 1 0 0 33.9 + 24.5 (58,4 - 9.3
5 - 5 5

TOTAL 17 10 2 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 108 16 0 0 85.2 £+ 6.8 (92.0 - 78.3
1 -2 92 10 0 0 76.9 + 8.2 (84.2 - 67.7
2-3 82 16 0 0 61.1 £+ 9.4 (70.5 - 51.7
3 -4 66 5 3 0 66.4 £+ 9.6 ( 65.9 - 46.8
4 -5 58 2 3 0 54.4 =+ 9.6 (64.0 - 44.7
5 - 53 53

TOTAL 108 49 6 53
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 249 36 2 0 85.5 £+ 4.5 (90.0 - 81.0
1 -2 211 30 6 0 73.2 £ 5.7 (78.8 - 67.5
2 -3 175 i6 3 0 66.4 £ 6.1 (72.5 - 60.4
3 -4 156 18 7 0 568.6 + 6.4 (64.9 - 52.2
4 -5 131 8 12 [ 64.8 £+ 6.5 (61.3 - 48.3
5 - 111 111

TOTAL 249 108 30 111
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 480 66 7 0 86.1 £ 3.2 (89.3 - 83.0
1 -2 407 59 3 0 73.6 £ 4.1 (77.7 - 69.6
2 -3 345 41 4 0 64.8 + 4.4 (69.2 - 60.4
I3 -4 300 28 14 0 58.6 + 4.6 (63.2 - 54,1
4 -5 258 20 23 0 63.9 £ 4.7 (58.5 - 49.2
] 215 215

TOTAL 480 214 51 215

v (SRR R VR v
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+2SE 6% STD ERROR
0 -1 509 76 4 0 85.0 + 3.2 (88.2 - 81.8
1 -2 429 73 3 0 70.6 £+ 4.1 ( 74.6 - 66.4
2 -3 353 34 7 0 63.6 + 4.3 (67.9 - 59.3
3 -4 312 32 8 0 67.0 £+ 4.4 ( 61.5 - 52.6
4 -5 272 16 14 0 63.6 £+ 4.5 ( 58.1 - 49.1
5 - 242 242

TOTAL 509 231 36 242

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 347 70 5 0 79.7 £ 4.3 ( 84.0 - 75.3
1 -2 272 66 1 0 63.2 + 6.2 (68.5 - 58.0
y - 1 VIR an ] 0 R4 N 1 R4 CRAT - 4R.9
K] 4 11y £e b 0 4/.0 1 b. 4 C hit. o — 4u. 1
4 -5 151 19 10 0 41.3 &+ 6.4 ( 46.8 - 35.9
5 - 122 122

TOTAL 347 197 28 122
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
ORSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 hY 20 | 1 Lh.H 1 K4 U /Y - B4
1 -2 as 12 0 0 45.0 + 13.1 (68,1 - 32.0
2 -3 26 4 0 0 38.1 t 12,8 (¢ 50.9 - 25.3
3 -4 22 6 0 0 27.7 £ 11.8 ( 39.5 - 15.9
4 -5 16 4 0 0 20.8 + 10.7 (¢ 31.5 - 10.1
5 - 12 12

TOTAL 59 46 1 12
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<30

<40

<50

<60

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 14 6 0 0 67.1 + 26.5 (83.6 - 30.7
1 -2 8 2 0 0 42.9 + 26.5 (69.3 - 16.4
2 -3 6 2 0 0 28.6 + 24.1 (52,7 4.4
3 -4 4 0 0 0 28.6 + 24.1 (52,7 - 4.4
4 - 5 4 0 0 0 28.6 + 24.1 (52,7 - 4.4
5 - 4 4
TOTAL 14 10 0 4
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD" S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 73 11 2 0 84.7 £+ 8.5 (93.2 -76.2
1 -2 60 11 0 0 69.2 + 10.9 ( 80.1 - §8.3
2-3 49 8 1 [ 67.8 =+ 11.7 (69.5 - 46.0
3 -4 40 2 1 0 54.9 = 11.9 (66.7 - 43.0
4 -5 37 1 1 0 §3.3 £ 11.9 (65.2 - 41. 4
5 - 35 35
TOTAL 73 33 6 356
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 222 29 5 0 86.8 £+ 4.6 (91.4 - B82.2
1 -2 188 21 0 0 77.1 £ 5.7 (82.8 - 71.4
2 -3 167 21 0 0 67.4 £+ 6.4 (73.8 - 61.0
3 -4 146 9 1 0 63.2 £+ 6.5 (69.8 - 56.7
4 - 5 136 6 7 0 60.4 £ 6.7 (67.0 - 53.7
5 - 123 123
TOTAL 222 86 13 123
’,"f' YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 293 30 7 0 89.6 + 3.6 (93.2 - 86.1
1 -2 256 33 1 0 78.1 £+ 4.9 (82,9 - 73.2
2 -3 222 28 3 0 68.1 + 6.5 (73.7 - 62.6
3 -4 191 16 9 0 62.3 £+ 5.8 (68.1 - 56.5
4 -5 166 5 14 0 60.3 + 5.8 (66.2 - 54.5
5 - 147 147
TOTAL 293 112 34 147

[ RCRVRVR} (VR RV RV (R VEVEVEY]
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 65X STD ERROR
0 -1 346 56 12 0 83.5 + 4.0 (87.6 - 79.5
1 -2 278 40 1 0 71.6 + 4.9 ( 76.4 - 66.6
2-3 237 18 4 0 66.0 £ 6.2 (71.2 - 60.8
3 -4 215 19 5 0 60.1 £+ 6.4 (656.56 - b64.7
4 -5 191 12 19 0 66.1 £+ 5.5 (61.6 - 50.6
5 - 160 160

TOTAL 346 145 41 160

YEAR OF ALIVE AT DIED [N LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 209 39 1 0 81.3 £+ 5.4 (86,7 - 75.9
1 -2 169 28 3 0 67.7 £ 6.5 (74.2 - 61.2
2-3 138 21 0 0 67.4 £+ 6.8 (64.3 - 50.5
3 -4 117 11 1 0 62.0 £ 7.0 (69.0 - 45.0
4 -5 105 8 6 (o] 47.9 £ 7.0 ( 54.9 - 40.9
5 - g1 91

TOTAL 209 107 11 91

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 49 13 o 0 73.5 + 12.6 (86.1 - 60.9
1 -2 36 S 0 0 63.3 £ 13.8 ( 77.0 - 49.5
2-3 31 3 0 0 67.1 £ 14.1 (¢ 71.3 - 43.0
3 -4 28 4 1 0 48.8 + 14.3 ( 63.1 - 34.5
4 -5 23 2 1 0 44.5 + 14.3 ( 58.8 - 30.2
5 - 20 20

TOTAL 49 27 2 20
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 345 84 4 0 75.5 + 4.6 (80.2 - 70.9
1 -2 257 41 3 0 63.4 £+ 5.2 (68.6 - 58.2
2-3 213 27 4 0 55.3 £+ 5.4 (60.7 - 49.9
3 -4 182 21 6 0 48.8 £+ 5.5 (54.3 - 43.3
4 -5 155 10 14 0 45.5 + 6.5 ( 51.0 - 40.0
5 - 131 131

TOTAL 345 183 31 131

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 63 9 1 0 85.6 + 8.9 (984.5 - 76.7
1 -2 53 S 2 0 77.4 £ 10.7 (88.0 - 66.7
2 -3 46 4 0 0 70.6 £ 11.7 (82.3 - 59.0
3 -4 42 3 0 0 65.6 £ 12.2 ( 77.8 - 53.4
4 - 5 39 2 2 0 62.1 £ 12.5 ( 74.6 - 49.7
5 - 35 35

TOTAL 63 23 5 35

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 3 0 [¢] 0 100.0 £ 0.0 (100.0 -100.0
1 -2 3 1 0 0 66.7 + 54.4 (121.1 - 12.2
2 -3 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
3 -4 2 0 0 0 66.7 £ 54.4 (121.1 - 12.2
4 -5 2 0 [} 0 66.7 £ 54.4 (121.1 - 12,2
5 - 2 2

TOTAL 3 1 0 2

YEAR OF ALIVE AT DIED [IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 28 1 1 0 96.4 £ 7.1 (103.5 - 89.2
1 -2 26 3 0 0 85.2 = 13.6 (98.9 - 71.6
2-3 23 4 0 0 70.4 t 17.6 (88.0 - 52.9
3 -4 19 0 1 0 70.4 £ 17.6 ( 88.0 - 52.8
4 - 5 18 1 4 0 66.0 + 18.5 ( 84.6 - 47.5
5 - 13 13

TOTAL 28 9 6 13

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 56 12 1 o 78.4 £ 11.1 (89.4 - 67.3
1 -2 43 4 2 0 70.9 + 12.3 ( 83.2 - 58,7
2 -3 37 3 0 0 65.2 £ 12,9 (78.1 - 52,2
3 -4 34 1 0 0 63.2 £ 13.1 (C76.4 - 50.1
4 -5 33 1 3 o 61.2 = 13.3 ( 74.5 - 47.9
5 - 29 29

TOTAL 56 21 6 23

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GRELNWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0o -1 371 61 8 0 83.4 £t 3.9 (87.3 - 79.5
1 -2 302 29 4 0 75.3 + 4.5 (739.8 - 70.8
2 -3 269 20 3 0 69.7 £+ 4.8 ( 74.5 - 64.9
3 -4 246 21 9 0 63.6 + 5.1 (68.7 - 58.5
4 -5 216 11 7 0 60.3 £ 5.2 (¢ 65.5 - 55.1
5 - 198 198

TOTAL 371 142 31 198
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 98 16 2 0 83.5 £+ 7.5 (91.0 - 76.0
1 2 80 S 1 0 74.1 + 8.9 (83.0 - 65,1
2 3 70 8 1 0 65.5 £+ 8.7 ( 75.3 - 55.8
3 -4 61 3 0 0 62.3 £+ 8.9 (72,2 - 52.4
4 - 5 58 1 2 0 61.2 + 10.0 (¢ 71.2 - 51.2
5 - 56 55

TOTAL 98 37 6 55

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0-1 135 a3 4 0 75.2 £+ 7.5 (82.7 - 67.7
1 -2 98 13 1 0 65.2 + 8.3 (73.5 - 56.9
2 -3 84 14 1 0 54.2 = 8.7 (63.0 - 45.5
3 -4 69 S 0 0 §0.3 + 8.8 (59.1 - 41.5
4 -5 64 6 8 0 45.3 £ 8.8 (54.1 - 36.5
5 - 50 50

TOTAL 135 71 14 50

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 28E 5% STD ERROR
0 -1 97 20 3 0 7.1 £ 8.3 (87.4 - 70.7
1 2 74 6 0 0 72.6 £+ 9.2 (8l.8 - 63.5
2 -3 68 6 1 0 66.2 £+ 9.7 ( 75.9 - 56.5
3 -4 61 6 2 0 69.6 + 10.2 (69.7 - 49.4
4 -5 63 2 B 0 67.3 t 10.3 (¢ 6&7.6 - 47.0
6 - 4H a4

TOLAL N au k] 4H

YEAR  OF ALIVE AT Ditb  IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 215 49 2 0 77.1 £ 5.7 (82.8 - T71.4
1 -2 164 34 1 0 61.1 £+ 6.7 (67.8 - 54.4
2 -3 129 17 5 0 52.9 + 6.9 (59.7 - 46.0
3 -4 107 7 10 0 49.2 £ 6.9 (56.2 - 42.3
4 -5 90 5 8 0 46.4 £+ 7.0 ( 53.4 - 3S.4
S - 77 77

TOTAL 215 112 26 77
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 860 173 12 0 79.7 £+ 2.8 (82.5 - 177.0
1 -2 675 102 12 0 67.6 £+ 3.2 (70.8 - 64.4
2 -3 561 60 16 0 60.3 £+ 3.4 (63.6 - 56.9
3 -4 485 35 10 0 55.9 £+ 3.4 (59.8 - 52.4
4 - 8§ 440 23 34 0 52,8 £ 3.5 (56.3 - 49.3
5 - 383 383

TOTAL 860 393 84 383

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 43 7 2 0 83.3 £ 11.56 (94.8 - 71.8
1 -2 34 3 0 0 76.0 £ 13.3 (¢ 89.2 - 62.7
2 -3 31 3 0 0 68.6 + 14.4 (83.1 - 54.2
3 -4 28 1 0 0 66.2 t 14.7 ( 80.9 - 51.4
4 -5 27 0 3 0 66.2 + 14.7 (80.9 - 51.4
5 - 24 24

TOTAL 43 14 5 24

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 2 1 0 0 50.0 £ 70.7 (120.7 --20.7
1 -2 1 0 0 0 §0.0 + 70.7 (120.7 --20.7
2 -3 1 0 0 0 50.0 = 70.7 (120.7 ~--20.7
3 -4 1 0 0 0 50.0 £ 70.7 (120.7 --20.7
4 - 5 1 0 0 0 6§0.0 = 70.7 (120.7 --20.7
5 - 1 1

TOTAL 2 1 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 0 o] 0 100.0 £ 0.0 (100.0 -100.0
2 -3 2 0 0 0 100.0 = 0.0 (100.0 -100.0
3 -4 2 0 0 o] 100.0 £ 0.0 <(100.0 -100.0
4 -5 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 ~ 2 2

TOTAL 2 0 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTEKVAL. FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 7 2 0 0 71.4 £ 384.1 (105.6 - 37.3
1 -2 S 0 0 0 71.4 £ 34.1 (105.6 - 37.3
2 -3 S 0 0 0 71.4 £ 34.1 (105.6 - 37.3
3 -4 5 o} 0 0 71.4 £ 34.1 (105.6 - 37.3
4 -5 5 0 0 0 71.4 £ 34.1 (105.6 - 37.3
5 - S 5

TOTAL 7 2 0 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWQOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 76 13 3 0 82.6 £+ 8.8 (91.3 - 73.8
1 2 60 9 0 0 70.2 £ 10.7 ( 80.8 - 59.5
2 -3 51 S 0 0 63.3 £ 11.3 ( 74.5 - 52,0
3 4 46 6 1 0 54.9 = 11.7 ( 66.6 - 43.3
4 - 5 39 0 1 0 54.9 + 11.7 ( 66.6 - 43.3
5 - 38 a8

TOTAL 76 33 S 38
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@F'ﬂﬂ YEAR OF ALIVE AT DIED

IN LOST TO WITHDRAWN

CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 23 2 4] 0 91.3 = 11.8 (103.1 - 79.6
1 -2 21 4 0 0 73.9 £ 18.3 (92.2 - 55.6
2 -3 17 0 0 0 73.9 + 18.3 ( 92.2 - 55.6
3 -4 17 3 1 0 60.5 + 20.5 (81.0 - 39.9
4 -5 13 0 0 0 60.5 £ 20.5 (81.0 - 39.9
5 - 13 13
TOTAL 23 9 1 13
-ﬁ-__. E’Z% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 5% STD ERROR
0 -1 77 15 1 0 80.4 £ 9.1 (89.5 - 71,3
1 -2 61 7 2 0 71.0 £ 10.4 (8l1.4 - 60.6
2 -3 52 2 1 0 68.3 £ 10.7 ( 79.0 - 57.5
3 -4 49 1 2 [} 66.8 + 10.9 ( 77.7 - 56.0
4 -5 46 0 1 0 66.8 + 10.9 ( 77.7 - 56.0
5 - 45 45
TOTAL 77 25 7 45
“g}gm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 10 0 ] [}] 100.0 ¢ 0.0 aoo.o -100.0
V-2 o P 1 i} TH Ut 2606 C(10H. 4 - L2 &
B R 1 1] 1] 0 8.9 L 26.h (UL 4 - L2, 5
-4 7 0 0 0 78.9 t 26.5 (105.4 - 52.5
4 -5 7 0 0 o] 78.9 + 26.5 (105.4 - 52.5
5 - 7 7
TOTAL 10 2 1 7
Z‘(HH YEAR OF ALIVE AT DIED IN LOST TO *WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 176 33 1 0 81.2 + 5.9 (87.1 - 75.3
1 -2 142 25 0 0 66.9 £ 7.1 (74.0 - 59.8
2 -3 117 12 1 0 60.0 £ 7.4 ( 67.4 - 52.6
3 -4 104 8 2 0 55,3 £ 7.5 ( 62.9 - 47.8
4 5 94 4 6 0 52.9 + 7.6 ( 60.5 - 45.3
5 84 84
TOTAL 176 82 10 84

(SRR (TR RVEVRY v vv e
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2—3.

X

IKPEZE

I%

{55 i

B

BEREEE (BB, 5. 206

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 365 85 8 0 76.5 £+ 4.5 (80.9 - 72.0
1 -2 272 59 2 0 5§9.8 + 5.2 (65.0 - 54.6
2-3 211 27 5 [ §2.1 £+ 5.3 (57.4 - 46.8
3 -4 179 28 8 0 43.7 £ 5.3 (49.0 - 38.4
4 -5 143 11 6 0 40,3 + 5.3 (45.6 - 35.0
5 - 126 126

TOTAL 365 210 23 126

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD" S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 119 26 1 0 78.1 £ 7.6 (857 - 70.5
1 -2 92 16 2 0 64.3 + 8.8 (73.2 - 55.5
2 -3 74 10 1 0 556.6 £ 9.2 ( 64.8 - 46.4
3 -4 63 7 0 0 49.4 £ 9.3 (58.7 - 40.1
4 -5 56 3 4 0 46.7 + 9.3 (56.0 - 37.4
5 - 49 49

TOTAL 119 62 8 49

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 4 2 0 0 50.0 £ 50.0 (100.0 - 0.0
1 -2 2 1] ] 0 50.0 £ 50.0 <100.0 - 0.0
2 3 2 1 0 0 25.0 £ 43.3 ( 68.3 --18.3
3 -4 1 1 o] 0 0.0t 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 50.0 + 70.7 (120.7 --20.7
5 - 0 0

TOTAL 4 4 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 49 11 0 0 77.6 £ 11.8 ( 89.5 - 65.6
1 -2 38 6 1 0 65.1 + 13.7 (78.8 - 61.5
2 -3 31 3 0 0 58.8 £ 14,1 (€ 73.0 - 44.7
3 -4 28 4 1 0 50.3 £ 14.4 (64.7 - 35.8
4 - 5 23 3 3 0 43.3 £ 14.5 (57.8 - 28.7
5 - 17 17

TOTAL 49 27 5 17

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 77 7 [¢] 0 90.9 £ 6.6 (97.5 - 84.4
1 -2 70 10 0 0 77.9 £ 9.5 (87.4 - 68.5
2 -3 60 6 0 0 70.1 = 10.4 ( 80.6 - 59.7
3 -4 54 4 2 0 64.8 £ 10.9 (¢ 75.7 - 53.9
4 -5 48 4 3 0 6§9.3 £ 11.3 ( 70.6 - 48.0
S - 41 41

TOTAL 7 31 5 41

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GRELENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 439 63 5 0 85.6 £ 3.4 ( 88.9 - 82.2
1 -2 371 49 4 0 74.2 £ 4.2 (78.4 - 70.0
2 -3 318 40 3 0 64.8 + 4.6 (69.4 - 60.2
3 -4 275 29 8 0 57.9 £+ 4.8 (62.7 - 53.1
4 -5 238 19 18 0 53.1 + 4.9 (57.9 - 48.2
5 - 201 201

TOTAL 439 200 38 201

(PR R RN (TR RN (VX (R RV RVEV] (R RV VEYS
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==AL) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR

0 1 103 15 0 0 85.4 + 7.0 (92.4 - 78.5
1 2 88 16 0 0 63.9 £+ 9.0 (78.8 - 60.9
2 -3 72 4 0 0 66.0 £+ 9.3 (75.4 - 56.7
3 -4 68 4 1 0 62.1 £ 9.6 (C(71.7 - 52,5
4 - 5 63 4 S 0 58.0 £ 9.8 ( 67.8 - 48.2
5 - 54 54

TOTAL 103 43 6 54

-*7-_‘ [ X%YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR

0 -1 178 16 4 0 90.9 £ 4.3 ¢ 95.2 - B6.6
1 -2 158 30 1 0 73.6 + 6.7 ¢ 80.3 - 66.9
2 -3 127 13 5 0 65.9 + 7.2 (¢ 73.1 - 58.7
3 -4 109 12 3 0 58.6 + 7.6 ¢ 66.1 - 51,0
4 -5 94 6 6 0 54.7 + 1.7 € 62.4 - 47.0
5 - 82 82

TOTAL 178 77 19 82

SRR YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  §% STD ERROR
0 -1 107 16 1 0 85.0 + 6.9 ( 91.9 - 78.1
1 -2 80 8 ° 0 77.4 £ 8.1 ( 85.5 - 69.3
2 -3 82 9 1 0 68.9 + 9.0 ( 77.9 - 59.9
3 -4 72 4 2 0 65.0 + 9.3 ( 74.3 - 55.7
4 -5 66 6 3 0 58.9 t 9.6 ( 68.6 - 49.3
5 - 57 57

IOTAL 107 43 7 57

ABH YiEAR  OF ALLIVE AT DIED IN 1OST TO WITHDRAWN CUMULATIVE GREENWOOD® §

UBLERYAL BEGINNING  INTEKVAL  FOLLW U IN O ALIVE UV, H L 2Dl % LI LKKOK
0-1 328 46 2 0 85.9 + 3.8 ( 89.8 - 82.1
1 -2 280 51 3 0 70.2 £ 5.1 ( 75.3 - 65.1
2-3 226 28 5 0 61.4 £ 5.4 ( 66.8 - 56.0
3-4 193 19 13 0 55.1 + 5.6 ( 60.7 - 49.6
4-5 161 14 14 0 50.1 £+ 5.7 ( 55.8 - 44.5
5 - 133 133

TOTAL 328 158 37 1339

~V v (SRR VRV ~
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I
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BEREFE (BB, =. £06)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 789 123 18 0 84.2 £+ 2.6 (86.8 - 8l1.6
1 -2 648 97 4 0 71.6 £+ 3.2 (74.8 - 68.3
2 -3 547 68 8 0 62.67+ 3.5 (66.1 - 59.1
3 -4 471 39 11 [ 57.4 £+ 3.6 (61.0 - 53.8
4 - 5 421 27 29 0 53.6 £+ 3.6 (57.2 - 49.9
5 - 365 365
TOTAL 789 354 70 365
YEAR OF ALIVE AT DIED |IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 56 E) 1 0 91.0 £ 7.7 (988.7 - 83.3
1 -2 50 10 o] 0 72.8 + 12.0 (84.8 - 60.8
2 -3 40 8 0 0 §8.2 = 13.3 ( 71.5 - 44.9
3 -4 32 1 0 0 66.4 t 13.4 ( 69.8 - 43.0
4 -5 a1 1 i 0 54.6 + 13.4 (68.0 - 41.1
5 - 29 29
TOTAL 56 25 2 23
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
-1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 <(100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 - 5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
YEAR OF ALIVE AT DIKED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 1 0 ] 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 58.8 = 14.1 ( 73.0 - 44.7
3 -4 0 0 0 0 50.3 + 14.4 (64.7 - 35.8
4 -5 0 0 0 0 43.3 + 14.5 (57.8 - 28.7
5 - 0 0
TOTAL 1 1 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 |9 1 ] 0 90.9 £ 17.3 (108.2 - 73.6
1 -2 10 2 0 0 72.7 £ 26.9 ( 99.6 - 45,9
2 -3 8 0 0 0 72.7 £+ 26.9 ( 99.6 - 45.9
3 -4 8 0 0 0 72.7 + 26.9 (99.6 - 45.9
4 - 5 8 0 1 0 72.7 £ 26.9 (99.6 - 45.9
5 - 7 7
TOTAL 11 3 1 7
YEAR OF ALIVE AT DIED [IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 97 12 3 0 87.4 £ 6.8 (94.2 - 80.7
1 -2 82 8 0 0 78.9 + 8.4 (87.3 - 70.5
2 -3 74 5 0 0 73.6 £ 9.1 (82,6 - 64.5
3 -4 69 5 2 0 68.2 £+ 9.6 (77.8 - 58.6
4 -5 62 0 3 0 68.2 + 9.6 (77.8 - 58,6
5 - 59 59
TOTAL 97 30 8 59

[ RVEVEVEV] (TR RV R [(VRVRVEVEV] (SRR (R
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BP9 IR YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 24 4 0 0 83.3 £ 15.2 ( 98.5 - 68.1
1 -2 20 2 0 0 75.0 £ 17.7 (92.7 - 57.3
2 -3 18 a o 0 62.5 + 19.8 ( 82.3 - 42.7
3 -4 15 1 3 0 57.9 £ 20.4 ( 78.2 - 37.5
4-5 11 1 0 0 52.6 + 21.0 ( 73.7 - 31.6
5 - 10 10
TOTAL 24 11 a 10

4 — | A Z YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 68 10 3 0 85.0 £+ 8.8 (93.7 - 76.2
1 -2 55 4 1 0 78.7 + 10.1 ( 88.8 - 68.6
2 -3 50 2 0 0 75.6 £ 10.6 ( 86.2 - 64.9
3 -4 48 4 1 0 69.2 + 11.5 (¢ 80.7 - 5§7.7
4 -5 43 0 6 0 69.2 + 11.5 ( 80.7 - 57.7
5 - a7 37
TOTAL 68 20 11 a7

pEg i)y YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 11 0 0 0 100.0 £ 0.0 (€100.0 -100.0
1 - 1 1 0 0 90.9 t 17.3 (i108.2 - 73.6
o K] 1o [}l ( 0 (118 T S i O O M TN 2y A P
-4 10 1 0 0 81.8 £ 23.3 (1051 - 58. 86
4-5 9 1 1 0 72.2 + 27.4 (99.5 - 44.8
5 - 7 7
TOTAL 11 3 1 7

N YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 148 29 2 0 80.3 £ 6,6 ( 86.8 - 73.7
1 -2 117 15 0 0 70,0 £ 7.6 ( 77.6 - 62.4
2 -3 102 15 0 0 59.7 £ 8.1 (67.8 - 51.6
3 -4 87 10 1 0 52.8 £ 8.3 (61.1 - 44.5
4 -5 76 4 7 0 49.9 £ 8.3 (58.2 - 41.6
5 - 65 65
TOTAL 148 73 10 65

(R RV RS (VX RVEVEV] R VA
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3—1. REBORELEFE (KBEXEEL L. &5 - IRE)

%0){-[1_‘!0))@ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
s OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
DREREL L
0o-1 1,494 309 26 0 79.1 £ 2.1 (81.2 - 77.0
1 -2 1,169 166 16 0 67.7 £ 2.4 ¢ 70.2 - 65.3
2 3 977 114 14 0 59.8 £t 2.6 ( 62.3 - 67.2
3 -4 849 60 32 0 66.6 £+ 2.6 ( 58.1 - 52.8
4 - 5 1817 40 55 0 52.4 £+ 2.6 (55.1 - 49.8
5 - 662 662
TOTAL 1,494 689 143 662
%U)ﬂ'l_l‘d)ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
— OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 65X STD ERROR
DEBERED VY
0 -1 638 126 10 0 80.1 £+ 3.2 ( 83.3 - 76.9
1 -2 502 63 8 0 70.0 £+ 3.7 ( 73.6 - 66.3
2 -3 431 33 10 0 64.5 £+ 3.8 ( 68.4 - 60.7
3 -4 388 30 8 0 §9.5 + 3.9 ( 63.4 - 55.6
4 - 5 350 9 25 0 67.9 + 4.0 ( 61.9 - 53.9
5 - 316 316
TOTAL 638 261 61 316
%@fmo)ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
— OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 8% STD ERROR
DFEEREAH
0o-1 20 3 1 0 84.6 t 16.3 (101.0 - 68.3
1 -2 16 1 0 0 79.3 + 18.4 ( 97.8 - 60.9
2 -3 15 1 o] ] 74.0 £ 20.0 ( 94.0 - 54.0
3-4 14 2 0 0 63.6 £ 22.0 ( 85.6 - 41.4
4 - 5 12 0 1 0 63.6 £ 22.0 (85.6 - 41. 4
5 - 11 11
TOTAL 20 1 2 11

3—2. REBOBREARFER (KBEREESHY. 15 - IRE)

%@fﬂ‘]‘@ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
—_ OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
DEERET L
0 -1 87 10 3 0 88.3 £+ 7.0 ( 95.3 — 81. 4
1 -2 74 9 4] 0 77.6 £+ 9.1 ( 86.6 - 68.5
2 -3 65 6 3 0 70.2 £+ 10.0 ¢ 80.2 - 60.2
3 -4 1 5 0 0 64.0 £ 10.6 ( 74.5 - 53. 4
4 - 5 51 ) 2 0 57.6 £ 10.9 ( 68.5 - 46.6
5 - 44 44
TOTAL 87 35 8 44
% 0){-@0)@ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
O)""'ﬁ%ﬁ& V) OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE %X STD ERROR
x
0-1 57 7 1 0 87.6 + 8.8 ( 96.4 - 78.8
1 -2 49 8 0 0 73.3 £ 11.8 ¢ 85.1 - 61.5
2 -3 41 2 0 0 69.7 £ 12.3 ( 82.0 - 57.5
3-4 39 5 0 0 60.8 + 13.0 ( 73.8 - 47.7
4 - 5 34 1 1 0 69.0 £ 13.1 ¢ 72.1 - 45.8
5 - 32 32
TOTAL 57 23 2 32
%@fﬂ]@ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
e OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
1)) KA = ===
%FEET H 0 -1 8 2 0 0 75.0 = 30.6 (105.6 - 44.4
1 -2 6 1 0 0 62.5 + 34.2 ( 96.7 - 28.3
2 -3 5 0 0 0 62.5 + 34.2 ( 96.7 - 28.3
3 -4 5 0 0 0 62.5 £ 34.2 ( 96.7 - 28.3
4 - 5 5 0 1 0 62.5 = 34.2 ( 96.7 - 28.3
5 - 4 4
TOTAL 8 3 1 4

(SRR VRVEY]
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3—3. REEOHELEEFER (KBEREERH. KI5 - RE)

ZOfthD%

OREREZ L

Z Dfth DA

ORERED D

Z Dfth D

D F BREAR

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0-1 8 2 0 0 76.0 + 30.6 (106.6 - 44.4
1 -2 6 1 0 0 62.5 + 34.2 (¢ 96.7 - 28.3
2 -3 5 0 0 0 62.5 + 34.2 ¢ 96.7 - 28.3
13-4 5 0 0 0 62.56 + 34.2 ¢ 96.7 - 28.3
4-5 6 0 c 0 62.5 + 34.2 (€ 96.7 - 28.3
5 - 5 5

TOTAL 8 3 0 5

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 50 4 0 ()} 82.0 £ 7.7 (¢ 99.7 - 84.3
1 -2 46 13 0 0 66.0 + 13.4 ( 79.4 - 62.6
2-3 33 7 2 0 §1.6 + 14.2 ( 66.8 - 37.3
3 -4 24 3 0 0 46.1 + 14.3 ( 59.4 - 30.8
4-5 21 0 1 0 46.1 + 14.3 ( 69.4 - 30.8
5 - 20 20

TOTAL 50 27 3 20
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R£2SE 6% STD ERROR
0-1 325 68 4 0 78.9 + 4.5 (83.5 - 74.4
1 -2 253 35 5 0 67.9 £ 5.2 (73.1 - 62.7
2 -3 213 22 4 0 60.8 + 5.5 ( 66.3 - 55.4
a-4 187 16 4 0 65.6 + 5.6 ( 61.2 - 50.0
4-5 167 11 10 0 §1.8 + 5.7 C57.5 - 46.1
5 146 146

TOTAL 326 162 27 146

[VRVRVEVEV] (VR EVEVEV)
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3—4. REEORREEFE (KBEREEL L. BHE - 88

%O)ﬁi]‘@fé YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

DOEERES L
0 -1 1,702 277 24 0 83.6 * 1.8 ( 85.4 - B81.8
1 -2 1,401 212 8 0 70.9 + 2.2 ¢ 73.1 - 68.7
2 -3 1,181 139 23 0 62.5 + 2.4 ( 64.9 - 60.1
3 -4 1,019 97 34 0 56.4 + 2.4 ( 68.9 - 54.0
4 - 5 888 61 70 0 52.4 + 2.5 ( 54.9 - 49.9
5 - 757 157
TOTAL 1,702 786 159 757

%0){{{_1,0){% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
e OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:t2SE 5% STD ERROR
DRERED O

0 -1 663 99 6 0 85.0 + 2.8 (87.8 - 82.2
1 2 568 95 4 0 70.6 £ 3.6 ( 74.0 - 66.9
2 -3 459 41 4 0 64.2 £ 3.7 (67.9 - 60.4
3 -4 414 36 12 0 58.5 + 3.9 (62.4 - 54.6
4 - 5 366 23 23 0 54.7 £+ 3.9 (58.6 - 50.8
5 - 320 320

TOTAL 663 294 49 320

%o)ﬂﬂ@ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

e Nl
@%EET H 0 1 19 2 2 0 88.9 + 14.8 (103.7 - 74.1
1 -2 15 3 0 0 71.1 £ 21.9 (€ 93.0 - 49.3
2 -3 12 3 0 0 63.3 + 24.2 (77.5 - 29.2
3 -4 9 1 0 0 47.4 £ 24.2 ( 71.6 - 23,2
4 -5 8 0 0 0 47.4 * 24.2 ( 71.6 - 23.2
5 - 8 8

TOTAL 19 2 8

3—5. KEMORELEHFR (KEEREEHY. B - IRE)

%@fm@@ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

=4 -
DRIERE L

0 1 86 16 3 0 8l.1 =+ 8.6 (89.6 - 72. 6

1 -2 67 8 1 0 71.3 9.9 (81.2 - 61.4

2 -3 58 4 0 0 66.4 + 10.4 ( 76.8 - 56.0

3 -4 54 3 1] 0 62.7 + 10.6 ¢ 73.3 - 62.1

g-s 2515 2 4 0 60.1 + 10.8 C 70.9 - 49.4
- 45

TOTAL 86 33 8 45

%@{ﬂ]@% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR

=
DEERED Y

0-1 43 6 0 0 86.0  10.6 ( 96.6 - 75.5

1 -2 37 6 0 0 72.1 + 13.7 ( 85.8 - 58.4

2 -3 a1 8 0 0 53.56 + 15.2 ( 68.7 - 38.3

3 -4 23 3 1 1] 46.4 £ 15.3 ¢ 61.6 - 31.1

;-5 19 0 1 0 46.4 £+ 15.3 ( 61.6 - 31.1
- 18 18

TOTAL 43 23 2 18

%O)ﬁﬂ@ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

DE N

%#ﬁﬁz‘ H 0 1 10 0 1 0 100.0 £ 0.0 (100.0 -100.0
1 2 9 1 0 0 88.9 = 21.0 (109.8 - 67.9
2 -3 8 2 1 0 65.2 £ 32.6 (97.7 - 32.6
3 -4 5 1 0 0 62.1 = 36.0 (87.1 - 17.2
4 -5 4 0 0 0 62.1 £ 35.0 (87.1 - 17.2
5 - 4 4
TOTAL 10 4 2 4

[PV RV (PR R RV (R VY]
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3—6. KIEREOAEEEHFR (KEEREERH. B - RiE)

%O){ﬂg@;ﬁ% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
"L'#je@f b OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 65X STD ERROR
D A3
ZK 0-1 17 2 1 0 87.9 = 16.1 (103.9 - 71.8
1 -2 14 2 o] 0 756.3 = 21. 4 ( 96.8 - 63.8
2 -3 12 3 0 0 66.56 + 24.8 (81.3 - 31.7
3 -4 9 0 2 0 56.5 + 24.8 ¢ 81.3 - 31,7
4 - b 7 1 1 0 47.8 + 26.4 C 74.2 - 21. 4
5 - 5 [
TOTAL 17 8 4 5
%@fﬁ{@’? YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
P .L‘E" OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
DORIERED Y
0-1 55 9 3 ] 83.2 = 10.2 ¢ 93. 4 72.9
1 -2 43 2] 0 1] 65.8 + 13.1 ( 78.9 - 52.7
2 -3 34 4 0 0 58.0 £ 13.7 7.7 44. 4
3 -4 30 5 1 0 48.2 = 13.9 ( 62.1 - 34.3
4 - 5 24 1 1 0 46.1 = 13.9 ¢ 60.0 - 32.2
5 - 22 22
TOTAL 55 28 5 22
%O)ﬂﬂ@F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
(s OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
=
OD%EﬁEZ:HH 0-1 380 60 8 0 8B4.0 =+ 3.8 ( 87.8 - 80.3
1 -2 312 49 5 v] 70.7 £+ 4.7 (C 756.6 - 66.0
2 3 258 38 0 0 60.3 £ 6.1 ( 66.4 - B6.2
3 -4 220 27 6 0 52.8 £+ 5.2 ( 58.0 - 47. 6
4 - 5 187 16 10 0 48.2 £ 5.2 ( 53.4 - 42.9
S - 161 161
TOTAL 380 190 29 161

~ (PR RO RV

(PR RVEVEW



4—1. ERFERE (ERE L. &85 - RE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 57 10 2 0 82.1 + 10.2 (92.4 - 71.9
1 -2 45 7 1 0 69.2 + 12.4 ( 81.7 - 56.8
2 3 37 4 0 0 61.7 £ 13.2 ( 74.9 - 48.6
3 4 33 4 1 0 54.1 £ 13.6 ( 67.7 - 40.6
4 -5 28 0 2 0 54.1 * 13.6 ( 67.7 - 40.6
5 - 26 2
TOTAL 57 25 6 26

[VRVRV R

4 — 2. FERBIEFECEOIBM. 1 LT R [5E.JEH. &5 BRE)

R4 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  6X STD ERROR
0 -1 1,339 257 20 0 80.7 £ 2.2 (82.8 - 78.5
1 -2 1,062 -
2 -3 879 187 1§ 8 B8:9 ¢ 2.6 ¢20:% 68§
3-1 748 65 17 0 54.1+ 2.8 (56.9 - 61.4
4 -5 667 36 50 0 §1.1 + 2.8 ( 53.9 - 48.3
5 - 581 581
TOTAL 1,339 634 124 561
WaREt)Re 5 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
OMYIPRYY 0BSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 933 68 16 0 92.6 £ 1.7 ( 94.4 - 90.8
| -2 849 73 14 0 84.6 + 2.4 ( 87.0 - 82,2
2 -3 762 67 18 0 771 £ 2.8 (79.9 - 74,3
3-4 677 42 13 0 723t 3.0 (752 - 69.3
1-5 622 31 50 0 68.5 + 3.1 ¢ 71.6 - 65, 4
5 - 541 541
TOTAL 933 281 111 541
24 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  5X STD ERROR
0-1 1,450 320 22 0 77.8 * 2.2 (€ 80.0 - 75.6
1 -2 1. 108 179 18 0 65.1 + 2.5 ( 67.6 - 62.6
2-3 911 111 21 0 S7.1 £+ 2.6 (59.7 - 54.4
3 -1 779 68 18 0 52.0 + 2.7 ( 54.7 - 49.4
4 -5 693 as 52 0 49.1 + 2.7 (51.8 - 46. 4
5 - 603 603
TOTAL 1,450 716 131 603

(RO V R V]

~ v



4 —3. ERFIEFER (ENERE. &5 - RE)

YIERH YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 247 62 3 0 74.7 £ 5.5 ( 80.3 - 69.2
1 -2 182 30 1 0 62.4 + 6.2 ( 68.6 - 56.2
2 -3 151 14 4 0 56.5 + 6.4 (62,9 - 50.2
3 -4 133 13 4 0 50.9 + 6.4 (57.4 - 44.5
4-5 1186 8 8 0 47.3 + 6.5 ( 53.8 - 40.8
5 - 100 100
TOTAL 247 127 20 100
?A’gtl]%@ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
o "D OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 150 12 3 0 91.9 + 4.5 (96.4 - 87.4
1 -2 135 12 1 0 83.7 + 6.1 (89.8 - 77.6
2 -3 122 6 4 0 79.5 + 6.7 (86.2 - 72.89
a-a 112 8 3 0 73.8 + 7.3 (81,1 - 66.4
4-5 101 6 8 0 69.2 + 7.8 (77.0 - 61.4
5 - 87 87
TOTAL 150 44 19 87
20 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 65X STD ERROR
0-1 261 72 3 0 72.3 + 5.6 (77.8 - 66.7
1 -2 186 33 1 0 59.4 + 6.1 (655 - 53.3
2 -3 152 14 4 0 53.9 + 6.2 C(60.1 - 47.6
3 -4 134 13 4 0 48.6 + 6.3 ( 54.8 - 42.3
4-5 117 8 8 0 45.1 + 6.3 ( 51.4 - 38.8
5 - 101 101
TOTAL 261 140 20 101
—_ . z N= VRS + i -=)
4— 4, FERRIEEFR (KERYD. BB - I5E
)3 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 208 53 1 0 74.5 £ 6.1 (€ 80.5 - 68.4
1 -2 154 23 2 0 63.3+ 6.7 ( 70.0 - 66.6
2 -3 129 12 3 0 57.3 + 6.9 (¢ 64.2 - 50.4
3 -4 114 8 7 0 53.2 + 7.0 ( 60.2 - 46.2
4 -5 99 2 7 0 52.0 + 7.0 ( 59.1 - 45.0
5 - 90 90
TOTAL 208 98 20 90
N2 (tﬂﬁ?wj YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
RS YIVRPY 0BSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 56X STD ERROR
0-1 125 5 1 0 96.0 + 3.5 ( 99.5 ~ 92.5
1 -2 119 7 1 0 90.3 + 5.3 ( 95.6 - 85.0
2 -3 111 4 3 0 87.0 £+ 6.1 (93.1 - 81.0
3 -4 104 6 6 0 81.8 + 7.0 ( 88.9 - 74.8
4-5 92 2 6 0 80.0 + 7.3 (87.3 - 72.7
5 - 84 84
TOTAL 125 24 17 84
25 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 5% STD ERROR
0-1 223 62 1 0 72.1 + 6.0 C78.1 - 66.1
1 -2 160 26 2 0 60.3 + 6.6 ( 66.9 - 53.8
2 -3 132 12 3 0 4.8 + 6.7 ( 61.5 - 48.1
3 -4 117 9 8 0 50.4 + 6.8 ( 57.2 - 43.7
4 -5 100 2 7 0 43.4 + 6.8 ( 56.2 - 42.6
5 - 91 91
TOTAL 223 111 21 91

(S RVEVEVE [VEVEVEVEY)
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4 —5. IERRIEFE (AM.

kR

IR YIERA

26

Wbk .

i)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rx 2SE 5% STD ERROR
0 -1 193 27 4 0 86.9 £+ 6.0 (90.8 - 80.8
1 -2 162 16 5 0 77.3 £ 6.1 (83.4 - 71.1
2-3 141 10 4 0 71.7 £+ 6.6 ( 78.3 - 65.1
3 -4 127 5 6 0 68.8 £ 6.8 (75.6 - 62.0
4 -5 116 4 10 0 66.3 + 7.0 (¢ 73.3 - 59.3
5 - 102 102

TOTAL 193 62 239 102

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 145 10 3 0 93.0 £+ 4.3 (97.3 - 88.8
1 -2 132 8 3 0 87.3 £+ 5.6 (92.9 - 81.7
2 -3 121 5 3 0 83.7 + 6.2 (89.9 - 77.4
3 -4 113 3 5 0 8l1.4 £+ 6.6 (88.0 - 74.8
4 S 105 2 10 0 79.8 + 6.9 (86.6 - 72.89
5 - 93 93

TOTAL 145 28 24 93

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 206 33 4 0 83.8 + 5.2 (89.0 - 78.7
1 -2 169 17 5 0 75.3 £ 6.1 (81.3 - 69.2
2 -3 147 10 4 0 70.1 £+ 6.6 ( 76.6 - 63.6
3 -4 133 5 8 0 67.4 £ 6.7 (C74.0 - 60.7
4 - 5 120 5 10 0 64.4 + 6.9 (71.3 - 57.6
5 - 105 105

TOTAL 206 70 31 105

[SRRVRVEV) (PR R
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4—6. EERAIEFE (EXE L. B - IRE)

YEAR OF ALIVE AT DIED |IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 44 4 1 0 90.8 = 8.8 (99.6 - 82.0
1 -2 39 4 3 0 81.1 = 12.0 (93.2 - 69.1
2-3 32 2 1 0 76.0 * 13.3 (89.3 - 62.7
3 -4 29 1 2 0 73.3 + 13.9 (87.1 - 59.4
4 - 5 26 1 4 0 70.2 * 14.6 ( 84.8 - 55.6
5 - 21 21

TOTAL 44 12 11 21

[VRORVEVRY)

4 —7. ERAEFR(ELOEBL. 1 LY X SR EE. B iRE)

kRN

i YIERE

24

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 390 71 4 0 81.7 £+ 3.9 (856 - 77.8
1 -2 315 51 2 0 68.4 £ 4.7 (73.2 - 63.7
2 3 262 36 4 0 59.0 £+ 5.0 (64.0 - 53.9
3 -4 222 25 8 0 62.2 £ 5.1 (57.3 - 47.1
4 S 189 10 10 0 49.4 £ 5.1 (54.5 - 44.2
5 - 169 169

TOTAL 390 183 28 169

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 272 20 3 [} 82.6 £+ 3.2 (95.8 - 89.4
1 -2 249 26 2 0 82.9 + 4.6 (87.5 - 78.3
2-3 221 20 3 0 75.3 £ 5.3 (80.6 - 70.1
I -4 198 16 4 0 69.2 £ 5.7 (74.9 - 63.5
4 - 5 178 5 9 0 67.2 £+ 5.8 (73.0 - 61.4
5 - 164 164

TOTAL 272 87 21 164

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 453 108 4 o] 76.1 + 4.0 < 80.1 - 72.0
1 -2 341 61 2 0 62.4 + 4.6 (67.0 - 57.8
2 -3 278 40 4 0 63.4 £ 4.7 (58,1 - 48.6
3 -4 234 27 9 0 47.1 + 4.7 ( 51.8 - 42.3
4 -5 198 10 10 0 44.6 £ 4.7 (49.4 - 39.9
S - 178 178

TOTAL 453 246 29 178

[VRVEVEVRV] [PRVEVEVRV
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4 —8. ERBIEFE (BEER. =S - I3E)

) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE . GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 12 4 0 0 66.7 £ 27.2 (93.9 - 39.5
1 -2 8 3 0 0 41.7 £ 28.5 (70.1 - 13.2
2-3 5 3 0 0 16.7 £ 21.5 (38.2 - -4.8
3 -4 2 1 0 0 8.3 £ 16.0 ( 24.3 - -7.6
4-5 1 0 0 0 8.3 + 16.0 ¢ 24.3 - -7.8
5 - 1 1
TOTAL 12 11 0 1
BRI YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 3 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 3 1 0 o 66.7 £ 54.4 (121.1 - 12,2
2-3 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
3-4 2 1 0 0 33.3 £ 54.4 (87.8 --21.1
4-5 1 0 0 0 33.3 + 54.4 ¢ 87.8 --21.1
5 1 1
TOTAL 3 2 0 1
245 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 12 4 0 0 66.7 £ 27.2 (93.9 - 39.5
1 -2 8 3 0 0 41.7 £ 28.5 (70.1 - 13.2
2 -3 5 3 0 0 16.7 £ 21.6 (€ 38.2 - -4.8
3 -4 2 1 o o 8.3 + 16.0 ¢ 24.3 - -7.6
4-5 1 0 0 0 8.3 + 16.0 ( 24.3 - -7.6
5 - 1 1
TOTAL 12 1 o 1
_ . 7 N=rd N =
4—9. FERBIETFE (FERD. BHE - 5E)
Y& YEAR OF ALIVE AT DIED IN LOST TQ WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 157 a7 2 0 76.3 + 6.8 (831 -69.5
1 -2 118 19 0 0 64.0 £ 7.7 ( 71.7 - 56.3
2-13 99 17 0 0 53.0 £ 8.0 ( 61.0 - 45.0
3 -4 82 7 1 0 48.5 + 8.0 ( 56.5 - 40.4
4 -5 74 3 9 0 46.4 £ 8.0 (54,4 - 38.3
5 - 62 62
TOTAL 157 83 12 62
YaREtT) R M YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD S
28 YJPRVY OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  5X STD ERROR
0-1 117 16 1 0 86.3 £ 6.4 (92.6 - 179.9
1 -2 100 11 0 0 76.8 £+ 7.8 (84.6 - 68.8
2 -3 89 13 0 0 65.6 £+ 8.8 (74.4 - 56.7
3 -4 76 ] 1 [] 61.2 £+ 8.1 (70.3 - 52.2
4-5 70 2 8 o 59.4 + 9.1 ( 68.5 - 50.2
5 60 60
TOTAL 117 47 10 60
24 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0 1 166 41 2 0 75.2 + 6.7 (8l1.9 - 68.4
1 -2 123 22 0 0 61.7 £ 7.6 (69.3 - B4. 1
2-3 101 18 0 0 50.7 + 7.8 ( 58.5 - 42,9
3 -4 83 7 1 0 46.4 + 7.8 (.54.2 - 38.6
4-5 75 3 9 0 44.4 = 7.8 (€ 52.2 - 36.6
5 - 63 63
TOTAL 166 91 12 63

[V RVEVEVEY] [V RVEVEVEV)
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4 —10. FERBIEFE

IR
=y UNES L
26

(Am. &5 -

fR¥E)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
-1 45 8 0 0 82.2 + 11.4 (93.6 - 70.8
1 -2 37 3 0 0 75.6 £ 12.8 ( 88.4 - 62.7
2 -3 34 4 1 0 66.5 £ 14.1 ( 80.6 - 52.4
3 -4 29 4 0 0 67.4 £ 14.8 ( 72.2 - 42,5
4 -5 25 2 2 0 52.6 + 15.1 ( 67.6 - 37.5§
5 - 21 21

TOTAL 45 21 3 21

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 34 5 0 0 85.3 £ 12.1 (97.4 - 73.1
1 -2 29 1 0 0 82.4 + 13.1 (85,4 - 69.3
2 -3 28 3 0 0 73.5 £+ 16.1 ( 88.7 - 58.4
3 -4 25 2 0 0 67.6 £ 16.0 ( 83.7 - 51.6
4 S 23 2 2 0 61.5 + 16.8 ( 78.3 - 44.7
5 - 19 19

TOTAL 34 13 2 19

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 52 12 0 0 76.9 + 11.7 ( 88.6 - 65.2
1 -2 40 3 0 0 71.2 + 12.6 (83.7 - 58.6
2 -3 37 5 1 0 61.4 £ 13.5 (74.9 - 47.9
3 -4 31 5 1 0 5§1.3 + 14.0 (¢ 65.3 - 37.3
4 -5 25 2 2 0 47.1 * 14.1 (C(61.1 - 33.0
5 - 21 21

TOTAL 52 27 4 21

~N v

(SRR RV



5—1. #iATC E AMERIETFE (Z7 ik, # - EB. IRE)

<25 ng/ml

<5.0 ng/ml

<10.0 ng./ml

<30.0 ng./ml

30.0ng/mlld

Ry

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 6% STD ERROR
0 -1 476 33 6 0 83.0 £ 2.3 (985.4 - 90.7
1 -2 438 35 1 0 85.6 £+ 3.2 (88.8 - 82.4
2 -3 402 31 2 0 79.0 £ 3.8 (82,7 - 75.2
3 -4 369 21 7 0 74.4 £ 4.0 (78.5 - 70.4
4 -5 341 17 13 0 70.7 £ 4.2 ( 74.9 - 66.4
5 - 311 311

TOTAL 476 137 28 311

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rx 2SE 6% STD ERROR
0 -1 253 35 1 0 86.1 £ 4.3 (90.5 - 81.8
1 -2 217 31 1 0 73.8 £+ 5.6 (79.3 - 68.3
2 -3 185 18 3 0 66.6 £ 6.0 ( 72.6 - 60.6
3 -4 164 27 3 0 65.5 + 6.3 (61.8 - 48.2
4 -5 134 9 13 0 51.6 + 6.4 (58.0 - 45.2
5 - 112 112

TOTAL 263 120 21 112

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
6 -1 182 27 0 0 85.2 £+ 6.3 (90.4 - 79.8
1 -2 1565 a3 3 0 66.9 £+ 7.0 (¢ 73.9 - 59.9
2 -3 119 17 0 0 567.3 £ 7.4 (64.7 - 49.8
3 -4 102 14 0 0 49.4 £ 7.6 (656.9 - 42.0
4 - 5 88 9 1 0 44.4 £ 7.4 (51.8 - 36.9
5 - 78 78

TOTAL 182 100 4 78

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 167 36 0 0 77.1 £ 6.7 (83.8 - 70.
1 -2 121 33 0 0 56.1 £+ 7.9 ( 64.0 - 48.
2 -3 88 14 1 0 47.1 £ 8,0 (55,1 - 39.
3 -4 73 12 0 0 3.3 + 7.8 ( 47.2 - 31.
4 -5 61 5 S 0 36.0 £ 7.7 ( 43.7 - 28.
5 - 51 51

TOTAL 157 100 6 51

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0 -1 133 60 1 1] 64.7 £ 8.6 (63.4 - 46.1
1 -2 72 24 0 0 36.5 £ 8.4 (44,9 - 28.1
2-3 48 14 0 0 25.8 + 7.6 (33.6 - 18.2
3 -4 34 6 0 0 21.3 £ 7.1 (28.4 - 14.1
4 5 28 3 3 0 18.9 £+ 6.8 (25.7 - 12.0
5 - 22 22

TOTAL 133 107 4 22

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ' CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 29 6 0 0 79.3 £ 15.0 ( 94.4 - 64.3
1 -2 23 s 0 0 62.1 £ 18.0 (80.1 - 44.0
2 -3 18 3 0 0 61.7 £ 18.6 ( 70.3 - 33.2
3 -4 15 0 2 0 61.7 £ 18.6 ( 70.3 - 33.2
4 -5 13 1 1 0 47.6 + 18.8 ( 66.4 - 28.8
5 - 11 11

TOTAL 29 15 3 11

(AR NN
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5—2. WWAIC E AMBRIEFR(Y > K1 v F&,# - BEB. I5E)

< 5.0 ng/ml

<10.0 ng./ml

<20.0 ng/ml

<50.0 ng./ml

50.0ng/mllA_k

N

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 1,410 185 20 0 88.9 + 1.7 (90.6 - 87.3
1 -2 1,235 120 19 0 80.2 £+ 2.1 (82.4 - 78.1
2 -3 1,096 101 26 0 72.7 £+ 2.4 (75.1 - 70.3
I -4 969 73 30 0 67.2 £ 2.6 (69.7 - 64.6
4 5 866 43 58 0 63.7 £+ 2.6 (66.3 - 61.1
5 - 765 765

TOTAL 1,410 492 153 765

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 262 67 1 0 74.4 £ 5.4 (79.8 - 69.0
1 -2 194 34 3 0 61.2 + 6.0 (67.3 - 55,2
2 -3 157 27 2 0 560.6 £+ 6.2 (56.9 - 44.4
3 -4 128 13 5 0 45.4 £+ 6.2 (51.6 - 39.2
4 - 5 110 6 6 0 42,9 £ 6.2 (49.1 - 36.6
5 - 98 98

TOTAL 262 147 17 98

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 162 43 1 0 73.4 £ 7.0 (80.3 - 66.4
1 -2 118 30 3 0 54.5 £ 7.9 (62.4 - 46.6
2 -3 85 18 0 0 42.9 £ 7.9 ( 50.8 - 35.1
3 -4 67 9 0 0 37.2 £ 7.7 ( 44.9 - 28.5
4 -5 68 7 3 0 32.6 £ 7.5 ( 40.1 - 25.1
5 - 48 48

TOTAL 162 107 7 48
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 6% STD ERROR
0 -1 168 79 0 0 50.0 £+ 8,0 (58.0 ~- 42,0
1 -2 79 32 1 0 29.6 £+ 7.3 (36.9 - 22.3
2 -3 46 8 1 0 24.4 £ 6.9 (31.3 - 17.5
3 -4 37 7 1 0 1.7 £+ 6.4 (26.1 - 13.3
4 -5 29 3 0 0 17.7 £ 6.2 (23.8 -11.5
§ - 26 26

TOTAL 168 129 3 26

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 44 28 0 0 36.4 + 14.5 (50.9 - 21.8
1 -2 16 7 1 0 1.9 + 12,2 (32,1 - 7.8
2 -3 8 1 0 0 17.4 £ 11.6 (28.1 - 5.8
3 -4 7 0 0 0 17.4 £ 11.6 (29.1 - 5.8
4 - 5 7 0 0 0 17.4 £ 11.6 (29.1 - 5.8
5 - 7 7

TOTAL 44 36 1 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 1) 10 1 0 81.7 £ 10.5 (82.1 - 71.2
1 -2 44 6 1 0 70.4 + 12.4 (82.8 - 58.0
2 -3 37 5 2 0 60.6 =+ 13.4 ( 74.0 - 47.2
3 -4 30 3 1 0 54.4 + 13.8 (68.3 - 40.6
4 -5 26 2 5 0 49.8 + 14.1 (63.9 - 35.7
5 - 19 19

TOTAL 556 26 10 19
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5—3. #iAICE AMERIEEE (C | S&, - BB RE)

< 5.0 ng/ml

<10.0 ng/ml

10.0 ng,/mlLAE YEAR OF ALIVE AT

A

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING TINTERVAL FOLLW-UP IN ALIVE SURV. R% 2SE 6% STD ERROR
0 -1 67 6 1 0 92.5 + 6.6 (98.9 - B6.0
1 -2 61 6 0 0 83.4 £ 9.2 (92,5 - 74.2
2 -3 55 5 1 0 75.7 £ 10.6 (¢ 86.3 - 66.2
3 - 4 49 4 0 0 69.6 £ 11.4 (80.9 - B68.2
4 -5 45 6 2 0 61.6 £ 12,1 (C 73.7 - 49.6
5 - 38 KI:]
TOTAL 67 25 4 38
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 27 8 0 0 70.4 £ 17.6 ( 87.8 - 52.8
1 -2 18 6 0 0 48.1 £ 19.2 ( 67.4 - 28.9
2 -3 13 ] 0 0 48.1 + 19.2 (67.4 - 28.8
3 -4 13 3 0 0 37.0 £ 18.6 ( 55.6 - 18.5
4 -5 10 1 0 0 33.3 + 18.1 (51.5 - 15.2
5 - S S
TOTAL 27 18 0 9
DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 19 6 0 0 68.4 £ 21.3 (838.7 - 47.1
1 2 13 4 0 0 47.4 £ 22,9 (70.3 - 24.5
2 -3 S 4 [ 0 26.3 + 20.2 ( 46.5 - 6.1
3 4 S 0 0 o] 26.3 £ 20.2 ( 46.5 - 6.1
4 - 5 5 2 0 0 15.8 £ 16.7 (32,6 - -0.9
5 - 3 3
TOTAL 19 16 0 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 19 2 0 0 89.5 £ 14.1 (103.6 - 75.4
1 -2 17 3 0 0 73.7 £ 20.2 (93.9 - 53.5
2 -3 14 3 0 0 §7.9 + 22.7 (80.5 - .35.2
3 -4 11 0 2 0 57.9 = 22.7 (80.5 - 35.2
4 -5 9 0 0 0 67.9 + 22.7 (80.5 - 35.2
5 - 9 9
TOTAL 19 8 2 S
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5—4. {iF#1C E AMMERIETER
(Z7iEk, AR, & 8B BE)

< 5.0 ng/ml

<10.0 ng /ml

<30.0 ng/ml YEAR OF ALIVE AT

30.0 ng/mlU\J:;

B

< 2.5 ng,/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 394 8 5 0 98,0 £ 1.4 (99.4 - 96.5
1 -2 g1 25 0 0 91,5 + 2.8 ( 94.4 - 88.7
2-3 356 22 2 0 85.9 £ 3.5 ( 89.4 - 82,3
3-4 332 13 7 0 82.5 £ 3.9 ( 86.3 - 78.6
4-5 312 14 12 0 78.7 £ 4.2 (829 - 74.5
5 286 286
TOTAL 394 82 26 286
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 187 8 1 0 95.7 £ 3.0 (987 -~ 92.7
1 -2 178 18 1 0 86,0 £ 5.1 (91,1 - 80.9
2-3 159 9 1 0 8.1 £+ 5.7 (86.9 - 75.4
3-4 149 20 3 0 70.1 £ 6.8 (76.9 - 63.4
4-5 126 7 13 0 66.0 £ 7.0 (-73.1 - 69.0
5 - 106 106
TOTAL 187 62 19 108
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 120 8 0 0 93.3 £ 4.6 (97.9 - 88.8
1 -2 112 13 2 0 82.4 £ 7.0 ( 89.4 - 75.4
2 -3 97 11 0 0 73.1 £ 8.1 (81.2- 64.9
3 -4 86 7 0 0 67.1 + 8.6 ( 75.7 - BB.5
4-5 79 8 1 0 60.9 £ 9.0 ¢ 69.3 - 51.3
5 - 70 70
TOTAL 120 47 3 70
DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 81 5 0 0 93.8 £ 5.3 (99.2 - 88.5
1 -2 76 11 0 0 80.2 t 8.8 (89.1 - 71.4
2-3 65 7 0 0 71.6 £ 10.0 ( 81.6 - 61.6
3-4 58 5 0 0 65.4 + 10.6 ¢ 76.0 - 54.9
4-5 53 5 4 0 59.0 + 11.0 ¢ 70.0 - 48.0
5 - 44 44
TOTAL 81 33 4 44
EAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
BSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 41 3 1 0 92.6 £ 8.2 (100.8 - 84.4
1 -2 37 4 0 0 82.6 £ 12.0 ( 94.6 - 70.6
2-3 a3 4 0 0 72.6 £ 14.1 ( 86.7 - 58.5
3-4 29 3 0 0 65.1 + 15.1 ¢ 80.1 - 50.0
4-5 26 2 3 0 59.8 £ 15.6 ( 75.4 - 44.2
5 - 21 21
TOTAL 41 16 4 21
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 15 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 15 2 0 0 86.7 £ 17.6 (104.2 - 69.1
2-3 13 0 0 0 86.7 + 17.6 (104.2 - 69.1
3 -4 13 0 2 0 86.7 £ 17.6 (104.2 - 68.1
4-5 11 1 1 0 78.4 £ 22.3 (100.7 - 66.1
5 - 9 9
TOTAL 15 3 3 ]

(SR RV VR [CRVRVEVEY] [(VRVEVEVEY)

R A

>
M
)
)
)

[VRVEVEVERY)
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< 5.0 ng/ml VYEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 56X STD ERROR
0 -1 1,140 59 18 0 94.8 + 1.3 ( 96.1 - 93.5
1 -2 1,063 68 16 o 88.7 + 1.9 ( 90.6 - 86.8
2 -3 979 70 23 0 2.3 + 2.3 ( 84.6 — 80.0
a-4 886 56 27 0 77.0 + 2.5 (79.5 - 74.4
4-5 803 a4 57 0 73.6 + 2.7 (76.3 - 70.9
5 - 712 712
TOTAL 1,140 287 141 712
<10.0 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
U ng OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 176 22 1 0 87.6 + 5.0 ¢ 92.5 - 82.5
1 -2 153 17 2 0 77.7 + 6.3 (84.0 - 71.4
2 -3 134 18 2 0 67.2 + 7.1 ( 74.3 - 60,0
3 -4 114 11 3 0 60.6 + 7.5 (¢ 68.1 - 63.1
4-5 100 5 6 0 57.5 + 7.6 (651 - 49.9
5 - 89 89
TOTAL 176 73 14 89
<20.0 ng,/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+2SE 5% STD ERROR
0-1 82 11 1 0 86.5 + 7.6 ¢ 94.1 - 78.9
1 -2 70 8 1 ) 76.5 + 9.4 (86.0 - 67.1
2 -3 61 8 0 0 66.5 + 10.5 ¢ 77.0 - 56.0
3-4 53 6 0 0 §9.0 + 11.0 ¢ 70.0 - 48.0
4-5 47 6 2 0 51.3 + 11.2 ¢ 62.5 - 40.1
5 - ag 39
TOTAL 82 a9 4 39
<30.0 ng/ml yEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+2SE 6% STD ERROR
0-1 28 3 0 0 89.3 + 11.7 (101.0 - 77.6
1 -2 25 8 1 0 60.1 + 18.7 (¢ 78.8 - 41.5
2 -3 16 2 0 0 52.6 + 19.1 ¢ 71.7 - 33.5
3-4 14 2 0 0 45.1 + 19,1 ( 64.2 - 26.0
4-5 12 0 0 0 45.1 + 19,1 ¢ 64.2 - 26.0
5 - 12 12
TOTAL 28 15 1 12
30.0 ng/mlll |- YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
-vng/ m OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 31 3 0 ) 90.3 + 10.6 (100.9 - 79.7
1 -2 28 5 1 0 73.9 + 15.9 (¢ 89.8 - 58,0
2 -3 22 3 0 0 63.8 + 17.5 (¢ 81.3 - 46.4
3-4 19 0 0 0 63.8 + 17.5 (¢ B1.3 - 46.4
4-5 19 3 0 o §3.7 + 18.2 (¢ 71.9 - 35.6
5 - 16 16
TOTAL 31 14 1 16
ABA YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+2SE 5% STD ERROR
0 -1 a2 2 0 0 93.8 + 8.6 (102.3 - 85.2
1 -2 30 2 1 0 87.4 + 11.8 ( 99.2 - 75.6
2 -3 27 3 2 o 77.3 + 15.1 ¢ 92.4 - 62.2
3 -4 22 2 1 0 70.1 + 16.8 ¢ 86.9 - 53.3
4 - 5 19 0 4 0 70.1 £ 16.8 ( 86.9 - 53.3
S - 15 15
TOTAL 32 ) 8 15
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5—6. fiTAl C E AMERIETER
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< 2.5 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 56X STD ERROR
0-1 35 2 0 0 94.3 + 7.8 (102.1 - 86.4
1 -2 33 2 0 0 88.6 + 10.8 ( 99.3 - 77.8
2-3 31 4 1 0 77.0 + 14.3 € 91.3 - 62.7
3 -4 26 2 0 0 71.0 + 15.5 (¢ 86.5 — 65.6
4 -5 24 0 2 0 71.0 £ 15.5 ( 86.5 - 55.6
5 - 22 22
TOTAL 35 10 3 22
< 50 ng/ml yEaR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 16 0 1 0 100.0 £ 0.0 (100.0 -100.0
1 -2 15 2 0 0 86.7 + 17.6 (104.2 - 69.1
2-3 13 0 0 0 86.7 + 17.6 (104.2 - 69.1
3-4 18 1 0 0 80.0 + 20.7 (100.7 - 59.3
4-5 12 0 0 0 80.0 + 20.7 (100.7 - 59.3
5 - 12 12
TOTAL 16 3 1 12
<10.0 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 17 4 0 0 76.5 + 20.6 (¢ 97.0 - 55.9
1 -2 13 3 0 0 58.8 + 23.9 ( 82,7 - 35.0
2 -3 10 0 0 0 58.8 + 23.9 ( 82.7 - 35.0
3 -4 10 2 0 0 47.1 + 24.2 ¢ 71.3 - 22.8
4-5 8 1 o 0 41.2 + 23.9 (€650 - 17.3
5 - 7 7
TOTAL 17 10 0 7
10.0ng,/mlEA_k YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R+2SE 6% STD ERROR
0 -1 8 2 0 0 75.0 + 30.6 (105.6 - 44.
1 -2 6 1 o 0 62.5 + 34.2 ( 96.7 - 28,
2-3 5 1 0 0 50.0 + 35.4 ( B5.4 - 14,
3 -4 4 0 0 0 50.0 t 35.4 ¢ 85.4 - 14.
4 -5 4 1 0 0 37.5 + 34.2 ¢ 71.7 - 3.
5 - 3 3
TOTAL 8 5 0 3
ENi3 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 15 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 15 1 0 0 93.3 + 12.9 (106.2 - 80.5
2 -3 14 3 0 0 73.3 + 22.8 ( 96.2 - 50.5
3-4 11 0 2 0 73.3 + 22.8 (€ 86.2 - 50.5
4 -5 9 0 0 0 73.3 + 22.8 ( 96.2 - 50.5
5 - 9 ]
TOTAL 15 4 2 9
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5—7. 41 C E AERIETFXR
(Z7I&E, YRgehl, & - BB RE)

< 25 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV,R+2SE 5% STD ERROR
0 -1 450 25 5 0 94.4 £ 2.2 ( 96.6 - 92.2
1 -2 420 a3 1 0 87.0 £ 3.2 (90.2 - 83.8
2 -3 ass 28 2 0 80.7 £ 3.7 ( 84.4 - 76.9
3 -4 356 20 7 0 76.1 * 4.1 (80,1 - 72,0
4-5 329 16 13 0 72.3 £ 4.3 ( 76.6 - 68.0
5 - 300 300
TOTAL 450 122 28 300
< 5.0 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
.U ng/ ml ogSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 234 25 1 0 89.3 + 4.0 ( 93.3 - B5.2
1 -2 208 28 1 0 77,2+ 5.5 (827 - 71.7
2 -3 179 17 3 0 69.8 + 6.0 ( 75.9 - 63.8
3 -1 159 24 3 0 59.2 + 6.5 ( 66.7 - 52.7
4 -5 132 3 13 0 55.0 + 6,6 ( 61.6 - 48,3
5 - 110 110
TOTAL 234 103 21 110
<10.0 ng/ml YEAR OF ALIVE AT DIED 1IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0 -1 171 21 0 0 87.7 £ 5.0 ¢ 92.7 - 82.7
1 -2 150 30 3 0 7.0 £ 7.0 C 77.0 - 63.0
2 -3 117 17 0 0 5.8+ 7.5 ( 67.4 - 62,3
3 -4 100 14 0 0 51.5 £ 7.7 (59,2 - 43.7
4-5 86 9 1 0 46.0 £ 7.7 ( 53.7 - 38.3
5 - 76 76
TOTAL 171 s1 4 76
<30.0 ng,/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
0-1 142 25 0 0 82.4 £ 6.4 (88.8 - 76.0
1 -2 117 31 0 0 60.6 £ 8.2 ¢ 68.8 - 52,4
2 -3 86 14 0 0 BO.7 + 8.4 (59.1 - 42.3
3 -4 72 11 0 0 43.0 £ 8.3 ( 51.3 - 34.6
4-5 61 5 5 0 33.9 £ 8.2 ( 47.5 - 311
5 - 51 51
TOTAL 142 86 5 51
30.0ng/mll| | YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
-Vng OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:t2SE 6% STD ERROR
0-1 112 a1 1 0 63.2 £ 9.1 ( 72.4 - 54.1
1 -2 70 23 0 0 42.5 + 9.4 ( 51.8 - 33,1
2 -3 47 14 0 0 29,8 t 8.7 ( 38.5 - 21,1
3-a 33 p 0 0 244t 8.2 (326 - 162
4 - 5 27 2 3 [¢] 22.5 8.0 ( 30.4 - 14.5
5 - 22 22
TOTAL 112 86 4 22
yN YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 25 4 0 0 84.0 £ 14.7 ¢ 98.7 - 69.3
1 - 2 21 5 0 0 64.0 * 19.2 ( 83.2 - 44.8
2-3 16 3 0 0 52.0 £ 20.0 ¢ 72.0 - 32.0
3 -4 13 0 2 0 5§2.0 £ 20.0 ¢ 72.0 - 32.0
a-5 1 1 1 0 47.0 t 20.4 C 67.4 - 26.7
5 - 3 3
TOTAL 25 13 3 9
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(> KA v Fi&, HkR26,

& - BB IRE)

< 50 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  5X STD ERROR
0-1 1,354 136 19 0 89.9 + 1.6 ( 91.5 - 88.2
1 -2 1,199 115 18 0 81.2 £+ 2.1 (83.3-79.1
2 -3 1,066 99 25 0 73.6 £+ 2.4 (76.0 - 71.1
3 -4 942 70 30 o 68.0 + 2.6 ¢ 70.6 - 65.4
4-5 842 42 57 0 64.5 + 2.7 (67.2 - 61.8
5 - 743 743
TOTAL 1,354 462 149 743
<10.0 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
-1 251 57 1 ) 77.2 + 5.3 (825 - 71.9
1 -2 193 33 3 0 63.9 + 6.1 (70.0 - 57.9
2 -3 157 27 2 0 52.9 + 6.3 (€ 59.2 - 46.5
3 -4 128 13 5 0 47.4 + 6.4 ( 53.8 - 41.0
4-5 110 6 6 0 44.7 £+ 6.4 (51.1 - 38.4
5 - 98 98
TOTAL 251 136 17 98
<20.2 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 150 34 1 0 77.3 + 6.9 (84.1 - 70.4
1-.2 115 29 3 0 57.5 + 8.1 ( 65.6 - 49.4
2 -3 83 17 0 0 45.7 t 8.2 (54.0 - 37.5
3 -4 66 ) 0 0 39.5 + 8.1 (47.6 - 31.4
4-5 57 7 3 0 34.5 + 7.9 ( 42.4 - 26.6
5 - 47 47
TOTAL 150 96 7 47
<30.0 ng /'ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV,Rt2SE 5% STD ERROR
0-1 62 23 0 0 62.9 + 12.3 ( 75.2 - 50.6
1 -2 3g 17 1 0 35.1 + 12.2 ( 47.3 - 22.9
2-3 21 3 1 0 30.0 + 11.8 ¢ 41.7 - 18.2
3 -4 17 3 0 0 24.7 + 11.2 ¢ 35.9 - 13.5
4-5 14 0 0 0 24.7 £ 11.2 (€ 35.9 - 13.5
5 - 14 14
TOTAL 62 46 2 14
30.0ng/mlll L YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 117 63 0 0 46.2 + 8.2 ( 55.4 - 36.9
1 -2 54 21 1 0 28.0 + 8.3 (€ 36.4 - 19.7
2 -3 32 6 ) 0 22.8+ 7.8 € 30.6 - 15.0
3 -4 26 4 1 0 19.2 £ 7.3 (26.6 - 11.9
4-5 21 3 0 0 16.6 t+ 6.9 ¢ 23.4 - 9.5
b 18 18
TOTAL 117 a7 2 18
AW YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 53 9 1 0 82.9 + 10.4 ¢ 93.3 - 72.5
1 -2 43 6 1 0 71.2 + 12.6 ( 83.7 - 58.6
2 -3 36 5 2 0 61.0 + 13.7 (€ 74.7 - 47.3
-4 29 3 1 0 54.6 + 14.1 ( 68.7 - 40.5
4-5 25 2 4 o 49.8 + 14.4 ( 64.2 - 35.4
5 - 19 19
TOTAL 53 25 ) 19
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5—9. fifalC E AERIETFE

(C I Sk, fRR2fl, & - BB k&)

< 5.0 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 58 4 1 [ 93.0 £+ 6.7 (99.8 - 86.3
1 -2 53 5 0 0 84.3 + 9.6 (93.9 - 74.6
2 -3 48 5 1 0 75.4 t 11.4 ( 86.8 — 64.0
3 -4 42 3 0 0 70.0 + 12,2 ( 82.2 - 57.8
4-5 a9 2 2 0 66.3 + 12,6 ( 78.9 - 53.7
5 - as 35
TOTAL 58 19 4 as
<10.0 ng/ml YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
U ng OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0-1 22 6 0 () 72.7 £ 19.0 (€ 91.7 - 53.7
1 -2 16 5 0 0 50.0 + 21.3 ( 71.3 - 28,7
2 -3 11 0 0 0 50.0 + 21.3 ¢ 71.3 - 28.7
3-4 11 3 0 0 36.4 £ 20.5 ( 56.9 - 15.9
4-5 8 1 0 0 31.8 + 19.9 (¢ 51.7 - 12.0
5 - 7 7
TOTAL 22 15 0 7
10.0ng/mlLl b YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 15 5 0 0 66.7 + 24.3 ¢ 91.0 - 42.3
1 -2 10 4 0 0 40.0 + 25,3 ( 65.3 - 14.7
2 -3 6 2 0 o 26.7 + 22.8 ( 49.5 - 3.8
3-4 4 0 0 0 26.7 £ 22.8 ( 49.5 - 3.8
4 -5 4 1 0 0 20.0 £ 20.7 < 40.7 - 0.7
5 - 3 3
TOTAL 15 12 0 3
N YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOQD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 6% STD ERROR
0 -1 19 2 0 0 89.5 + 14.1 (103.6 - 75.4
1 -2 17 3 0 0 73.7 + 20.2 (93.9 - 53.5
2 -3 14 3 0 0 57.9 + 22.7 ( 80.5 - 35.2
3-4 11 0 2 0 57.9 + 22.7 ( 80.5 - 35.2
4-5 9 0 0 0 57.9 + 22.7 ( 80.5 - 35.2
5 - 9 9
TOTAL 19 8 2 9

(R VRVRY) (VR %4 [CR VR

(VR VRE VRV



5 —10. @i C E AfERIETER
Po, Mo, HIRR&EMI, #&

(No, Ho,

<2.5ng/ml

<5.0ng/ml

<10.0ng/ml

<30.0ng/ml

<50.0ng/ml

50. Ong/ml=<

R

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

N WN -

YEAR OF
OBSERVA

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

ALIVE AT
BEGINNING

ALIVE AT

BEGINNING
557
498
451

ALIVE AT
BEGINNING

ALIVE AT

BEGINNING

zszzzzzz%
208
162
129
113
102
92

ALIVE AT
BEGINNING

61

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

z=szcz=scs

DIED IN
INTERVAL

DIED IN
INTERVAL

DIED 1IN

DIED IN
INTERVAL

DIED 1IN
INTERVAL

DIED IN
INTERVAL

11

DIED IN
INTERVAL

__95__

LOST TO

LOST TO
FOLLW-UP

LOST TO
FOLLW-UP

LOST TO
FOLLW-UP

LOST TO
FOLLW

LOST TO
FOLLW-UP

—_o—00

LOST TO
FOLLW-UP

- BB RE)

WITHDRAWN
IN' ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

CUMULATIVE
SURV.R+2SE

GREENWOOD'S
5% STD ERROR

RIEZSzEMIWEEEEsaSSICESTESE

94.8 £ 1.4 ¢ 96.1 - 93.4
89.1 = 1.9 ( 81.0 - 87.2
83.8 * 2.3 ( 86.0 - 81.5
80.8 t 2.4 ( 83.3 - 78.4
79.2 £ 2.5 ( 81.7 - 76.7
CUMULATIVE ~ GREENWOOD'S
SURV.R:2SE 5% STD ERROR
90.8 + 2.5 ( 93.2 - 88.3
83.4 £ 3.2 ( 86.6 - 80.3
78.0 £ 3.5 ( 81.6 - 74.5
73.0 £ 3.8 ( 76.8 - 69.2
70.1 £ 4.0 ( 74.1 - 66.2
CUMULATIVE  GREENWOOD'S
SURV.R+2SE 5% STD ERROR
Sessmsssmsescsscate==

84.1 = 4.1 ( 88.2 -

73.56 = 5.0 ( 78.5 -

64.3 * 5.4 ( 69.8 -

58.7 * 5.6 ( 64.3 -

54.9 + 5.7 ( 60.6 -
CUMULATIVE  GREENWOOD'S
SURV.R:2SE 5% STD ERROR
sm=sasessscasasz

78.7 * 5.7 ( 84.4

63.1 £ 6.7 ( 69.9

55.3 + 6.9 ( 62.2

49.9 £ 7.0 ( 56.9

47.9 = 7.0 ( 54.9
CUMULATIVE  GREENWOOD'S
SURV.R£2SE 5% STD ERROR
Srcczmzassssssszccocszsass=s
60.3 £ 12.6 ( 72,9 - 47.8
46.9 % 12.9 ( 59.8 - 34.1
36.9 = 12.5 ( 49.3 - 24.4
28.3 £ 11.7 ( 40.0 - 16.6
26.5 + 11.5 ¢ 38.0 - 15.0
CUMULATIVE  GREENWOOD'S
SURV.Rt2SE 5% STD ERROR
41.8 + 10.3 ( 52.1 - 31.4
29.7 £ 9.6 ( 39.2 - 20.1
24.1 £ 9.0 ( 33.1 - 15.1
22,9 £ 8.8 ( 31.8 - 14.1
21.8 £ 8.7 ¢ 30.4 - 13.1
CUMULATIVE  GREENWOOD'S
SURV.R+2SE 5% STD ERROI
ceesesssmscazsEs ==
81.2 £ 2.8 ( 84.0 - 78.4
71.0 £ 3.3 ( 74.3 - 67.7
62.5 + 3.5 ( 66.0 - 59.0
56.8 + 3.6 ( 60.4 - 53.2
54.1 + 3.7 ( 57.8 - 50.4

- ——

)
)
)
)
)

- - - - —— -



5—11. 4i7aiC E AERIEFR

(N+, Ho,
<2.5ng/ml

<5.0ng/ml

<10.0ng/ml

<30.0ng/ml

<50.0ng/ml

50.0ng/ml=<

ARy

Po, Mo, tIEREMHI, %

YEAR OF
OBSERVAT

a O —

YEAR OF
OBSERVAT

0 -

NEWN -

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

ALIVE AT DIED IN LOST TO
BEGINNING TNTERVAL FOLLW-UP
ewimssds isaiizas Lessmens
580 60 10
510 7] 4
435 54 10
371 46 6
319 25 25
269
580 256 55
ALIVE AT DIED IN LOST TO
BEGINNING INTERVAL FOLLW-UP
ammazzzas sszessss  eessaras
368 53 4
311 56 4
251 42 2
207 29 6
172 18 19
135
368 198 35
ALIVE AT DIED IN LOST TO
BEGINNING INTERVAL FOLLW-UP
asazezss  zezsisii sssseses
244 50 0
194 46 3
145 26 0
119 14 4
101 10 3
88
244 146 10
ALIVE AT DIED IN LOST TO

BEGINNING INTERVAL FOLLW-UP
wszs=zm=s  ssssssss sazsssxs
247 61 2
184 58 3
123 27 1
95 18 1
76 13 4
59
247 177 1
ALIVE AT DIED IN LOST TO
BEGINNING INTERVAL FOLLW-UP
sxazszzas ssssisea sessszee
65 26 0
39 17 0
22 4 ]
18 5 0
13 3 0
10
65 55 (]
ALIVE AT DIED IN LOST TO
BEGINNING INTERVAL FOLLW-UP
72 32 T
40 14 1
25 6 0
19 1 0
18 2 2
14
72 56 3
ALIVE AT DIED IN LOST TO
BEGINNING INTERVAL FOLLW-UP
Pt
25
5
4
9
18
61

__96__

- BB RE)

VITHDRAWN
IN' ALIVE

0
0
0

WITHORAWN
IN ALIVE

W1 THDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

oo

WITHDRAWN
IN ALIVE

W1 THDRAWN
IN ALIVE

CUMULATIVE ~ GREENWOOD'S

SURV.R*2SE 5% STD ERROR
89.6 * 2.5 ( 92.1 - 87.0
77.0 £ 3.5 [ 80.6 - 73.5
67.4 £ 3.9 ( 71.3 - 63.4
59.0 + 4.2 ( 63.1 - 54.8
54,1 t 4.2 ( 58.4 - 49.9
CUMULATIVE  GREENWOOD'S

SURV.R£2SE 5% STD ERROR

srsamussssszsssssuszammmzz
85.5 t 3.7 ( 89.2 - 81.8
70.0 £ 4.8 ( 74.8 - 65.2
56.3 + 5.2 ( 63.5 - 53.1
50.0 *+ 5.3 ( 55.3 - 44.7
44.4 5.3 ( 49.7 - 39.1
CUMULATIVE  GREENWOOD'S

SURV.R£2SE 5% STD ERROR

Sxssizmsssszssesssasazzsss
79.5 £ 5.2 ( 84.7 - 74.3
60.5 + 6.3 ( 66.8 - 54.2
49.7 £ 6.4 ( S6.1 - 43.2
43.7 £ 6.4 ( S0.1 - 37.3
39.3 £ 6.3 ( 45.7 - 33.0
CUMULATIVE  GREENWOOD'S

SURV.R£2SE 5% STD ERROR

sszssssmsss=scssasacazcsns
75.2 £ 5.5 ( 80.7 - 69.7
51.3 £ 6.4 ( 57.7 - 44.9
40.0 + 6.3 ( 46.3 - 33.7
32.4 * 6.0 ( 38.4 -~ 26.3
26.7 £ 5.7 ( 32.4 - 20.9
CUMULATIVE  GREENWOOD'S

SURV.R$£2SE 5% STD ERROR

S=ssisasisczssmssmzssssszs
60.0 + 12.2 ( 72.2 - 47.8
33.8 £ 11.7 ( 45.6 - 22.1
27.7 * 11.1 ( 38.8 - 16.6
20.0 £ 9.9 ¢ 29.9 - 10.1
15.4 £ 9.0 ¢ 24.3 - 6.4
CUMULATIVE  GREENWOOD'S

SURV.Rt2SE 5% STD ERROR

ssseicarssmsssmmsmzzzzasss
55.6 * 11.7 ( 67.3 - 43.8
35.9 £ 11.3 ( 47.2 - 24.5
27.3 * 10.6 ( 37.8 - 16.7
25.8 * 10.4 ( 36.2 - 15.4
22.8 £ 10.0 ( 32.8 - 12.8
CUMULATIVE  GREENWOOD'S

SURV.R£2SE 5% STD ERROR

SmESrmAmEsEaEEwEsSSs=mEE=s
84.8 £ 3.6 ( B88.4 - 81.2
66.7 £ 4.8 ( 71.6 - 61.9
57.8 £ 5.1 ( 62.9 - 52.8
3.4 £ 5.1 ( 58.5 - 48.2
49.2 £ 5.2 ( 54.4 - 44.0

- - - — - — - — — e —— [



5 —12. {iiaiC E AER|ETEER
Po, Mo, tIRk2fl, #& - B, RME)

(No, H+,
<2.5ng/ml

<5.0ng/ml

<10.0ng/ml

<30.0ng/ml

<50. Ong/ml

50.0ng/ml=<

A

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

=zzzzwxs

YEAR OF
OBSERVAT

ALIVE AT
BEGINNING

=smzzzz==
20
17
10

ALIVE AT
BEGINNING

=zzzzzE=c

ALIVE AT
BEGINNING

==zzz=scE

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

BEGINNING
mzzzzzs==z

12

8

3

0

0

0

12

DIED IN
INTERVAL

—_NNNW

DIED IN
INTERVAL

DIED 1IN
INTERVAL

DIED IN
INTERVAL

DIED IN
INTERVAL

YEAR OF ALIVE AT DIED IN

OBSERVAT

zzzzz=za3

BEGINNING

INTERVAL

cCwN W

__97__

LOST TO WITHDRAWN

FOLLW-UP IN ALIVE

0 0
0 0
] 1]
0 0
0 0

5
0 5

LOST TO WITHDRAWN

FOLLW-UP IN ALIVE
0 0
0 0
1] 0
0 0
] 0
4
0 4
LOST TO

FOLLW

LOST TO WITHDRAWN
FOLLW-UP IN ALIVE
==z==z=z s=zzzzzz=x

0 0

0 0

0 0

0 0

1 0

0

1 0

LOST TO WITHDRAWN

FOLLW-UP IN ALIVE
sszss=ss =ssszsssz

0 0

0 0

0 0

0 0

0 0

1

0 1
LOST TO
FOLLW

up

0
LOST TO WITHDRAWN
FOLLW-UP IN ALIVE
1 0
1 0
] 0
[t} 0
0 0
9
2 9

CUMULATIVE ~ GREENWOOD'S
SURV.RE25E 5% STD ERROR
BEEERESEEEEEES======ST¥SSSS
85.0  16.0 (101.0 - 69.0
50.0 * 22.4 ( 72.4 - 27.6
40.0 £ 21.9 ( 61.9 - 18.1
30.0 * 20.5 ( 50.5 - 9.5
25.0 £ 19.4 ( 44.4 - 5.6
CUMULATIVE  GREENWOOD'S
SURV.Rt2SE 5% STD ERROR
csssssescec
57.9 = 22.7 ( 80.5 - 35.2
47.4 £ 22.9 ( 70.3 - 24.5
36.8 * 22.1 ( 59.0 - 14.7
26.3 £ 20.2 ( 46.5 - 6.1
21.1 % 18.7 ( 33.8 - 2.3
CUMULATIVE  GREENWOOD'S
SURV.Rt2SE 5% STD ERROR
ccesimssszsssssssmzsssss=s
64.3  25.6 ( 89.9 - 38.7
28.6  24.1 ( 52.7 - 4.4
12.2 £ 18.3 ( 30.6 - -6.1
12.2 £ 18.3 ( 30.6 - -6.1
0.0 £ 0.0 ( 0.0 - 0.0
CUMULATIVE  GREENWOOD'S
SURV.Rt2SE 5% STD ERROR
83.3 £ 21.5 (104.9 - 61.8
25.0 £ 25.0 ( 50.0 - 0.0
16.7 * 21.5 ( 38.2 - -4.8
8.3 £ 16.0 ( 24.3 - -7.6
8.3 + 16.0 ( 24.3 - -7.6
CUMULATIVE  GREENWOOD'S
SURV.R:2SE 5% STD ERROR
szsssszicstszssisiiscssssss
20.0 + 25.3 ( 45.3 - -5.3
10.0 * 13.0 ¢ 29.0 - -9.0
10.0 £ 18.0 ( 29.0 - -9.0
10.0 £ 19.0 ( 29.0 - -9.0
10.0 £ 19.0 ( 29.0 - -9.0

CUMULATIVE GREENWOOD* S

SURV.Rt2SE 5X STD ERROR
zzszEmzszzzcEs===

82.2 £ 16.1 ( 98.3 - 66.1
68.1 = 19.9 ( 88.1 - 48.2
58.4 = 21.3 ( 79.7 - 37.1
43.8 = 21.7 ( 65.4 - 22.1
43.8 £ 21.7 ( 65.4 - 22.1

- ——— -~ — - ———




5—13. #l§AIC E AMERIERFE
P+, Mo, §IRR2fl, # - Bk MRiE)

(No, Ho,
<2.5ng/ml

<5.0ng/ml

<10.0ng/ml

<30.0ng/ml

<50.0ng/ml

50.0ng/ml=<

A1)

YEAR OF
OBSERVAT

0-1
2

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

zzmazzas

YEAR OF
OBSERVAT

N DN —

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

cCoooONW

ALIVE AT
BEGINNING

szesaznans

DIED IN
INTERVAL

=zzzz=a=

— WO

DIED IN
INTERVAL

DIED 1IN
INTERVAL

DIED 1IN
INTERVAL

DIED IN-
INTERVAL

DIED IN
INTERVAL

DIED IN
INTERVAL

__98__

LOST TO
FOLLW-UP

oocooo

LOST TO
FOLLW-UP

coocoo

LOST TO
FOLLW-UP

oocooo

LOST TO
FOLLW-UP

cococo

LOST TO
FOLLW-UP

ooocoo

LOST TO
FOLLW-UP

samzsmEs

oococoo

LOST TO
FOLLW-UP

0
0
0
0
0

WITHDRAWN
IN  ALIVE
ESERERESS

0

0

0

0

0

8

8
W1 THORAWN
IN ALIVE

0

0

0

0

0

)

1
WITHDRAWN
IN ALIVE
s=erzsuss

0

0

0

0

0

2

2
WITHDRAWN
IN  ALIVE
smczasaxs

0

0

0

0

0

3

3
VITHDRAWN
IN ALIVE
s2zazsxxa

0

0

0

0

0

0

0
W1 THDRAWN
IN ALIVE

0

0

0

0

0

0

[}

W[ THDRAWN
IN ALIVE
szazzsans

0

0

0

0

0

7

7

CUMULATIVE ~ GREENWOOD'S
SURV.R®*2SE 5% STD ERROR
fescissssmmsssmsszasmsass
72.2 £ 21.1 ( 93.3 - 51.1 )
66.7 * 22.2 ( 88.9 - 44.4 )
66.7 + 22.2 ( 88.9 - 44.4 )
50.0 * 23.6 ( 73.6 - 26.4 )
44.4 £ 23.4 ( 67.9 - 21.0 )
CUMULATIVE  GREENWOOD'S
SURV.R+2SE  §% STD ERROR
ssssizassssssszzscasssasass
62.5 £ 34.2 ( 96.7 - 28.3 )
37.5 34,2 ( 71.7 - 3.3)
25.0 + 30.6 ( 55.6 - -5.6 )
12.5 £ 23.4 ( 35.9 --10.9 )
12.5 £ 23.4 ( 35.9 --10.9 )
CUMULATIVE ~ GREENWOOD'S
SURV.R$£2SE 5% STD ERROR
Tessizasasssssssiszssasass
57.1 % 37.4 ( 94.6 - 19.7 )
42.9 + 37.4 ( 80.3 - 5.4
42.9 * 37.4 ( 80.3 - 5.4 )
28.6 * 34.1 ( 62.7 - -5.6 )
28.6 * 34.1 ( 62.7 - -5.6 )
CUMULATIVE ~ GREENWOOD'S
SURV.R+2SE 5% STD ERROR
sazsizzsasmmszsssazs
88.9  21.0 (109.8
55.6 * 33.1 ( 88.7
33.3 + 31.4 ( 64.8
33.3 * 31.4 ( 64.8
33.3 + 31.4 ( 64.8
CUMULATIVE  GREENWOOD'S
V.R£2SE  SX STD ERROR
+ 0.0 (100.0 -100.0 )
£ 0.0 ¢ 0.0- 0.0)
+ 0.0 ( 0.0- 0.0)
£ 0.0 ( 0.0 - 0.0)
+ 0.0 ( 0.0 - 0.,0)
CUMULATIVE  GREENWOOD'S
SURV.R$2SE 5% STD ERROR
scmassasssssnssssssnssussa
66.7 + 54.4 (121.1 - 12,2 )
0.0 0.0 ¢ 0.0 - 0.0)
0.0t 0.0 ( 0.0 - 0.0)
0.0 0.0 ¢ 0.0- 0.0)
0.0+ 0.0 ¢ 0.0 - 0.0)
CUMULATIVE  GREENWOOD'S
SURV.R+2SE 5% STD ERROR
ceszizasssssasssissassasse
80.0 * 20.7 (100.7 - 59.3 )
66.7 * 24.3 ( 91.0 - 42.3 )
60.0 * 25.3 ( 85.3 - 34.7 )
53.3 £ 25.8 ( 79.1 - 27.6 )
46.7 * 25.8 ( 72.4 - 20.9 )



5—14. #ifAIC E AMERIETER
(No, Ho, Po, M+, YIRREMHI, &5 - EIB. BRE)

<2.5ng/ml

<5, Ong/ml

<10.0ng/ml

<30.0ng/ml

<50. Ong/ml

50.Ong/ml=<

R

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

amzzzI==

0 -1

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

YEAR OF
OBSERVAT

N WN -

ALIVE AT
BEGINNING

[SESISERYSYSY

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

ALIVE AT
BEGINNING

zzzxz=xm

ALIVE AT
BEGINNING

===zazsam

ALIVE AT
BEGINNING

“
"
cooooos
»
]

ALIVE AT
BEGINNING

—-NNWa A

DIED IN
INTERVAL

0
0
Q
0
0

DIED IN
INTERVAL

coocoo

DIED IN
INTERVAL

o000

DIED IN
INTERVAL

o~o—o

DIED IN
INTERVAL

ooooo

DIED IN
INTERVAL

ocoocoo

DIED 1IN
INTERVAL

—o——

__99__

LOST TO
FOLLW-UP

coooo

LOST TO
FOLLW-UP

sazazzz:z

ooooo

LOST TO
FOLLW-UP

[~R-N- NN}

LOST TO
FOLLW-UP

ocooo

LOST TO
FOLLw-UP

sazzs==z

coceoo

LOST TO
FOLLW-UP

LOST TO
FOLLW-UP

ooooo

W1 THDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

szanssssn

WITHDRAWN
IN ALIVE

cooooco

WI1THORAWN
IN ALIVE

CUMULATIVE GREENWOOD* S
SURV.Rt2SE 5% STD ERROR

EEEZsEE zzzzzzzsszazasssEss

100.0 £ 0.0 (100.0 -100.0

100.0 £ 0.0 (100.0 -100.0
100.0 £ 0.0 (100.0 -100.0
100.0 £ 0.0 (100.0 -100.0
100.0 £ 0.0 (100.0 -100.0
CUMULATIVE GREENWOOD*S
SURV.Rt2SE  5X STD ERROR
zxzsmzsaszzzzzzzssasassasx
0.0 0.0 ( 0.0 - 0.0
0.0 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ¢ 0.0 - 0.0
CUMULATIVE GREENWOOD'S
SURV.R:t2SE 5% STD ERROR

S=zzsssszz=croczcaagsassxma

100.0 £ 0.0 (100.0 -100.0
100.0 £ 0.0 (100.0 -100.0
100.0 £ 0.0 (100.0 -100.0
0.0 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ¢ 0.0 - 0.0
CUMULATIVE GREENWOOD 'S
SURV.R£2SE 5% STD ERROR
s=zssaasEsEasssIczaEEEEER:
100.0 £ 0.0 (100.0 -100.0
50.0 = 70.7 (120.7 --20.7
50.0 * 70.7 (120.7 --20.7
0.0 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ¢ 0.0 - 0.0
CUMULATIVE GREENWOOD 'S
SURV.Rt2SE 5% STD ERROR
0.0 0.0 ( 0.0 - 0.0
0.0 £+ 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ( 0.0 - 0.0
0.0 £ 0.0 ¢ 0.0 - 0.0
0.0+ 0.0 ¢ 0.0 - 0.0
CUMULATIVE GREENWOOD* S
SURV.Rt2SE 5% STD ERROR
3=zagxazssrszsssEcasssxsxs
0.0 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ( 0.0 - 0.0
6.0 0.0 ¢ 0.0 - 0.0
0.0 x 0.0 ( 0.0 0.0
0.0 £ 0.0 0.0 0.0
CUMULATIVE GREENWOOD 'S
SURV.Rt2SE 5% STD ERROR
s=szsszamszzzzzszsszasEEa:
100.0 £ 0.0 (100.0 -100.0
75.0 £ 43.3 «(118.3 - 31.7
$0.0 = S0.0 (100.0 - 0.0
50.0 = 50.0 (100.0 - 0.0
25.0 + 43.3 ( 68.3 --18.3



6—1

RSN s L
&85
REIN s L
[ 5

1 A F G
B

1 7 A K
=17

3 A A&
il

3 H A&
B 5

FREARAIETFER (24))

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
CBAERVAT BEGINNING INTERVAL FOLLW-UP IN 'ALIVE  SURV.R:2SE 6% STD ERROR
0 -1 78 15 1 0 80.6 + 9.0 ( 89.6 - 71.7
1 -2 62 2 0 0 78.0 £ 9.4 ( 87.5 - 68.6
2 -3 60 7 2 0 68.8 £ 10.6 ( 79.4 - 58.2
3 -4 51 6 2 0 60.5 + 11.3 ( 71.8 - 49.3
4 -5 43 0 0 0 60.5 + 11.3 (¢ 71.8 - 49.3
5 - 43 43
TOTAL 78 30 5 43
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 59 6 0 0 89.8 £ 7.9 ( 97.7 - 82,0
1 -2 53 6 2 0 79.56 £ 10.6 ( 90.0 - 68.9
2 -3 45 7 1 0 67.0 + 12.4 ( 79.4 - 54.5
3 -4 37 3 1 0 61.5 £ 12.9 ( 74.4 - 48.5
4-5 33 1 3 0 59.5 + 13.1 ¢ 72.6 © 46.4
5 - 29 29
TOTAL 59 23 7 29
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R*2SE 5% STD ERROR
0 -1 541 108 0 0 80.0 + 3.4 (83.5- 76.6
- 1 . . .4 - 64.
3% 488 8 i 8 g4 47 t&gd-8gt
3-4 333 19 13 0 60.5 + 4.2 ( 64.7 - 56.2
4a-5 304 12 13 0 58.0 + 4.3 (62.3 - 53.7
5 - 276 276
TOTAL 541 223 42 276
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 362 66 2 0 81,7+ 4.1 (858 - 177.6
1 -2 294 48 3 0 68.3 + 4.9 ( 73.2 - 63.4
2-3 243 36 1 0 58.2 + 5.2 ( 63.4 - 53.0
3-4 206 20 2 0 §2.5 + 5.3 ( 57.8 - 47.2
4 -5 184 14 11 0 48.4 + 5.3 (53.7 - 43.1
5 - 159 159
TOTAL 362 184 19 159
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rf2SE 5% STD ERROR
0 -1 806 126 18 0 84.2 £ 2.6 ( 86.8 - 81.6
1 -2 662 85 6 0 73.3 + 8.1 (76,5 - 70.2
2 -3 571 78 8 0 63.2 + 3.4 (66.7 - 59.8
3-4 485 40 8 0 58.0 + 3.5 (61.5- 54.4
4-5 437 17 29 0 55.7 £+ 3.6 ( 59.2 - 52.1
5 391 391
TOTAL 806 346 69 391
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE  5X STD ERROR
0-1 754 109 7 0 85.5 £ 2.6 (88.0 - 82,9
1 -2 638 94 0 0 72.9 + 3.3 (76.1 - 69.6
2 -3 544 58 5 0 65.1 + 3.5 ( 68.6 - 61.6
3-4 481 46 10 0 58.8 + 3.6 ( 62.4 - 55.2
4-5 425 25 25 0 §5.2 £ 3.7 (58.9 - 51.6
5 - 375 375
TOTAL 754 332 47 37s
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 56X STD ERROR
0-1 594 108 6 0 81.7 £ 3.2 (84.9 - 78.5
1 -2 480 65 10 0 70.5 + 3.8 ( 74.3 - 66.8
2 -3 405 41 14 0 63.3 + 4.0 (67.3 - 69.3
3 -4 350 27 4 0 58.4 £ 4.1 ( 62.5 - 64.3
4 -5 319 17 20 0 65.2'+ 4.2 (59.3 - 51.0
5 - 282 282
TOTAL 594 258 54 282
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 646 106 1 0 83.6 £+ 2.9 ( 86.5 - 80.7
1 -2 539 84 6 0 70.5 £+ 3.6 ( 74.1 - 66.9
2 -3 449 51 10 0 62.4 £+ 3.8 (66.2 - 58.6
3 - 4 388 57 11 0 63.1 + 4.0 ( 57.1 - 49,1
4 - 5§ 320 8 22 0 51.7 £ 4.0 (55,7 -~ 47.7
5 - 290 290
TOTAL 646 306 50 290
YEAR OF ALIVE AT DIED IN. LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 424 65 6 0 84.6 £ 3.5 (88.1 - 81.0
1 -2 353 24 6 0 78.8 + 4.0 ( 82.8 - 74.8
2 -3 323 31 12 0 71.1 £ 4.5 (C 75.5 - 66.6
3 -4 280 17 4 0 66.7 + 4.7 (€ 71.4 - 62.1
4 -5 259 4 12 0 65.7 + 4.7 (€ 70.4 - 61.0
5 - 243 243
TOTAL 424 141 40 243
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  §X STD ERROR
0-1 586 64 4 0 89.0 + 2.6 ( 91.6 - 86.5
1 -2 518 96 4 0 72.5 £+ 3.7 (76.2 - 68.8
2 -3 418 41 7 0 65.3 + 4.0 (69.3 - 61.3
3 -4 370 20 10 0 61.7 + 4.1 ( 65.8 - 57.7
4 -5 340 23 24 0 57.4 + 4.2 (61.6 - 53.2
s - 293 293
TOTAL 586 244 49 293
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTEKVAL FOLLW-UP IN ALIVE SURV. R£2SE  5X STD ERROR
0 -1 167 34 0 0 79.6 £+ 6.2 (859 - 73.4
1 -2 133 27 0 0 63.5 £ 7.5 ( 70.9 - 56.0
2 -3 106 7 0 0 §9.3 t 7.6 (66.9 - 51.7
3 -4 L] 8 1 0 54.5 + 7.7 (62.2 - 46.8
4 -5 90 4 0 0 §2.0 £ 7.7 (59.8 - 44.3
5 - 86 86
TOTAL 167 80 1 86
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 192 26 1 0 86.4 + 5.0 (91.4 - 81.5
1 -2 165 21 0 0 75.4 + 6.2 (81.7 - 69.2
4-5 114 4 6 0 57.6 £+ 7.2 (64.7 - 50.4
5 - 104 104
TOTAL 192 81 7 104
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

] OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 94 17 0 0 81.9 + 7.9 (89.9 - 74.0
1 -2 77 16 2 0 64.7 £ 9.9 ( 74.6 - 54.8
2 -3 59 2 2 0 62.4 + 10.0 (¢ 72.5 - 62.4
3-4 55 1 2 0 61.3 £ 10.1 ¢ 71.4 - 51.2
4-5 52 4 4 0 56.4 £ 10.4 ( 66.8 - 45.9
5 - 44 44 '
TOTAL 94 40 10 44

28D E YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

- OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR

BB 0-1 135 20 0 0 85.2 £ 6.1 (91.3 - 79,1
1 -2 115 16 2 0 73.2 £ 7.6 (80.9 - 65.6
2 -3 97 7 0 0 67.9 + 8.1 (76.0 - 59.9
3-4 90 10 2 0 60.3 £ 8.5 (68.8 - 51.8
4-5 78 8 4 0 54.0 * 8.7 ( 62.7 - 45.3
5 66 66
TOTAL 135 61 8 66

SRAMHANYASIY] YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

P OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR

= 0 -1 49 7 0 0 85.7 + 10.0 ( 85.7 - 75.7
1 -2 42 8 0 0 69.4 + 13.2 ( 82.6 - 56.2
2-3 34 0 2 0 69.4 £ 13.2 ( 82.6 - 56.2
3-4 32 2 0 0 66.1 £ 13.7 (€ 78.8 - 61.4
4-5 30 0 0 0 65.1 £ 13.7 ( 78.8 - 51.4
5 - 30 30
TOTAL 49 17 2 30

JRINHARIAEH  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

2B OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 40 4 2 0 88.7 + 9.7 (99.5 - 80.0
1 -2 34 7 0 0 71.3 + 14.6 ( 85.9 - 66.6
2 -3 27 0 0 0 71.3 £ 14.6 ( 85.9 - 66.6
3 -4 27 6 0 0 56.4 * 16.1 ( 71.5 - 39.3
4-5 21 2 0 0 50.2 £ 16.2 (¢ 66.4 - 33.9
5 - 18 19
TOTAL 40 18 2 19
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 2,521 506 42 0 79.8 = 1.6 (8l.4 - 78.2
1 -2 1,973 274 29 0 68.6 = 1.9 (70.5 - 66.7
2 -3 1,670 173 32 0 61.4 + 2.0 (63.4 - 59.5
3 -4 1,465 112 43 o] 56.7 r 2.0 (58.7 - 54.7
4 -5 1,310 60 S0 0 54.0 x 2.0 (56.0 - 51.8
5 - 1,160 1,160
TOTAL 2,521 1,125 236 1,160
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 2,839 431 48 0 84.7 + 1.4 (86.0 - 83.3
1 -2 2,360 365 18 0 71.5 £ 1.7 (73.2 - 69.8
2-3 1,977 233 27 o] 63.1 = 1.8 (64.9 - 61.2
3 -4 1,717 167 54 o] 56.8 + 1.9 (58.7 - 54.9
4 -5 1,496 103 105 0 52.8 + 1.9 (54.7 - 50.9
5 - 1,288 1,288
TOTAL 2,839 1,289 252 1,288
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 140 12 3 0 91.3 = 4.8 (96.1 - 86.6
1 -2 125 21 0 0 76.0 =+ 7.3 (83.3 - 68.7
2-3 104 11 1 0 67.9 * 8.0 (75.9 - 59.9
3 -4 92 8 2 0 61.9 = 8.3 (70.3 - 53.6
4 -5 82 6 6 0 57.2 £ 8.5 (65.8 - 48.7
5 - 70 70
TOTAL 140 58 12 70
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 94 22 0 0 76.6 * 8.7 (853 - 67.9
1 -2 72 13 0 0 62.8 £ 10.0 ( 72.7 - 52.8
2 -3 59 9 1 0 53.1 + 10.3 ( 63.4 - 42.8
3 -4 43 2 2 0 60.9 * 10.3 ( 61.2 - 40.6
4 -5 45 1 3 0 49.7 £ 10.4 (60.1 - 39.4
5 - 41 41
TOTAL 94 47 6 41
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7—2. BMRECSREOETR (BRFM. 206 BE)

N YEAR OF ALIVE AT DI TH 1y .

B OBSERVAT BEGINNING ThEBRvAL EOPLW-TB YATHREAWE  SHMULATYG: SRR WRok

=5 0 -1 2,491 493 a0 0 80.0 £ 1.6 ( 81.7 - 78.4
1 -2 1.958 269 27 0 69.0 + 1.9 ( 70.8 - 67.1
2-3 1.662 169 32 0 61.9 + 2.0 ( 63.9 - 59.9
3 -4 1,461 11 42 0 57.1 + 2.0 ( 59.1 - 55.1
4-5 1.308 60 89 0 54.4 * 2.0 ( 56.4 - 52.4
5 - 1.159 1,159
TOTAL 2,491 1.102 230 1.159

Hizg YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

o OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R*2SE 5% STD ERROR
0 -1 2,812 416 46 0 85.1 + 1.3 ( 86.4 - 83.7
1 -2 2.350 367 18 0 70.7 £ 1.7 ( 73.5 - 70.0
2-3 1.965 232 27 0 63.2 + 1.8 ( 65.1 - 61.4
3-4 1,706 165 53 0 57.0+ 1.9 ( S8.9 - 85.1
4 -5 1,488 102 107 53.0 + 1.9 ( 54.9 - 51.0
5 - 1.279 1,279
TOTAL 2,812 1.282 251 1.279

2% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

18 OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR

i 0 -1 155 12 4 0 92.2 %t 4.3 ( 96.5 - 87.8
1 -2 139 22 1 0 77.5 * 6.8 ( 84.3 - 70.7
2 -3 116 16 1 0 66.8 * 7.7 ( 74.5 - 59.1
3-4 99 9 2 0 60.6 * 8.0 ( 68.6 - 52.7
4-5 88 6 6 0 56.4 + 8.2 ( 64.5 - 48.2
5 - 76 76
TOTAL 155 65 14 76

2% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR

B 0 -1 100 19 2 0 80.8 + 7.9 ( 88.7 - 72.9
1 -2 79 1 0 0 69.6 + 9.3 ( 78.8 - 60.3
2-3 68 10 1 0 59.3 * 9.9 ( 69.2 - 49.3
3 -4 57 3 2 0 56.1 + 10.1 ( 66.1 - 46.0
4-5 52 2 3 0 53.9 + 10.1 ( 64.0 - 43.7
5 - 47 47
TOTAL 100 45 8 47
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YEAR OF ALIVE AT DIED

IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD" S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  5X STD ERROR
0-1 1,923 303 37 ] 84.1 £+ 1.7 (858 - 82.4
1 -2 1,583 194 22 0 73.7 £ 2.0 €757 - 71.7
2 -3 1,367 126 26 0 66.9 + 2.2 (69.0 - 64.7
3 -4 1,215 91 32 ! 61.8 + 2.3 (64.0 - 59.5
4 -5 1,092 49 79 0 58.9 £+ 2.3 (61.2 - 56.6
5 - 964 964
TOTAL 1,923 763 196 964
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 1,458 83 34 0 94.2 £ 1.2 (955 - 93.0
1 -2 1,342 92 20 0 87.7 £+ 1.7 (89.5 - 86.0
2 -3 1,230 77 24 0 82.2 + 2.0 (B84.2 - 80.2
3 -4 1,129 62 28 0 77.6 £ 2.2 ( 79.8 - 75.4
4 -5 1,039 40 78 0 74.5 + 2.3 (76.9 - 72.2
s - 921 921
TOTAL 1,459 354 184 921
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 2,042 361 39 0 82.2 + 1.7 (83.9 - 80.4
1 -2 1,642 207 22 0 7.7 £ 2.0 (73.7 -69.7
2 -3 1,413 128 30 0 65.2 + 2.1 (67.3 - 63.0
3 -4 1,255 96 32 0 60.1 *. 2.2 ( 62.3 - 57.9
4-5 1,127 51 81 0 57.3 + 2.2 (¢ 59.5 - 55.0
5 - 995 395
TOTAL 2, 042 843 204 935
* * %k
DEHTBRHY) (B - I8E)
) ) (#E05 - RiE
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 209 46 0 0 78.0 + 5.7 (837 -72.3
1 -2 163 31 2 0 6€3.1 + 6.7 (69.8 - 56.4
2 -3 130 24 1 0 51.4 + 6.9 (58.3 - 44.4
3 -4 105 4 4 0 49.4 £ T.0 ( 56.3 - 42.4
4 -5 97 8 6 0 45.2 £ 7.0 (52.2 - 38.2
s - 83 83
TOTAL 209 113 13 83
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  5X STD ERROR
0 -1 128 12 0 ] 90.6 + 5.2 ( 95.8 - B5.5
1 -2 116 14 1 0 79.6 + 7.1 (86.8 - 72.5
2 -3 101 13 1 0 69.3 £ 8.2 (77.5 - 61.2
3 -4 87 4 2 0 66.1 + 8.4 ( 74.5 - 57.7
4 -5 81 5 6 0 61.9 + 8.7 (70.6 - 53.2
5 - 70 70
TOTAL 128 48 10 70
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 214 48 0 0 77.6 £+ 5.7 (83.3 - 71.9
1 -2 166 31 2 0 63.0 £ 6.6 ( 69.6 - 56.4
2 -3 133 24 1 0 51.6 * 6.9 ( 58.4 - 44.7
3 -4 108 4 4 0 49.6 + 6.9 (¢ 56.5 - 42.8
4 -5 100 8 6 ] 45.5 + 6.9 (52.4 - 38,7
5 - 86 86
TOTAL 214 118 13 86
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8 —3. BEtERE (2) OABIBSY (R - IgE)

. YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
YR OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 188 55 3 0 70.5 + 6.7 ¢ 77.2 - 63.8
1-2 130 30 4 0 54.0 £ 7.3 ( 61.3 - 46.6
2-3 96 16 0 0 45.0 + 7.4 (52.4 - 37.6
3-a 80 6 5 0 41.5 & 7.3 ( 48.8 - 34.2
4-5 69 2 5 0 40.3 + 7.3 ( 47.6 - 32.9
5 62 62
TOTAL 188 109 17 62
s B B YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
BRYIBR OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 99 16 1 0 83.8 £ 7.4 (91.2 - 76.3
1 -2 82 15 2 0 68.2 + 9.4 (77.7 - 58.8
2 -3 65 4 0 0 64.0 £ 9.7 ( 73.8 - 54.3
3-a 61 3 4 0 60.8 £ 9.9 ( 70.7 - 50.8
4-5 54 2 4 0 58.5 + 10.1 ( 68.5 - 48.4
5 - 48 a8
TOTAL 99 40 11 a8
PG SIE K] ** YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
0-1 200 60 3 o 69.8 + 6.5 ( 76.3 - 63.3
1-2 137 32 4 0 53.2 £ 7.1 < 60.4 - 46,1
2 -3 101 16 0 0 44.8f 7.1 <51.9 - 37.7
3 -4 85 7 6 0 4.0t 7.1 (48.1 - 33.89
4-5 72 3 5 0 39.2 + 7.1 ( 46.3 - 32.1
5 - 64 64
TOTAL 200 118 18 64
BB H Y (KRB - RE)
8—4. ZTDOOBHEREIERDE xH V) (B - IRz
¥ * YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
1B OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
0-1 a4 17 0 0 61.4 £ 14.7 < 76.0 - 46.7
1 -2 27 2 0 0 56.8 £ 14.9 ( 71.8 - 41.9
2 -3 25 1 0 0 54.5 £ 15.0 ¢ 69.6 - 39,5
3 -4 24 4 1 0 45.3 + 15.1 ¢ 60.3 - 30.2
4-5 19 1 1 0 42.8 + 15.0 (57.8 - 27.8
5 - 17 17
TOTAL 44 25 2 17
YRl g YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
O YR OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 23 3 0 0 87.0 + 14.0 (101.0 - 72.9
1 -2 20 0 0 0 87.0 + 14.0 (101.0 - 72.9
2 -3 20 0 0 0 87.0 £ 14.0 (101.0 - 72.9
3 -4 20 2 1 0 78.0 £ 17.4 € 95.4 - 60.7
4-5 17 0 1 0 78.0 £ 17.4 < 95.4 - 60.7
5 - 16 16
TOTAL 23 5 2 16
o = e | K K YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
AR F 75 OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
0 -1 45 17 0 0 62.2 £ 14.5 ( 76.7 - 47.8
1 -2 28 2 0 0 57.8 £ 14.7 < 72.5 - 43.1
2 -3 26 1 0 0 §5.6 £ 14.8 ¢ 70.4 - 40.7
3-4 25 4 1 0 46.5 + 14.9 C 61.4 - 31.6
-5 20 1 1 0 44.1 + 14.9 (59.0 - 29.2
5 - 18 18
TOTAL 45 25 2 18
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8—5. FFOEHRRS ) (%8B - IR¥E)

TIEeH * YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  SX STD ERROR
0-1 a3 13 0 0 69.8 + 14.0 ¢ 83.8 - 55.8
1 -2 30 1 1 0 43.8 + 15.2 ( 58.0 - 28.5
2-3 18 5 0 0 31.6 + 14.4 (€ 46.0 - 17.2
3-4 13 4 0 0 21.9 + 12.8 € 34.7 - 9.1
4-5 9 0 0 0 21,9 + 12,8 (34.7 - 8.1
5 - 9 3
TOTAL 43 33 1 9
BRI E) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 5 1 0 0 80.0 + 35.8 (115.8 - 44.2
1 -2 " 1 1 0 57.1 + 46.3 (103.5 - 10.8
2-3 2 0 0 0 §7.1 + 46.3 (103.5 - 10.8
3-4 2 0 0 0 §7.1 * 46.3 (103.5 - 10.8
4-5 2 0 0 0 57.1 + 46.3 (103.5 - 10.8
5 - 2 2
TOTAL 5 2 1 2

ﬂﬂiﬁ.m‘-ﬁj** YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR

0-1 46 14 ] 0 69.6 £ 13.6 (83.1 - 56.0
1 -2 32 11 1 0 45.3 + 14.8 ( 60.0 - 30.5
2-3 20 5 0 0 34.0 £ 14.1 ( 48.1 - 19.8
I -4 15 4 0 0 24.9 £ 12.9 (37.8 - 12.0
4 -5 11 0 0 0 24.9 + 2.9 (37.8 - 12.0
5 - 11 11

TOTAL 46 34 1 11

8 —6. ERBEHOESHIIRSY (& - IRE)

t}]p,% J* YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR

4] 1 o] 0 0 0 0.0t 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 ¢ 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
S - 0 ]
TOTAL 0 0 0 0
%ﬁtﬂ&%ﬁ] YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
a7 7N OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0,0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 000 6.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0,0+ 0.0 ¢ 0.0- 0.0
3 -4 ] 0 0 0 000+ 060 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - ] 0
TOTAL 0 0 0 0
%ﬂ%ﬁrm * ¥ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
[ OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 00 ¢ 0.0- 00
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 V] 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 0 0 0
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8—7. AHUIRROEE CETFER (AMRRE L, BB - I5#E)

ke *

IR ERG

NS E ST

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0-1 2,204 259 43 0 88,1 + 1.4 (89.5 - 86.7
1 -2 1,802 265 12 0 75.8 £+ 1.8 (77.7 - 74.0
2-3 1,625 181 24 0 67.3 £+ 2.0 ( 69.3 - 65.3
3 -4 1,420 140 44 0 60.6 £+ 2.1 (62.7 - 68.5
4 -5 1,236 76 92 0 56.7 + 2.2 (58.9 - 54.5
5 ~ 1,068 1,068

TOTAL 2..204 s21 215 1,068
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1,784 93 40 0 94.7 £ 1.1 (95.8 -983.7
1 -2 1,651 164 9 0 85.3 £ 1.7 (87.0 - 83.6
2 -3 1,478 136 20 0 77.4 £ 2.0 (79.4 - 75.4
3 -4 1,322 104 41 0 71.2 £+ 2.2 (173.4 - 69.0
4 -5 1,177 65 87 ] 67.1 £ 2.3 (69.4 - 64.8
5 - 1,025 1,025

TOTAL 1,784 562 197 1,025

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' 3
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 2,353 328 44 0 85.9 ¥ 1.4 (87.3 - 84.4
1 -2 1,980 281 14 0 73.7 + 1.8 (75.5 - 71.8
2-3 1,685 188 25 0 65.4 £+ 2.0 (67.4 - 63.4
3 -4 1,472 144 47 0 58.9 £ 2.1 (60.9 - 56.8
4 -5 1,281 83 95 0 54.9 £+ 2.1 (57.0 - 52.8
5 - 1,103 1,103

TOTAL 2,353 1,025 228 1,103

8—8. BHERE (1)™ 0antviksy (BB - &)

YRR *

Ep S

SAELHF#B

* ok ok fREE, HAE,

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 289 66 1 0 77.1 £ 4.9 (821 -722
1 -2 222 55 2 0 57.9 + 5.8 (63.8 - 52.1
2 -3 165 31 1 0 47.0 £ 5.9 (52.9 - 41.1
3 -4 133 16 3 0 41.3 £ 5.8 (47.1 - 35.5
4 -5 114 8 8 0 38.3 £+ 5.8 (44.1 - 32,5
S - 98 98

TOTAL 289 176 15 98

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 182 28 1 0 84.6 * 5.4 (89.9 -79.2
1 -2 153 27 2 0 69.6 + 6.9 (76.4 - 62.7
2 -3 124 15 1 0 61.1 + 7.3 (68.4 - 53.8
I -4 108 10 1 0 65.4 + 7.4 (62.8 - 48.0
4 -5 97 5 5 0 52.5 + 7.5 (60.0 - 45.0
5 - 87 87

TOTAL 182 85 10 87

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 298 67 1 ] 77.5 £+ 4.8 (82.3 - 72.6
1 -2 230 58 2 0 57.9 £+ 5.7 (63.6 - 52.1
2 -3 170 31 1 0 47.3 £ 5.8 (83.1 - 41.5
3 -4 138 16 3 0 41.7 £ 5.8 (47.5 - 36.0
4 -5 119 8 8 0 38.8 + 5.7 (44.5 - 33.1
5 - 103 103

TOTAL 298 180 15 103

TE, BE, 2, #%
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8—9. BERER (2)™ oUkksdy) (EE - kE)

YIReH > YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
S OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R2SE 5% STD ERROR
0-1 46 9 0 0 80.4 £ 11.7 (€ 92.1 - 68.7
1 -2 a7 9 0 0 60.9 + 14.4 (75.3 - 46.5
2-13 28 s 1 0 49.8 £ 14.8 ( 64.6 - 35.0
3-4 22 2 0 0 45.3 t 14.8 (¢ 60.0 - 30.5
4-5 20 3 1 0 38.3 + 14.5 (52.8 - 23.8
5 - 16 16
TOTAL 46 28 2 16
BRY)ER B YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
= OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
0-1 23 4 0 0 82.6 + 15.8 ( 98.4 - 66.8
1-2 19 4 0 0 65.2 £ 19.9 ( 85.1 - 45.4
2-23 15 0 1 0 65.2 + 19.9 ( 85.1 - 45.4
3-4 14 1 0 0 60.6 + 20.5 ( 81.1 - 40.0
4-5 13 2 0 0 51.2 ¢ 21.2 (72.4 - 30.1
5 - 11 11
TOTAL 23 11 1 1
P4 SYET Y YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rx2SE 5% STD ERROR
0-1 49 9 0 0 81.6 + 11.1 (92.7 - 70.6
1 -2 40 10 0 0 61.2 + 13.9 (751 - 47.3
2-3 30 5 1 0 50.8 + 14.3 ( 65.2 - 36.5
3-4 24 2 0 0 46.6 + 14.3 ( 60.9 - 32.3
4-5 22 3 1 0 40.1 £ 14.2 (54,3 - 25.9
5 - 18 18
TOTAL 43 29 2 18

8 —10. ZDEDOBHEEBDOEHTRRH ) (BB - IRE)

e

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 1 0 0 0 100.0 + 0.0 <(100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 1 0 0 0 100.0 £ 0.0 <(100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
@%{mg}%@] YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
: OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 1 0 0 o 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2-3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3-4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 1 0 o ] 100.0 £ 0.0 (100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
R * Xk
ﬂﬂ%ﬁ{]ﬁ@“ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 2 1 0 ] 50.0 £ 70.7 (120.7 --20.7
1 -2 1 0 (] 0 50.0 + 70.7 (€120.7 --20.7
2-3 1 0 0 (] §0.0 + 70.7 (120.7 --20.7
3 -4 1 0 0 0 50.0 £ 70.7 <(120.7 --20.7
4-5 1 0 0 ] 50.0 £ 70.7 (120.7 --20.7
5 - 1 1
TOTAL 2 1 0 1

*x *xRE, B, K NMB +EEBonwshnr 1L
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8 —11. HOEHMIREH Y (EES - IRRE)

g * YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

R OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0 -1 20 4 0 0 80.0 + 17.9 ¢ 97.9 - 62.1
1 -2 16 6 0 0 50.0 + 22.4 ¢ 72.4 - 27.6
2-3 10 5 1 0 23.7 £ 19.4 € 43.0 - 4.3
3 -4 4 2 0 0 11.8 + 15.3 ¢ 271 - -3.5
1-5 2 0 0 0 11.8 £ 15.3 ¢ 27.1 - -3.5
5 - 2 2
TOTAL 20 17 1 2

. YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

BRI OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 0 0 0 0 0.0t 0.0 ¢ 0.0- 0.0
-2 0 0 0 0 0.0%f 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0t 0,0 ¢ 0.6- 0.0
3 -4 0 0 0 0 000 00 ¢ 0.0- 0.0
i-5 0 0 0 0 000t 0,0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 0 0 0

PRSES ) ¥* YEAR OF ALIVE AT DIED IN LOST T0 WITHDRAWN  CUMULATIVE  GREENWOOD'S

0g OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
0-1 22 5 0 0 77.3 £ 17.9 € 95.1 - 59.4
1 -2 17 6 0 0 50.0 £ 21.3 ¢ 71.3 - 28.7
2 -3 1 6 1 0 21,4 £ 17.8 € 39,2 - 3.6
3-4 4 2 0 0 10,7 + 13,9 ¢ 24.6 - -3.2
-5 2 0 0 0 10,7 + 13,9 ¢ 24.6 - -3.2
5 - 2 2
TOTAL 22 19 1 2
=fRtBEn D S H YRR H i3 - IRiE)
8 —12. =RBEDS R V) . BRI
* YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

tERA OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 0 0 0 0 0.0£ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 4] 4] 0.0 0.0 ¢ 0.0 - 0.0
2-3 0 0 0 0 0.0t 0.0 ¢ 0.0 - 0.0
3-4 0 0 0 0 000t 0.0 ¢ 0.0- 0.0
i-5 0 0 0 0 ot 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 0 0 0

™ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S

BRI ERG OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 0 o 0 0 0.0 £ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 0.0t 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 00t 0.0 ¢ 0.0- 0.0
3-a 0 0 0 0 000t 0.0 ¢ 0.0~ 0.0
i-5 0 0 0 0 000t 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 0 0 1]

SLELEHFH] ¥ ¥ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0 -1 0 0 0 0 0.0 00 ¢ 0.0- 0.0
| -2 0 0 0 0 000t 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 00t 00 ¢ 0.0- 0.0
3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
i-5 0 0 0 0 00t 0.0 ¢ 0.0~ 0.0
5 - 0 0
TOTAL 0 0 0 0
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9—1. AW,0WIC L 2%HFE(C,A,T,D,S AEURRE.EE)

AW<b5cm
and
OW<5cm

AW <5cm
and
OW<10cm

AW <5cm
and
OW>=10cm

AW <5cm
and
OW 7AHd

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' 8
OBSERVAT BEGINNING TINTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 36 4 3 0 88.4 = 10.9 (998.3 - 77.5
1 -2 29 4 0 0 76.2 = 14.7 ( 90.9 - 61.6
2 -3 25 1 0 0 73.2 = 15,3 (88.5 - 57.8
3 -4 24 2 0 0 67.1 + 16.3 ( 83.4 - 50.8
4 -5 22 3 1 0 57.7 £ 17.2 ( 74.9 - 40.5
5 - 18 18

TOTAL 36 14 4 18

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 63 8 0 0 84.9 £ 9.8 (94.7 - 75.1
1 -2 45 5 2 0 75.3 = 11.9 (87.2 - 63.3
2-3 38 3 1 0 69.2 £ 12.8 (82.1 - 56.4
3 -4 34 1 1 0 67.2 = 13.1 (80.3 ~ 54.1
4 -5 32 0 1 0 67.2 £ 13.1 (80.3 - 54,1
5 - 31 31

TOTAL 53 17 5 31

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 5% STD ERROR
0 1 76 6 0 0 92.1 £+ 6.2 (98.3 - 85.9
1 -2 70 8 4 0 81.3 £+ 9.0 (90.3-722
2 -3 58 5 1 0 74.2 = 10.2 (84.4 - 64.0
3 -4 52 5 4 0 66.8 = 11.1 ( 77.9 - 65.6
4 -5 43 1 S 0 65.1 £ 11.4 (76.5 - 53.8
5 - 37 37

TOTAL 76 25 14 37
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 6 2 0 0 66.7 = 38.5 (105.2 - 28.2
1 -2 4 0 0 0 66.7 + 38.5 (105.2 - 28.2
2 -3 4 0 0 0 66.7 £ 38.5 (105.2 - 28.2
3 -4 4 0 0 0 66.7 £ 38.5 (105.2 - 28.2
4 -5 4 0 2 0 66.7 + 38.5 (106.2 - 28,2
5 - 2 2

TOTAL 6 2 2 2
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9 — 2.AW,0WIC & B247FE(C,A,T,D,S JARYIRRG. ARE)

AW<10cm
and
OW<5cm

AW<10cm
and
OW<10cm

AW<10cm
and
OW>=10cm

AW<10cm
and

oW R

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIV GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 1 25 2 0 0 92.0 £ 10.9 (102.9 - 81.1
1 -2 23 1 0 0 88.0 + 13.0 (101.0 - 75.0
2-3 22 1 1 0 83.9 + 14.7 (98,7 - 68.2
3 -4 20 0 0 0 83.9 + 14,7 (98.7 - 69.2
4 -5 20 0 1 0 83.9 £ 14,7 (98.7 - 69.2
6 - 19 19

TOTAL 25 4 2 19

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 166 13 8 0 92.0 + 4.3 (96.2 - 87.7
1 -2 145 14 1 0 83.1 + 5.9 (89.0-77.1
2 -3 130 9 6 0 77.2 £ 6.7 (83.9 - 170.6
3 -4 115 7 3 0 72.4 £ 7.2 (79.6 - 65.2
4 - 5 105 6 6 0 68.2 + 7.6 ( 75.7 - 60.6
5 - 93 93

TOTAL 166 49 24 93

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 286 13 7 0 95.4 £ 2.5 (97.8 - 82.8
1 -2 266 24 4 0 86.7 + 4.1 ( 90.8 - 82.7
2 -3 238 19 2 0 79.8 + 4.8 (B4.6 - 74.9
3 -4 217 9 6 0 76.4 £+ 5.1 (81.5 - 713
4 - 5 202 7 17 0 73.7 £ 5.3 (79.0 - 68.3
5 - 178 178

TOTAL 286 72 36 178

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 6 1 0 0 83.3 + 30.4 (113.8 - 52.9
1 -2 5 0 0 0 83.3 + 30.4 (113.8 - b2.9
2 -3 5 0 0 0 83.3 + 30.4 (113.8 - 52.9
3 -4 5 0 0 0 83.3 * 30.4 (13.8 - 62.9
4 -5 5 0 2 0 83.3 = 30.4 (113.8 - 52.9
5 - 3 3

TOTAL 6 1 2 3
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9 — 3. AW,0WIC & B471FR(C,A,T,D,S JARBYIRRAEL 8E)

AW>=10cm YEAR OF ALIVE AT DIED

and
OW<5em

and
OW>10cm

AW>10cn
and
OW>=10cm

and
OW A

IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 23 1 1 0 965.6 £ 8.7 (104.2 - B6.9
1 -2 21 2 1 0 86.2 + 14.8 (101.0 - 71.6
2-3 18 1 0 0 8l1.4 £ 16.8 (98.2 - 64.7
I -4 17 1 ] 0 76.7 £ 18.3 ( 85.0 - 68.3
4 - 6 16 0 0 0 76.7 £ 18.3 ( 85.0 - 68.3
6 - 16 16
TOTAL 23 5 2 16
AW>=10cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 122 7 3 0 94.2 =+ 4.3 (98.5 - 89.9
1 -2 112 9 2 0 86.6 £+ 6.3 (92,8 - 80.3
2 -3 101 4 3 0 83.1 £+ 6.9 (90.0 - 76.2
3 -4 94 3 3 0 80.4 £ 7.3 (87.7 - 73.0
4 -5 88 6 7 0 74.7 £ 8.2 (82.8 - 66.5
5 - 15 75
TOTAL 122 29 18 15
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 639 31 11 0 95.1 £+ 1.7 (96.8 - 93.4
1 -2 597 32 6 0 90.0 =+ 2.4 (92.4 - 87.6
2 -3 559 40 8 0 83.6 £+ 3.0 (86.5 - 80.5
3 -4 511 30 6 0 78.6 + 3.3 (81.9 - 76.3
4 -6 475 15 33 0 76.0 £ 3.4 (79.4 - 72,5
5 - 427 427
TOTAL 639 148 64 427
AW>=10cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 5 0 0 0 100.0 =+ 0.0 (100.0 -100.0
1 -2 5 1 0 0 80.0 £ 35.8 (115.8 - 44.2
2-3 4 0 0 0 80,0 + 36.8 (115.8 - 44.2
3 -4 4 0 0 0 80.0 = 35.8 (115.8 - 44.2
4 -5 4 0 1 0 80.0 = 35.8 (115.8 - 44.2
5 - 3 3
TOTAL 5 1 1 3
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9— 4. AW,0NC & BEHFR(C,A,T,D,S JARYIBRAI. IRE)

AW 7RHY YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
q OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
an
0-1 2 0 0 0 100.0 £ 0.0 <¢100.0 -100.0
OW<5cm 1 -2 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2 -3 2 0 0 0 100.0 £ 0.0 (€100.0 -100,0
3 -4 2 0 0 0 100.0 £ 0.0 (100,0 -100,0
4 -5 2 0 0 0 100.0 £ 0.0 <¢100.0 -100.0
5 - 2 2
TOTAL 2 0 0 2
AW 7<BJ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and 0-1 5 0 o () 100.0 £ 0.0 (€100.0 -100.0
1 -2 5 0 0 0 100.0 + 0.0 (€100.0 -100.0
OW<10cm 2 -3 5 0 0 0 100.0 + 0.0 (€100.0 -100.0
3-4 5 0 0 0 100.0 £+ 0.0 (€100.0 -100.0
4-5 5 0 0 0 100.0 £ 0.0 (€100.0 -100.0
5 - 5 5
TOTAL 5 o 6 5
AW 7<B§ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and 0-1 6 0 0 0 100.0 £ 0.0 (100.0 -100.0
_ 1 -2 6 0 0 0 100.0 £ 0.0 ¢100.0 -100.0
OW>=10cm , -4 6 1 0 0 83.3 + 30,4 (113.8 - 52.9
3 -4 5 0 0 0 83.3 + 30.4 (113.8 - 52.9
4 -5 5 o 0 0 83.3 + 30.4 (113.8 - 62.9
5 - 5 5
TOTAL 6 1 0 6
AW 7<Hj YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and 0 -1 160 17 2 0 89.3 + 4.9 ( 94.2 - B4.4
1 -2 141 12 1 0 81.7 + 6.2 (87.8- 75.5
oW 718 2 -3 128 13 2 0 73.3 + 7.1 ( 80.4 - 66.3
-4 113 3 7 0 7.3+ 7.2 (78.5 - 64.1
4-5 103 3 10 0 69.1 + 7.4 (€ 76.6 - 61.7
5 - 90 90
TOTAL 160 48 22 90
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9—5.AW,0WICL 55EHFR(C,A,T,D,S FEARYIRRGI.I8E)

AW <5cnm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

and 0-1 37 14 0 0 62.2 + 15,9 ¢ 78.1 - 46.2
1 -2 23 3 0 0 37.8 £+ 16.9 ( §53.8 - 21.9
OW <5cm 2 -3 14 5 1 0 23.8 + 14,1 ¢ 38.0 - 8,7
3 -4 8 3 0 0 14.9 + 12,0 ¢ 26,9 - 2.9
4-5 5 0 0 0 14.9 + 12.0 ¢ 26.9 - 2.9

5 - 5 3

TOTAL 37 a1 1 5

AW<5cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR

and

0-1 41 17 0 0 58.5 + 15.4 ( 73.9 - 43.1

OW<10cm 1 -2 24 7 1 0 41.1 + 15.5 ( 56.6 - 25.6
2-3 16 10 0 0 15.4 + 11.5 ¢ 26.9 - 3.9
3-4 6 2 1 0 9.8+ 9.7 (19.5 - 0.1
4-5 3 2 o 0 3.3+ 6.2 ¢ 9.5--3.0
5 - 1 1
TOTAL 41 as 2 1

AW<5cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

and 0 -1 48 23 0 0 52.1 £ 14.4 (66.5 - 37.7
= 1 -2 25 8 1 0 36.1 = 13.8 ( 48.9 - 21.2
OW>=10cn 2 -3 16 3 0 0 28.5 = 13.2 (41.7 - 15.3
3 -4 13 4 1 0 1.4 = 11,7 (¢31.1 - 7.7
4 -5 8 1 0 0 17.0 £ 11.2 (28.1 - 5.8

5 - 7 7

TOTAL 48 39 2 7

AW<5CIH YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR

and 0-1 3 3 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
OW Z:Iﬁ 2-3 4] 0 0 1] 0.0 £ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 3 3 0 0

—116—

[PEVEVER N (VR VRV RVEV]

SRR



9— 6. AW,0WIC & B47FE(C,A,T,D,S FEARYIRREI.RE)

AW<10cm
and

OW<5cm

AW<10cm
and

OW<10cm

AW<10cm
and
OW>=10cm

AW<10cm
and

OW KB

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 24 14 0 0 41.7 £ 20.1 (C61.8 - 21.5
1 -2 10 3 0 0 29,2 £ 18,6 ( 47.7 - 10.6
2 -3 7 4 0 0 12,6 £ 13.6 (26.0 - -1.0
3 -4 3 1 0 0 8,3 + 11.3 (19.6 - -3.0
4 -5 2 1 0 0 4.2+ 8.2 (12,3 - -4.0
5 - 1 1

TOTAL 24 23 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 72 35 2 o] 60.7 £ 11.8 ( 62.6 - 38.8
1 -2 36 14 0 0 30.4 £ 11.0 (41.4 - 19.4
2-3 21 5 0 0 23.2 £ 10.1 (33.3 - 13.1
3 -4 16 3 0 0 18.8 £ 9.4 (28.2- 9.5
4 -5 13 2 0 0 16,9 + 8.8 (24.7 - 7.1
5 - 11 11

TOTAL 72 59 2 11

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 112 52 0 0 63.6 £ 8.4 (63.0 - 44.1
1 -2 60 29 1 0 27.6 + 8.6 (359 - 19.0
2-3 30 8 0 0 20.1 + 7.6 (C27.8 - 12,5
3 -4 22 8 0 0 12,8 £ 6.4 (19.2 - 6.4
4 -5 14 3 1 0 10,0 £ 6.7 (157 - 4.2
6 ~ 10 10

TOTAL 112 100 2 10

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 2 1 0 0 60.0 £ 70.7 (120.7 --20.7
1 -2 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 - 5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 2 2 0 0
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9—7. AW,0WIC & B2%7ER(C,A,T,D,S JFEAKRYIERGI. igE)

AW>=10cm
and
OW<5cn

and
OW<10cm

AW>=10cm YEAR OF ALIVE AT

and
OW>=10cm

AW>=10cn YEAR OF ALIVE AT

and
OW A#

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0-1 11 § 0 0 64.5 £ 30.0 ( 84.6 - 24.5
1 -2 6 0 0 0 564.6 = 30.0 ( B84.6 - 24.5
2-3 6 1 0 0 45.6 = 30.0 ( 75.5 - 15.4
3 -4 6 0 0 0 46.6 + 30.0 ( 75.5 - 15.4
4 -5 6 1 0 0 36.4 £ 29.0 (654 - 7.4
5 - 4 4
TOTAL 11 7 0 4
AW>:]0cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 35 16 0 0 54.3 + 16.8 ( 71.1 - 37.4
1 -2 19 ] 0 0 28.6 + 15.3 ( 43.8 - 13.3
2-13 10 5 1 0 13.5 £ 11.7 (C25.3 - 1.8
I -4 4 1 0 0 10.2 £ 10.6 (20.7 - -0.4
4 -5 3 0 0 0 10.2 = 10.6 (¢ 20.7 - -0.4
5 - 3 3
TOTAL 35 31 1 3
DIED IN LOST TO WITHDRAWN CUMULATIJIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 149 66 1 0 66.6 * 8.2 (63.7 - 47.4
1 -2 82 30 2 0 35.0 £ 7.9 ( 42.8 - 27.1
2-3 50 i8 0 0 22.4 £ 6.9 (28,3 - 16,6
3 -4 32 7 3 0 17.2 £+ 6.3 (23.6 - 10.9
4 -5 22 2 1 o 1.6 + 6.1 (C21.8 - 8.5
5 - 19 19
TOTAL 149 123 7 19
DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 <(100.0 -100.0
1 -2 2 1 0 0 §0.0 + 70.7 (120.7 --20.7
2 -3 1 0 0 0 60.0 £ 70.7 (120.7 --20.7
I -4 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 2 2 0 0
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9—8. AW,0WiC & 34 7F%(C,A,T,D,S JFEABYIRRGIIgE)

AW 7B YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
p OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
an
0-1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
OW<5cm 1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 o 0.0+ 0.0 ¢ 0.0- 0.0
4-5 o 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 0 0 0 )
AW 7RB§ YEAR OF ALIVE AT DIED I[N LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
and
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
OW<10em ;Z3 0 0 0 o 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 ()} () ()
AW ASH§  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
d OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
an
0 -1 2 2 0 0 0.0+ 0.0 ¢ 0.0- 0.0
OW>=10cm 1 - 2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 C 0.0 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 o 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 2 2 0 0
AW A<BH YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
P OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
an
0-1 69 38 1 0 44.5 £ 12.0 ( 56.5 - 32.5
OW 7B 1 -2 30 11 0 0 28.2 + 10.9 (39.1 - 17.3
2-3 19 7 ] () 17.8 £+ 9.3 (27.1 - 8.5
3-4 12 3 1 0 13.2 + 83 (2.4 - 4.9
4 -5 8 1 ] 0 1.6 £ 7.9 (C(19.4 - 3.6
5 - 7 7
TOTAL 69 60 2 7
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9—9. AW, OWIC & B41FE=E (Rs, Ra, Rb, P . AEYIERGI. IRiZ)

AW<2cm
and
OW<5cn

AW<2cm
and
OW<10cm

AW<2cm
and
OW>=10cm

AW<2cm
and
OW 7R

YE8BrvRY BLAYRwIAZ DAERBevAY EBSIw-3B YATMRRAWE  SUHMV-RIDG:  SPSURGR
0-1 32 2 0 0 93.8 + 8.6 (102.3 - 85.2
1 -2 30 1 0 0 90.6 £ 10.3 (100.9 - 80.3
2-3 29 0 0 0 90.6 £ 10.3 (100.9 - 80.3
3-4 29 2 0 0 84.4 £ 12,8 ( 97.2 - 71.5
4-5 27 0 4 0 84.4 £ 12.8 (€ 97.2 - 71.5
5 - 23 23
TOTAL 32 5 4 23

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 17 0 1 0 100.0 £ 0.0 (100.0 -100.0
1 -2 16 1 0 0 93.8 £ 12.1 (105.9 - B1. 6
2-3 15 1 0 0 87.5 = 16.5 (104.0 - 71.0
3-4 14 0 0 0 87.6 + 16,5 (104.0 - 71.0
4-5 14 0 1 0 87.5 + 16.5 (104.0 - 71.0
5 - 13 13
TOTAL 17 2 2 13

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD .ERROR
0-1 105 6 2 0 94.2 £ 4.6 (98.8 - 89.7
1 -2 97 10 0 0 84.6 £ 7.1 (91,6 - 77.4
2 -3 87 7 1 0 77.7 £ 8.2 (85.9 - 69.5
3-4 79 4 5 0 73.6 £ 8.7 (82.3 - 64.9
4-5 70 5 6 0 68.1 £ 9.4 ( 77.5 - 58.8
5 - 59 59
TOTAL 105 32 14 59

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 19 3 1 0 83.8 + 17.1 (100.9 - 66.6
1 -2 15 0 0 0 83.8 £ 17.1 (100.9 - 66.6
2-3 15 0 1 0 83.8 + 17.1 (100.9 - 66.6
3-4 14 3 1 0 65.2 + 23.2 ( 88.3 - 42.0
4-5 10 1 2 0 57.9 £ 24.7 ( 82.6 - 33.2
5 - 7 7
TOTAL 19 7 5 7
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9 —10. AW, OWIC & 347 (Rs, Ra, Rb, P . ARLIEHE. IRE)

AW<3cn YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
d OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:2SE  6X STD ERROR
an
?-; 9 1 2 0 87.5 £ 23.4 (110.9 - 64. 1
- 6 1 o 0 72.9 + 33.0 (105.9 - 39.9
OW<S5cm 2-3 5 o 0 0 72.9 + 33.0 (105.9 - 39.9
3-4 5 0 0 0 72.9 + 33.0 (105.9 - 39.9
4-5 5 1 1 ¢ §6.7 £ 38.4 ( 95.1 - 18.3
5 - 3 3
TOTAL s 3 3 3
AW < 3cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
d OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
an
0-1 26 (] 1 0 100.0 £+ 0.0 (100.0 -100.0
OW<10cm 1 -2 26 5 0 0 80.0 + 16.0 (€ 96.0 - 64.0
2-3 20 4 0 o 64.0 £ 19.2 ( 83.2 - 44.8
3 -4 16 0 0 0 64.0 £ 19.2 ( 83.2 - 44.8
4 -5 16 1 0 0 60.0 £ 19.6 ( 79.6 - 40.4
5 - 16 15
TOTAL 26 10 1 15
AW<3cm  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE GREENWOOD’ S
p OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
an
-1 167 .8 3 0 95.2 +° 3.3 (98.5 - 91.8
OW>=10cm ! - 2 156 14 1 0 86.6 £ 5.3 (9.9 - 81.3
2 -3 141 13 5 0 78.5 + 6.5 ( 84.9 - 72.0
3 -4 123 12 1 0 70.8 £+ 7.2 (78.0 - 63.6
4-5 110 7 5 0 66.2 + 7.5 ( 73.7 - 68.7
5 - 98 98
TOTAL 167 54 15 98
AW<3cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
and 0-1 17 0 0 0 100.0 £+ 0.0 (¢100.0 -100.0
1 -2 17 2 (] 0 88.2 + 15.6 (103.9 - 72.6
oW 78 2-3 15 2 0 0 76.5 + 20.6 (¢ 97.0 - §5.9
3-4 13 1 3 0 69.8 + 22.7 ( 92.5 - 47.1
4-5 9 1 1 0 61.6 + 25.3 ( 86.9 - 36.3
5 - 7 7
TOTAL 17 6 4 7
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9—11. AW, W& B4%7F= (Rs, Ra, Rb, P

AW<5cm
and

OW<5cm

AW<5cm
and
OW<10cm

AW <5cm
and
OW>=10cm

AW <5cm
and

OW  7+H§

A EIRRGI. BRIE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' §
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 18 2 0 0 88.9 + 14.8 (103.7 - 74.1
1 -2 16 3 0 0 72.2 * 21.1 (93.3 - 51.1
2-3 13 0 0 0 72.2 £ 21.1 (93.3 - 51.1
3 -4 13 1 0 0 66.7 £ 22.2 (88.9 - 44.4
4 -5 12 1 0 0 61.1 £ 23.0 (84,1 - 38.1
5 - 11 11

TOTAL 18 7 0 11

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 62 2 5 0 96.6 + 4.7 (101.3 - 92.0
1 -2 556 5 0 0 87.9 £+ 8.6 (96.5 - 79.2
2 -3 50 2 0 0 84.3 + 9.6 (83.9 - 74.7
3 -4 48 3 1 0 79.0 + 10.8 ( 89.8 - 68.2
4 -5 44 1 3 0 77.2 £ 11.2 (88.3 - 66.0
5 - 40 40

TOTAL 62 13 9 40

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 473 27 9 0 94.2 £+ 2.2 (96.4 - 92,1
1 -2 437 47 0 0 84.1 =+ 3.4 <(87.5-80.7
2 -3 390 42 1 0 76.0 £ 4.0 (C79.1 - 71.0
3 -4 347 28 8 1] 68.9 + 4.3 (73.2 - 64.6
4 -5 311 16 20 0 66.2 + 4.4 (68.7 - 60.8
5 275 275

TOTAL 473 160 3s 276
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 28 2 1 0 92.7 + 9.9 (102.6 - 82.8
1 -2 25 3 0 0 8l1.6 £+ 14.9 ( 96.6 - 66.7
2-3 22 1 1 0 77.8 £ 16.0 ( 93.8 - 61.8
3 -4 20 3 1 0 65.8 £ 18.6 ( 84.4 - 47.3
4 -5 16 1 2 0 61.4 £ 19.3 (80.7 - 42.1
5 - 13 13

TOTAL 28 10 5 13
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9—12. AW, OWIC X B4%7E (Rs, Ra, Rb, P . ARKEIREHGI. IS5E)

AW>=5cqn
and
OW<5cn

AW>=5cm
and
OW<10cm

AW>=5cm
and
OW>=10cm

AW>=5cm
and

oW Ay

—123—

YEAR OF ALIVE AT DIED IN LOST TQ WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE SX STD ERROR
0-1 23 3 1 0 86.7 + 14.3 (101.0 - 72.3
1 -2 19 1 1 0 82.0 + 16.3 ( 98.3 - 65.6
2 -3 17 3 0 0 67.5 + 20.3 ( 87.8 - 47.2
3 -4 14 1 0 0 62.7 + 21.0 ¢ 83.7 - 41.7
4-5 13 2 1 0 §2.7 + 21.9 ( 74.6 - 30.8
5 - 10 10

TOTAL 23 10 3 10

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 78 4 4 0 94,7 £ 6.1 (99.9 - 89.6
1 -2 70 5 0 0 88.0 + 7.5 C 95.5 - B80.4
2 -3 65 7 0 0 78.5 + 9.5 (88.0 - 69.0
3-4 58 3 2 0 74.4 £ 10.2 ¢ 84.5 - 64.2
4-5 53 1 3 0 72.9 + 10.4 € 83.3 - 62.6
5 - 49 a9

TOTAL 78 20 9 49

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 708 44 9 0 93.7 + 1.8 ( 95.6 - 91.9
1 -2 652 68 10 0 83.9 + 2.8 (86.7 - 81.1
2 -3 574 46 8 0 771+ 3.2 (80.3 - 73.9
3 -4 520 39 13 0 71.2 + 3.5 (74.7 - 67.8
4-5 468 a2 25 0 66.2 + 3.6 ( 69.9 - 62.6
5 - 411 411

TOTAL 705 229 65 411

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 35 1 1 o 97.1 + 5.7 (102.8 - 91.4
1 -2 33 2 0 0 91.2 + 9.7 (100.9 - 81.5
2-3 31 4 0 0 79.4 + 13.9 ( 93.3 - 65.6
-4 27 0 0 0 79.4 + 13.9 ( 93.3 - 65.6
4-5 27 1 5 0 76.2 + 14.7 ¢ 90.9 - 61.5
5 - 21 21

TOTAL s 8 6 21

(PR R VRVEV] [PEVEVEVEV [CRV VYR
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9—13. AW, OWIC& B47F=x (Rs, Ra, Rb, P

AW ABH
and
OW<5cm

AW 7B
and
OW<10cm

AW B
and
OW>=10cm

AW  ABj
and

OW T

ARG, ARAE)

YEAR OF ALIVE AT DIED IN LOST TQ WITHDRAWN CUMULATIVE GREENWOQD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 8 0 0 0 100.0 + 0.0 (100.0 -100.0
1 -2 8 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2-3 8 2 0 0 75.0 = 30.6 (105.6 — 44.4
3 -4 6 0 0 0 76.0 = 30.6 (106.6 — 44.4
4 -5 6 0 0 0 76.0 £ 30.6 (105.6 - 44.4
5 - 6 6
TOTAL 8 2 0 6

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 5 0 0 0 100.0 £ 0.0 <100.0 -100.0
1 -2 5 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 6 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 5 1 0 0 80.0 + 35.8 (115.8 - 44.2
4 -5 4 0 0 [ 80.0 + 35.8 (115.8 - 44.2
5 - 4 4
TOTAL 5 1 0 4

"YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 45 3 1 0 93.3 + 7.5 (100.8 - 85,7
1 -2 41 7 0 0 77.3 = 12.6 ( 89.9 - 64.7
2 -3 34 3 0 0 70.56 £ 13.7 (84,3 - 56.8
3 4 31 2 0 0 66.0 + 14.3 (80.2 - 51.7
4 -5 29 3 1 0 569.0 £ 14.9 ( 73.9 - 44.2
5 - 25 25
TOTAL 45 18 2 25

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 200 15 2 0 82.6 + 3.7 (96.2 - 88.7
1 -2 183 18 0 0 83.4 £ 5.3 (88.7 - 78.1
2-3 1656 20 4 0 73.1 + 6.3 (79,5 - 66.8
3 -4 141 10 11 0 67.7 £ 6.7 (74.4 - 61.0
4 - 6 120 4 13 0 65.4 * 6.9 (72,2 - 58.5
5 - 103 103
TOTAL 200 67 30 103
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9 —14. AW, OWIC & B4TFEE (Rs, Ra,

AW<2cm
and
OW <5cm

AW<2cm
and
OW<10cm

AW<2cm
and
OW>=10cm

AW <2cm
and

OW  7ABj

Rb, P . FERRUIRRGI. iRfE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 2 0 1 0 100.0 £+ 0.0 <(€100.0 -100.0
1 -2 1 0 0 0 100.0 =+ 0.0 (100.0 -100.0
2 -3 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 C 0.0- 0.0
5 - 0 0

TOTAL 2 1 1 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 65X STD ERROR
0 -1 13 7 0 0 46.2 = 27.7. ( 73.8 - 18.5
1 -2 6 2 0 0 30.8 + 25.6 ( 56.4 - 5.2
2-3 4 1 0 0 23.1 + 23.4 (46.4 - -0.3
3 -4 3 1 1 0 13.8 + 20.0 ( 33.9 - -6.2
4 -5 1 0 0 0 13.8 + 20.0 ( 33.9 - -6.2
5 - 1 1

TOTAL 13 11 1 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 40 17 0 0 §7.5 + 16.6 ( 73.1 - 41.9
1 -2 23 11 0 0 30.0 + 14.5 ( 44.5 - 16.5
2 -3 12 2 0 0 25.0 = 13.7 (38.7 - 11.3
3 -4 10 2 0 0 20.0 = 12.6 (32,6 - 7.4
4 -5 8 0 1 0 20.0 + 12,6 (32.6 - 7.4
5 - 7 7

TOTAL 40 32 1 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 00
4 - 5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 ]
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9 —15. AW, OWIC& 347 (Rs, Ra, Rb, P . FEARYIREHI. 8iE)

AW<3cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
d OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
an
0 -1 3 3 o 0 0.0+ 0.0 ¢ 0.0- 0.0
OW<5cm 1 -2 0 0 0 0 0.0 0.0 ¢ 0.0~ 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0~ 0.0
4-5 0 0 0 0 0,0t 0.0 ¢ 0.0 0.0
5 - 0 0
TOTAL 3 3 0 0
AW<3cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
q OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
an
0-1 8 6 o 0 26.0 £ 30.6 ¢ 66.6 - —6.6
OW< 10cm 1 -2 2 1 0 0 12.6 + 23.4 ¢ 35.9 --10.9
2-3 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0 0.0 ( 0.0- 0.0
5 - 0 0
TOTAL 8 8 o 0
AW <3cn YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
and 0-1 43 21 0 0 6§1.2 £+ 15.2 ¢ 66.4 - 35.9
_ 1 -2 22 6 0 0 37.2 + 14.7 € 52.0 - 22.5
OW>=10cm , -4 16 6 0 0 23.3 + 12.9 ¢ 36.1 - 10.4
3-4 10 4 0 0 14.0 £ 10.6 ( 24.5 - 3.4
4-5 6 2 ° 0 9.3+ 8.9 (18.2- 0.4
5 - 4 4
TOTAL 43 3g 0 4
AW<3cn YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and 0-1 8 5 0 0 37.5 + 34.2 (71.7 - 3.3
A 1 -2 3 1 0 o 25.0 + 30.6 ¢ 56.6 - 5.6
oW 7§ 2 -3 2 0 0 0 25.0 £ 30.6 ¢ 55.6 - —5.6
3 -4 2 0 0 0 25.0 * 30.6 ( 56.6 - 5.6
4 -5 2 0 0 0 25.0 + 30.6 ¢ 55.6 -'—5.6
5 - 2 2
TOTAL 8 6 0 2
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9—16. AW, OWIC & B4%7E=X (Rs, Ra, Rb, P . FEARYIRRGI. ISiE)

AW<5cm YEAR OF ALIVE AT DIED IN LOST TQ WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR

and 0-1 3 1 0 0 66.7 + 54.4 (121.1 - 12.2
W<5 1 -2 2 1 0 0 33.3 * 64.4 ( 87.8 ——21.1
OW<5cm 2 -3 1 0 0 0 33.3 t 64.4 ( 87.8 --21.1
3-4 1 0 0 0 33.3 + 54.4 ( 87.8 ——21I. 1
4-5 1 0 0 0 33.3 + 54.4 ¢ 87.8 —-21.1
5 - 1 1
TOTAL 3 2 0 1
AW<5cnm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and
0-1 20 9 0 0 56.0 + 22.2 ( 77.2 — 32.8
1 -2 11 & 0 0 25.0 + 19.4 ( 44.4 - 5.6
OW<10cm ;-3 5 1 0 0 20,0 £ 17.9 (37.8 - 2.1
3-4 4 1 0 0 15,0 £ 16,0 ¢ 31.0 - -1.0
4-5 3 0 1 0 15.0 £ 16.0 ¢ 81.0 - -1.0
5 - 2 2
TOTAL 20 17 2
AW<5cm  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and 0 -1 112 46 1 0 58.7 £+ 9.3 ( 68.1 - 49.4
- 1 -2 65 32 0 0 20.8 £ 8.7 (38.5 - 21.1
OW>=10cm ; - 3 a3 12 0 0 190t 7.5 (26.4 - 11.5
3-4 21 9 0 0 10.8 + 59 (16.8 - 4.9
4-5 12 2 1 0 9.0+ 55 (14.4 - 3.5
5 - 9 9
TOTAL 112 101 2 9
AW<G5cn  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and 0-1 4 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 4 2 0 0 50.0 £ 50.0 (100.0 - 0.0
OW RB§ 3Z3 2 1 0 0 25.0 + 43.3 ( 68.3 —-18.3
3 -4 1 0 0 0 25.0 + 43.3 ( 68.3 —-18.3
4-5 1 1 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
5 - 0 0
TOTAL 4 4 0 0
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9—17. AW, OWIC L B4TFER(Rs, Ra,

AW>=5cm
and
OW<5cm

AW>=5cn
and
OW<10cm

AW>=5cnm
and
OW>=10cm

AW>=5cm
and
OW 7T

Rb, P. FEARYIBRH. IRi=)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 9 2 1 0 76.5 £ 29.1 (106.6 - 47.4
1 -2 6 4 0 0 26.6 £ 31.0 (566.6 - -5.6
2-3 2 1 0 0 12,7 £ 23.8 (36.5 --11.0
3 -4 1 0 0 0 12.7 + 23.8 (36.5 —-11.C
4 -5 1 0 0 0 12,7 £ 23.8 (36.5 --11.0
5 - 1 1

TOTAL 9 7 1 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 18 8 1 0 64.3 = 23.8 ( 78.1 - 30.5
1 -2 9 2 0 0 42,2 + 23.9 (66.1 - 18.4
2 -3 7 2 0 0 30.2 + 22.3 (562,656 - 7.8
3 -4 5 2 0 0 18.1 + 18.8 (36.9 - -0.7
4 -5 3 1 0 0 12,1 £ 16,9 (28.0 - -3.9
5 - 2 2

TOTAL 18 15 1 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 192 64 0 0 66.7 £+ 6.8 ( 73.5 - 59.9
1 -2 128 56 2 0 37.3 + 7.0 ( 44.3 - 30.3
2 -3 70 23 3 0 24.8 £+ 6.3 (C(31.1-18.5
3 -4 44 14 2 0 16.7 =+ 5.5 (22.2 -11.2
4 -5 28 6 2 0 13.0 + 6.1 (C18.0 - 7.8
5 - 20 20

TOTAL 192 163 9 20

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0 -1 6 1 0 0 83.3 + 30.4 (113.8 - 52.9
1 -2 ] 4 0 0 16.7 + 30.4 ( 47.1 --13.8
2-3 1 1 0 0 0.0 x 0.0 C 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
[ 0 0

TOTAL 6 6 0 0
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9—18. AW, OW(Z & B347F=(Rs, Ra,

Rb, P. FEREYIRROL. BRFE)

AW 7RE  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
and 0-1 1 0 0 0 100.0 £ 0.0 (€100.0 —-100.0
1 -2 1 0 0 0 100.0 £ 0.0 (€100.0 -100.0
OW<5cm 2 -3 1 0 0 0 100.0 £ 0.0 (€100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 1 0 0 0 100.0 + 0.0 <(100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
AW 758§ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
and 0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
OW<10cm 2 -3 0 0 0 o 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 0 0
TOTAL 0 0 0 0
AW 7B  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
d OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
an
0-1 20 8 0 0 60.0 + 21.9 ( 81.9 - 38.1
OW>=10cm ! - 2 12 4 0 0 40.0 * 21.9 ( 61.9 - 18.1
2-3 8 3 0 0 26.0 £ 19.4 ( 44.4 - 5.6
3-4 5 3 0 0 10.0 £ 13.4 ¢ 23.4 - -3.4
4-5 2 0 0 0 10.0 + 13.4 ( 23.4 - -3.4
5 - 2 2
TOTAL 20 18 [ 2
AW 7B VYEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
d
an 0 -1 72 25 0 0 65.3 + 11.2 ( 76.5 — 54.1
H 1 -2 47 16 0 0 43.1 £ 11.7 (¢ 54.7 - 31.4
oW 18 2-3 31 10 2 0 28.7 + 10.7 ¢ 39.4 - 18.0
3-4 19 5 2 0 20.7 + 9.8 ¢ 30.6 - 10.9
4 -5 12 2 2 0 1720 + 9.4 ¢ 26.4 - 7.6
5 - 8 8
TOTAL 72 s8 6 8
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10— 1. #E@RBEEXR (C, A, T, D, S. £fi)

BREE NS

LR

FR LR

o LRRE

KL HEE

ENER Ml A

YEAR OF ALIVE AT

DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 157 a8 5 0 75.4 £+ 6.9 (82.3 - 68.5
1 -2 114 13 2 0 66.7 £ 1.6 ¢ 74.4 - 58.1
2-3 99 6 1 0 62.7+ 7.8 ¢ 70.5 - 54.8
3 -4 92 7 5 0 57.8 £ 8.1 ( 65.8 - 49.7
4 -5 80 [3 12 0 63.9 £+ 8.2 (62,1 - 45.6
5 - 63 63

TOTAL 157 69 25 63

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 130 62 3 0 51.8 + 8.8 ( 60.6 - 42.9
1 -2 65 9 0 0 44.6 + 8.8 (53.4 - 35.8
2 -3 56 4 1 0 41.4 £ 8.7 ¢50.1 - 32.6
3-4 51 5 1 o 373t 8.6 (45.9 - 28.7
4-5 45 1 0 0 36.4 + 8.6 ( 45.0 - 27.9
s - 44 44

TOTAL 130 81 s 44

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 768 174 13 o 77.2 & 3.0 (80.2- 74.1
1 -2 581 117 5 0 61.6+ 3.5 ¢ 651 - 58.0
2 -3 459 61 12 0 3.3 + 3.6 (56.9 - 49.6
3-4 386 31 9 0 48.9 £+ 3.7 (52.6 - 45.3
4-5 346 25 24 0 45.3 + 3.7 ( 48.9 - 41.6
5 - 297 297

TOTAL 768 408 63 297

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1,511 233 20 0 84.5 + 1.9 ( 86.3 - 82.6
1 -2 1,258 141 20 0 74.9t 2.2 (711.2 - 72.7
2 -3 1,097 102 19 0 67.9 + 2.4 (70.3 - 65.5
3 -4 976 69 27 0 63.0 + 2.5 ( 65.6 - 60.5
4-5 880 33 57 0 60.6 £ 2.6 ( 63.2 - 58.0
5 - 790 790

TOTAL 1,511 578 143 790

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD*S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 101 23 4 0o 76.8 + 8.5 (¢ 85.3 - 68.3
1 -2 74 14 2 0 62.0 + 9.9 ( 71.9 - 52.2
2 -3 58 6 0 0 55.6 £ 10.1 ( 65.8 - 45.5
3-4 52 8 2 0 46.9  10.3 ¢ 57.2 - 36.6
4-5 42 0 3 0 46.9 t 10.3 ¢ 57.2 - 36.6
5 - 39 ag

TOTAL 101 51 11 asg

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  5X STD ERROR
0-1 17 8 0 0 52.9 + 24.2 ( 77.2 - 28.7
1 -2 9 4 0 0 29.4 + 22.1 C(61.5- 7.3
2-3 5 1 0 0 23.6 + 20.6 ¢ 44.1 - 3.0
3 -4 4 0 1 0 23.5 + 20.6 ¢ 44.1 - 3.0
4-5 3 0 0 0 23.5 + 20.6 ¢ 44.1 - 3.0
5 - 3 a

TOTAL 17 13 1 3
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¥ LB

R ¥ b B2

AL

BB R

ANVF /AR

EMRGE

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt£2SE 5% STD ERROR
0 -1 2 1 0 0 50.0 £ 70.7 (120.7 --20.7
1 -2 1 0 0 0 50.0 + 70.7 (120.7 --20.7
2 -3 1 0 0 0 50.0 £ 70.7 (120.7 --20.7
3 -4 1 0 1 0 50.0 + 70.7 (120.7 --20.7
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 2 1 1 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 56X STD ERROR
0-1 1 3 0 0 72.7 £ 26.9 € 99.6 - 45.9
1 -2 8 1 0 0 63.6 £ 29.0 ( 92.6 - 34.6
2-3 7 0 0 0 63.6 + 29.0 (€ 92.6 - 34.6
3 -4 7 0 0 0 63.6 £ 29.0 ( 92.6 - 34.6
4-5 7 0 0 0 63.6 £ 29.0 (¢ 92.6 - 34.6
5 - 7 7

TOTAL 11 4 0 7

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE  5X STD ERROR
0-1 3 1 0 0 66.7 £ 54.4 (121.1 - 12.2
1-2 2 0 0 0 66.7 + 54.4 (121.1 = 12.2
2 -3 2 1 0 0 33.3 £ 54.4 ( 87.8 ——21.1
3-4 1 0 0 0 33.3 £ 54.4 ( 87.8 --21.1
4-5 1 0 0 0 33.3 £ 54.4 (¢ 87.8 --21.1
5 - 1 1

TOTAL 3 2 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 0 ) 0 0 0.0 0.0 ¢ 0.0~ 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0t 0.0 ¢ 0.0~ 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 6 1 0 0 83.3 £ 30.4 (113.8 - 52.9
1 -2 5 0 0 0 83.3 £ 30.4 (113.8 - 52.9
2-3 5 1 0 0 66.7 £ 38.5 (105.2 ~ 28.2
3-4 4 0 0 0 66.7 £ 38.5 (106.2 - 28.2
4-5 4 0 2 0 66.7 £ 38.5 (105.2 - 28.2
5 - 2 2

TOTAL 6 2 2 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 C 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0+ 0.0 C 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0
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SRGLIES

RRcLilol

B v

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 56X STD ERROR
0-1 0 0 o o 0.0+ 0.0 ¢ 0.0 - 0.0
1 -2 0 o 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3-4 0 0 0 o 0.0+ 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 o 0 o

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSFRVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 1 ' o 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £+ 0.0 <(100.0 -100.0
2 -3 1 0 0 0 100.0 £+ 0.0 (¢100,0 ~100,0
-4 | 0 0 0 100,01 0.0 00,0 =100, 0
4 -5 1 0 0 0 100,0 £ 0.0 (€100.0 -100.0
5 - 1 1

TOTAL ) 0 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 9 6 0 0 33.3 + 31.4 C(64.8 - 1.9
1 -2 3 1 0 0 22.2 £+ 27.7 (€ 49.9 - -5.5
2 -3 2 0 0 0 22.2 + 27.7 (€ 49.9 - -5.§
13-4 2 0 0 0 22.2 + 27.7 (49.9 - -5.5
4-5 2 0 0 0 22.2 £+ 27.7 (49.9 - -5.5§
5 - 2 2

TOTAL 9 7 0 2
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10— 2. #BEERFIEHEER (C, A, T, D, S. BEUK)

23 N

B {bhsE

o LR

= LARAE

KL R

ENBR AR

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 95 6 5 0 83.5 £ 6.1 (98.6 - 88.4
1 -2 84 3 1 0 90.2 £ 6.2 (86.4 - 83.9
2 -3 80 6 0 0 84.56 £ 7.6 (92,1 -76.9
3 -4 75 4 3 0 79.9 £+ 8.5 (88,4 - 71. 4
4 -5 68 1 10 0 78.7 £+ 8.7 (87.4 - 69.9
5 - 57 57

TOTAL 96 19 19 67

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 58 10 1 0 82.6 £ 10.0 (92.6 - 72.6
1 -2 47 1 0 0 80.9 + 10.4 (91.2 - 70.5
2-3 46 2 1 0 77.3 £ 11.1 (88.4 - 66.2
3 -4 43 4 0 0 70.1 £ 12.2 (82,3 - 57.9
4 -5 39 1 0 0 68.3 £ 12.4 (80.7 - 65.9
5 - 38 38

TOTAL 58 18 2 38

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 476 33 10 0 93.0 £ 2.4 (95.3 - 90.6
1 -2 433 52 3 0 81.8 + 3.6 (85.4 - 78.2
2 -3 378 33 10 0 74.6 £ 4.0 ( 78.6 - 70.5
3 -4 335 20 7 0 70.1 £ 4.3 (74.3 - 65.8
4 -5 308 17 23 ] 66.0 £+ 4.5 (¢ 70.5 - 61.6
5 - 268 268

TOTAL 476 155 53 268
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 1,108 67 19 0 93.9 £ 1.4 (95.3 - 92,5
1 -2 1,022 64 18 0 88.0 + 2.0 (89.9 - B86.0
2-3 840 58 16 0 82.5 + 2.3 (84.8 - 80.2
3 -4 866 41 24 0 78.5 + 2.5 (81.0 - 76.0
4 -5 801 28 56 0 75.7 + 2.6 (78.3 - 73.0
5 - 717 717

TOTAL 1,108 258 133 7117

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 63 4 3 0 93.5 + 6.3 (99.8 - 87.2
1 -2 56 8 2 0 79.9 £ 10.4 (€ 90.3 - 69.5
2 -3 46 3 0 0 74.7 £ 11.3 (86.0 - 63. 4
3 -4 43 6 1 0 64.1 + 12.6 (76.7 - 61.6
4 -5 36 0 3 0 64.1 £ 12.6 (76.7 - 51.6
5 - 33 33

TOTAL 63 21 9 33

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 6 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 6 2 0 0 66.7 £ 38.5 (105.2 - 28.2
2 -3 4 1 0 o] 50.0 + 40.8 (80.8 - 9.2
3 -4 3 0 1 0 50.0 + 40.8 (¢ 90.8 - 8.2
4 -5 2 0 0 0 50.0 + 40.8 (¢ 90.8 - 9.2
5 - 2 2

TOTAL 6 3 1 2
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 3 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 1 0 1 o] 100.0 £ 0.0 (100.0 ~100.0
4 5 0 0 0 0 0,0 £ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 0 1 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 7 2 0 0 71.4 £ 34,1 (106.6 - 37.3
1 -2 ] 0 0 [ 71.4 £ 34.1 (106.6 - 37.3
2-3 5 0 0 0 71.4 + 34.1 (105.6 - 37.3
3 -4 5 0 0 0 71.4 £ 34.1 (105.6 - 37.3
4 -5 5 0 0 0 71.4 £ 34.1 (105.6 - 37.3
5 - 5 5

TOTAL 7 2 0 5

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 o] 100.0 £ 0.0 (100.0 -100.0
2-3 1 0 [ 0 100.0 £ 0.0 (€100.0 -100.0
3 -4 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
4 - 5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
6 - 1 1

TOTAL 1 0 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 ] 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0-1 3 0 0 0 100.0 £ 0.0 <(100.0 -100.0
1 -2 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 3 3 c 0 0 100.0 + 0.0 (100.0 -100.0
3 -4 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 - 5 3 0 2 0 100.0 £+ 0.0 (100.0 -100.0
5 - t 1

TOTAL 3 ] 2 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 o] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 6.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 6% STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3-a 0 0 0 0 0,0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5, - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 0 0 0 0 0.0 0.0 C 0.0- 0.0
1 -2 0 0 0 0 00 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 00 ( 0.0- 0.0
3-4 0 0 0 0 0,0 £ 00 ¢ 0,0- 0.0
4-65 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVEE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 4 2 0 0 50.0 £ 50.0 (100.0 - 0.0
1 -2 2 1 0 0 25.0 £ 43.3 ( 68.3 --18.3
2-3 1 0 0 0 25.0 £ 43.3 ( 68.3 --18.3
3-4 1 0 0 0 25.0 + 43.3 ( 68.3 --18.3
4-5 1 0 0 0 25.0 £ 43.3 ( 68.3 —-18.3
5 - 1 1

TOTAL 4 3 0 1
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YEAR OF ALIVE AT DIED IN LQST TO WITHDRAWN CUMULATIVE GREENWOOD'® §
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 30 14 0 0 53.3 £ 18.2 (71.6 - 36.1
1 -2 16 7 1 0 29.2 + 16.8 ( 46.0 - 12.6
2-23 8 1 0 0 26.6 £ 16.2 ( 41.8 - 9.4
3 -4 7 2 1 0 17.7 £ 14.6 (32.3 - 3.2
4 -5 4 3 0 o 4,4+ 8.6 (12.9 - -4.1
5 - 1 1
TOTAL 30 27 2 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN. CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0-1 55 40 1 0 26.6 £ 12.0 ( 38.6 - 14.6
1 -2 14 8 0 0 11.4 £ 87 (¢20.1 - 2.7
2-3 6 2 0 0 7.6 £ 7.3 (14.9 - 0.3
3 -4 4 1 0 0 5.7+ 6.4 C12.1 - -0.7
4 - 5 3 0 ] 0 6.7+ 6.4 C(12.1 - -0.7
s - 3 3
TOTAL 55 51 1 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 246 122 2 0 60.2 £+ 6.4 (56.6 - 43.8
1 -2 122 59 2 0 26,7 £ 5.6 (31.3 - 20.1
2 -3 61 27 0 0 14.3 £ 4.5 (18.9 - 9.8
3 -4 34 S 2 0 10.4 £ 4.0 (14.4 - 6.5
4 -5 23 6 1 0 7.6 £ 3.5 (C(11.1 - 4.1
5 - 16 16
TOTAL 246 223 16
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6X STD ERROR
0 -1 324 130 1 0 59.8 £+ 6.6 (65.3 - 654.4
1 -2 193 66 2 0 39.3 =+ 5.4 ( 44.7 - 33.8
2 -3 125 42 2 0 26.0 £ 4.9 (30.9 - 21.1
I -4 81 23 3 0 18.4 =+ 4.4 (22.8 - 14.1
4 5 55 5 1 0 16.8 %+ 4.2 (21.0 - 12.6
5 - 49 49
TOTAL 324 266 9 49
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0o -1 33 15 1 0 53.8 = 17.6 ( 71.3 - 36.4
1 -2 17 5 ] 0 38.0 + 17.1 ( 55.2 - 20.9
2 -3 12 3 0 0 28.5 £ 16.0 ( 44.5 - 12,6
3 4 9 2 1 0 21.8 £+ 14.8 (36.6 - 7.0
4 -5 6 (] 0 0 21.8 £ 14.8 (36.6 - 7.0
5 - 6 6
TOTAL 33 25 2 6
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 6 4 0 0 33.3 + 38.5 (71.8 - -6.2
1 -2 2 1 0 0 16,7 £ 30.4 ( 47.1 --13.8
2 -3 1 0 0 0 16.7 £ 30.4 ( 47.1 --13.8
3 -4 1 0 0 0 16.7 £ 30.4 ( 47.1 --13.8
4 -5 1 0 0 0 16.7 = 30.4 ( 47.1 --13.8
S - 1 1
TOTAL 6 5 0 1
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FEF f7§5 YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 000 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 000+ 0.0 ¢ 0.0- 0,0
3 -4 0 0 0 0 0.0t 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 000+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 0 0 0 0
RSESSE b 7Jf YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW~UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0 -1 3 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 3 1 0 0 66.7 + 54.4 (121.1 - 12.2
2-3 2 0 0 0 66.7 + 54.4 Q121.1 - 12.2
3-a 2 0 0 0 66.7 + S4.4 (121.1 - 12.2
1-5 2 0 0 0 66.7 + 54.4 <121.1 - 12.2
5 2 2
TOTAL 3 1 0 2
LR YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
i OBSERVAT BEGINNING INTERVAL ~FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 2 1 0 0 50.0 + 70.7 (120.7 --20.7
1 -2 1 0 0 0 50.0 + 70.7 (120.7 --20.7
2 -3 1 1 0 0 0.0t 0.6 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 000t 0,0 ¢ 0.0~ 0.0
5 - 0 0
TOTAL 2 2 0 0
KL AR YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 000t 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 000t 0.0 ¢ 0.0~ 0.0
1-5 0 0 0 0 000f 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 0 0 0 0
AF ) 4 | YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 a 1 0 0 66.7 + 54.4 C121.1 - 12.2
1 -2 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
2 -3 2 1 4] 0 33.3 £ 54.4 ( 87.8 —--21.1
a- 4 1 0 0 0 33,3 + 54.4 ¢ 87T.8 —-21.1
4 -5 1 0 0 0 33.3 + 54.4 ( B7.8 —-21.1
5 - 1 1
TOTAL 3 2 0 1
FEpLE(nff YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
S OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 0.0t 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3-4 0 0 0 0 000t 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0t 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 0 0 0 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE  6X STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 000 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
ONSFRVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 6% STD FRROR
0-1 0 0 0 o 0.0£ 0.0 ¢ 0.0- 0.Q
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0 - 0,0
9~ 4 0 0 0 0 0.01 00 ¢ 0,0~ 0.0
4-5 0 0 0 0 0.0+ 0.0 C 0.0 =- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 6% STD ERROR
0 -1 3 2 0 0 33.3 + 54.4 ( 87.8 —-21.1
1 -2 1 0 0 0 33.3 + 54.4 ¢ 87.8 --21.1
2-3 1 0 0 0 33.3 + 54.4 ( 87.8 --21.1
3-4 1 0 0 0 33.3 + 54.4 ( 87.8 —-21.1
4-5 1 0 0 0 33.3 + 54.4 ( 87.8 --21.1
5 - 1 1

TOTAL 3 2 0 1
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DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 136 34 1 0 74.9 ¢+ 7.4 (82.4 - 67.5
1 -2 101 13 0 0 65.3 £+ 8.2 (73.5 - 57.1
2 -3 88 4 2 0 62.3 + 8.3 (70.6 - 63.9
3 -4 82 7 2 0 56,9 + 8.6 ( 65.4 - 48.3
4 -5 73 3 9 0 54.4 £ 8.7 (63.0 - 45.7
5 - 61 61
TOTAL 136 61 14 61
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 65 32 0 0 560.8 + 12.4 (63.2 - 38.4
1 -2 33 14 o] 0 29.2 £ 11.3 (49.5 - 17.9
2 -3 19 4 0 0 23.1 £ 10.5 (33.5 - 12.6
3 -4 15 0 0 0 23.1 £ 10.6 (33.5 - 12.6
4 -5 16 1 1 0 21.56 £ 10.2 (¢31.7 - 11.3
5 - 13 13
TOTAL 65 51 1 13
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 956 155 21 0 83.6 + 2.4 (86.0 - 81.2
1 -2 780 151 3 0 67.4 £+ 3.1 ( 70.5 - 64.3
2 -3 626 85 7 0 58.2 £+ 3.2 (61.4 - 565.0
3 -4 6534 60 18 0 61.5 £+ 3.3 (654.8 - 48.3
4 - 5 456 33 33 0 47.7 £ 3.3 (561.0 - 44.4
5 - 390 390
TOTAL 956 484 82 390
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rx 2SE 6% STD ERROR
0-1 1,615 207 24 0 87.1 *x 1.7 (88.8 - 85.4
1 -2 1,384 175 13 0 76.0 £ 2.1 (78.2 - 73.9
2-3 1,196 125 18 0 68.0 £ 2.3 (70.4 - 65.7
3 -4 1,053 87 34 0 62.3 £+ 2.4 (64.8 - 59.9
4 -5 932 59 57 0 8.2 + 2.5 (60.7 - 55.7
5 816 816
TOTAL 1,615 653 146 816
YEAR OF ALIVE AT DIED IN LOST TOQO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 78 15 2 [ 80.5 £+ 9.0 (89.5 - 71.56
1 -2 61 12 0 0 64.7 £ 10.9 ( 76.6 - 63.7
2 -3 49 10 o] 0 51.6 £ 11.6 (62,9 - 40.0
3 -4 39 7 1 0 42.1 = 11.4 ( 53.5 - 30.8
4 - 5 31 4 5 0 36.2 = 11.2 (47.4 - 25.0
5§ - 22 22
TOTAL 78 48 8 22
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 10 4 0 0 60.0 = 31.0 (91.0 - 29.0
1 -2 6 3 0 0 30.0 £ 29.0 (59.0 - 1.0
2-3 3 2 0 0 10.0 £ 19.0 (¢ 29.0 - -9.0
3 -4 1 0 0 0 10.0 £ 19.0 (¢ 29.0 - -9.0
4 5 1 4] ] 0 10.0 £ 19.0 (€ 29.0 - -9.0
5 1 1
TOTAL 10 9 0 1
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R _LJZ%E YEAR OF ALIVE AT DIED LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 65X STD ERROR
0-1 7 2 0 0 71.4 £ 34.1 (105.6 - 37.3
1 -2 5 2 0 0 42.9 t 37.4 (80.3 - 6.4
2-3 3 1 0 0 28.6 + 34.1 ( 62.7 - -5.6
3-4 2 1 0 0 14.3 + 26.5 € 40.7 —-12.2
4-5 1 0 0 0 14.3 * 26.5 € 40.7 --12.2
5 - 1 1
TOTAL 7 6 0 1
BRFR L FZ#E YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 11 3 1 0 71.4 £ 27.9 ( 99.3 - 43.5
1 -2 7 1 0 0 61.2 + 30.6 ¢ 91.7 - 30.8
2 -3 6 0 0 0 61.2 £ 30.5 ( 91.7 - 30.8
3 -4 6 1 0 0 51.0 + 31.5 ( B82.5 - 19.5
4-5 5 1 0 0 40.8 * 31.1 (¢ 71.9 - 8.7
5 - 4 4
TOTAL 11 6 1 4
FoLE YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR
0-1 5 2 0 0 60.0 + 43.8 (103.8 - 16.2
1 -2 3 1 0 0 40.0 + 43.8 ( 83.8 - -3.8
2-3 2 0 0 0 40.0 + 43.8 ( 83.8 - -3.8
3 -4 2 1 0 0 20.0 + 35.8 ( 565.8 --15.8
4-5 1 0 0 0 20.0 £ 35.8 ( 55.8 --15.8
5 - 1 1
TOTAL 5 4 0 1
B MMAINE YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 6% STD ERROR
0-1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 + 0.0 (¢100.0 -100.0
2-3 1 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 <100.0 -100. 0
4-5 1 0 0 0 100.0 £ 0.0 <¢100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
#IF ) 4 K YEAR OF ALIVE AT DIED LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE  5X STD ERROR
0-1 13 1 0 0 92.3 + 14.8 (107.1 - 77.5
1 -2 12 3 1 0 68.2 £ 26.3 ( 94.5 - 41.9
2 -3 8 0 0 0 68.2 + 26.3 ¢ 94.5 - 41.9
3 -4 8 0 0 0 68.2 £ 26.3 ( 94.5 - 41.9
4-5 8 0 1 0 68.2 + 26.3 ( 94.5 - 41.9
5 - 7 7
TOTAL 13 4 2 )
HEMHEMmAE YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
0-1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
2 -3 1 1 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 1 1 0 0

—140—

(VR EVEVEY (VR RV [VRVEV VRV [PRCRVREVEV Vo e v

[V RVEVRVEV



SF.?%%%EE YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0-1 0 0 0 ] 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 £ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 6.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

T 3 YFEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
:FT%%%@ ONLIRVAT BIEAINNING  INTERVAL - FOLIW-UP DN ALIVE SURV. R 8510 K% STD FRROR

0 -1 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2-3 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
4 -4 1 0 0 0 100.0 + 0.0 (100,0 -100.0
4 - b 1 1 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 0

E,Et IJ ~ /“1% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
[ 7/ OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 1 1 ()} 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0 0.0
5 - 0 0

TOTAL 1 1 0 0
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10— 5. $A#BERIEFE (Rs, Ra, Rb. ABEYIER)

B NOS YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 76 9 1 0 88.1 + 7.5 ( 95.5 - 80.6
1 -2 66 7 0 0 78.7 t 9.4 (88.2 - 69,3
2 -3 59 1 1 0 77.4 + 9.7 (81.0-67.7
3 -4 57 3 0 0 73.3 £ 10.2 ¢ 83.5 - 63,1
4-5 54 1 6 0 71.8 + 10.4 ¢ 82.3 - 61.5
5 - 47 47
TOTAL 76 21 8 47
{E43{L5% YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 24 3 0 0 87.5 + 13.5 (101.0 - 74.0
1 -2 21 6 0 0 62.5 + 19.8 ¢ 82.3 - 42.7
2 -3 15 2 0 0 54.2 + 20.3 ( 74.5 - 33.8
3 -4 13 0 0 0 54.2 + 20.3 ¢ 74.5 - 33.8
4-5 13 1 1 0 49.8 + 20.5 ¢ 70.3 - 29.4
5 - 11 11
TOTAL 24 12 1 11
Fh4}{LAgHE YEAR OF ALIVE AT DIED 1IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 639 29 19 0 95.4 £ 1.7 (97.1 - 93.7
1 2 591 67 2 0 84.6 t 2.9 ( 87.5 - 81.7
2 -3 522 53 7 0 75.9+ 3.4 (79.4 - 72.5
3 -4 462 43 16 0 68.7 + 3.7 € 72.5 - 65.0
4-5 404 26 28 0 64.3 + 3.9 (68.2 - 60.4
5 - as1 as1
TOTAL 639 217 71 351
E43{LAR%E YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1,278 76 21 0 94.0 £ 1.3 ¢ 95.3 - 92.7
1 -2 1. 181 104 10 0 85.7 £+ 2.0 (¢ 87.7 - 83.7
2 -3 1,067 93 13 0 78.2 + 2.3 ( 80.5 - 75.8
3-4 961 63 31 0 73.0+ 2.5 (75.5 - 70.4
4-5 867 48 55 0 68.8 + 2.7 ( 71.4 - 66, 1
5 - 764 764
TOTAL 1,278 384 130 764
LT YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 53 5 2 0 90.4 + 8.2 ( 98.6 - 82.2
1 -2 46 8 0 0 74.7 + 12.2 ( 86.8 - 62.5
2-3 38 6 0 0 62.9  13.5 ¢ 76.4 - 49.4
3 -4 32 4 0 0 §5.0 + 13.8 C 68.9 - 41.1
4 - 5 28 3 3 4] 48.8 + 14.1 ( 62.9 - 34.7
5 - 22 22
TOTAL 53 26 5 22
EESNIMfE YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 6% STD ERROR
0 -1 5 1 0 0 80.0 + 35.8 (115.8 — 44.2
1 -2 4 1 0 0 60.0 + 43.8 (103.8 - 16.2
2-3 3 2 0 0 20.0 * 35.8 (¢ 55.8 —-15.8
3-4 1 0 0 0 20.0 £ 35.8 ¢ 55.8 --15.8
4-5 1 0 0 0 20.0 + 35.8 (¢ §5.8 ——15.8
5 - 1 1
TOTAL 5 4 0 1
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ESF'J:&{E YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
¥a} OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6X STD ERROR
0 -1 2 1 0 0 60.0 £ 70.7 (120.7 --20.7
1 -2 1 0 0 0 60.0 £ 70.7 (120.7 --20.7
2 -3 1 0 0 0 6§0.0 = 70.7 (120.7 --20.7
3 -4 1 0 0 0 60.0 £ 70.7 <(120.7 --20.7
4 -5 1 0 0 0 60.0 + 70.7 (120.7 --20.7
5 - 1 1
TOTAL 2 1 0 1
ﬂ%%qz_t&ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 -1 8 1 1 0 86.7 + 24.8 (111.5 - 61.8
1 -2 6 0 0 [0} 86.7 + 24.8 (111.5 - 61.8
2 -3 6 0 0 0 86.7 + 24.8 (111.5 - 61.8
3 -4 6 1 0 0 72.2 £ 23.5 (105.7 - 38.7
4 -5 S 1 0 0 67.8 + 37.2 (85,0 - 20.5
5 - 4 4
TOTAL 8 3 1 4
ﬂi%ﬂ:fﬁ; YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE §X STD ERROR
0 1 3 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 3 1 0 0 66.7 £ 54.4 (121.1 - 12.2
2 -3 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
3 -4 2 1 0 0 33.3 £ 54.4 (87.8 —-21.1
4 -5 1 0 0 0 33.3 £ 54.4 (87.8 —--21.1
5 —- 1 1
TOTAL 3 2 0 1
&EEE%H@F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
™ 5 OBSERVAT BEGINNING INTERVAL FOLLW-UP -IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1 0 0 0 100.0 + 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2-3 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 <(100.0 -100.0
4 -5 1 0 0 0 100.0 £ 0.0 (100.0 -100:0
5 - 1 1
TOTAL 1 0 0 1
h )l/‘a“ Vi /f |\° YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 10 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 10 1 1 0 89.5 + 19.8 (109.4 - 69.6
2 -3 8 0 0 0 89.5 + 19.9 (109.4 -°69.6
3 -4 8 0 0 0 89.5 + 19.9 (109.4 - 69.6
4 -5 8 0 1 0 89.5 + 19.9 (109.4 - 69.6
5 - 7 7
TOTAL 10 1 2 7
E‘&%é@ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
e OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 - 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 Y] 0 100.0 £+ 0.0 (100.0 -100.0
2 -3 1 1 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - ] 0
TOTAL 1 1 0 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 o 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
6 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSITRVAT BIFG INN ING INTERVAL 1FOLIW-UP  IN  ALIVE SURV. Rt 25K 6% STD ERROR
0-1 1 0 0 0 100.0 £ 0.0 <(€100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 <(100.0 -100.0
2-3 1 0 0 0 100.0 £ 0.0 (100.0 -100,0
3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -6 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
s - 0 0

TOTAL 1 1 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP “IN ALIVE SURV, R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0,0 ¢ 0.0 0.0
5 - 0 0

TOTAL 0 0 0 0
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10— 6. #EBEFIETFE (Rs, Ra, Rb. FEARLIRR)

B NOS

B LAz

FR oM LARAE

B LR

R

SN )

=0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0= 1 13 6 0 0 53.8 £ 27.7 (81.5 - 26.2
1 -2 7 1 0 0 46.2 + 27.7 (73.8 - 18. 5
2-3 6 0 i 0 46.2 £ 27.7 ( 73.8 - 18.5
3 -4 5 1 1 0 35.9 £ 28.1 (64.0 - 7.8
4 -5 3 0 1 0 35.9 £ 28.1 (64.0 - 7.8
5 - 2 2

TOTAL 13 8 3 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 31 22 0 0 29.0 + 16.3 ( 45.3 - 12.7
1 -2 S 6 0 0 9.7 £ 10.6 (¢ 20.3 - -0.9
2 3 3 2 0 0 3.2+ 6.3 ( 9.6 - -3.1
3 -4 1 0 0 0 3.2+ 6.3 ( 9.6 - -3.1
4 5 1 0 0 0 3.2+ 6.3 ¢ 9.6 - -3.1
5 - 1 1

TOTAL 31 30 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 252 S5 2 0 62.2 £ 6.1 (683 - 56.0
1 -2 165 73 1 0 32.8 £ 5.9 (38.7 - 26.8
2 -3 81 28 4] 0 21.5 + 5.2 (26.7 - 16.2
3 -4 53 15 1 0 15,3 £+ 4.6 (C19.9 - 10.7
4 5 37 6 4 0 1227 £ 4.3 (C17.0 - 8.4
5 - 27 27

TOTAL 252 217 8 27

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. Rx 2SE 5X STD ERROR
0 -1 255 92 2 0 63.8 £ 6.0 (69.8 - 57.7
1 2 161 63 1 0 38.7 £+ 6.1 ( 44.9 - 32.6
2 -3 97 31 4 0 26.1 £ 5.6 (31.7 - 20.5
3 -4 62 22 2 0 16.7 £+ 4.8 (21.5 - 11.9
4 -5 38 7 1 0 13.6 £+ 4.4 (18.0 - 9.1
5 - 30 30

TOTAL 255 215 10 30
YEAR OF ALIVE AT DIED IN LOST .TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 22 8 0 0 63.6 + 20.5 (84.1 - 43.1
1 -2 14 4 0 0 45.5 + 21.2 (66.7 - 24.2
2 -3 10 4 0 0 27.3 £ 18.0 (46.3 - 8.3
3 -4 6 3 1 0 12.4 £ 14.4 (€ 26.8 - -2.0
4 - § 2 1 1 0 4.1 £ 10.7 (C14.8 - -6.6
5 - 0 0

TOTAL 22 20 2 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE §X STD ERROR
0 -1 2 1 0 0 §0.0 £ 70.7 (120.7 --20.7
1 -2 1 1 0 0 6.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 (¢ 0.0- 0.0
3 -4 [ 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 [¢] 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL 2 2 0 0
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FaE L BZf%  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  5§X STD ERROR
0-1 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 3 2 0 0 33.3 = 64.4 ( 87.8 --21.1
2-3 1 0 0 0 33.3 + 54.4 ( 87.8 --21.1
3-4 1 1 0 0 0.0 0.0 C 0.0- 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 3 3 0 0
i L B7 9 YEAR OF ALIVE AT DIED IN LOST "TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 3 2 0 0 33.3 + 54.4 (¢ 87.8 —-21.1
1 -2 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 o 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 o 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 3 3 0 0
R YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
Bt OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+£2SE 5% STD ERROR
0-1 1 1 0 0 0.0£ 00 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 C 0.0- 0.0
2-3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3-4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 1 1 0 0
¥R FCH S, YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 0 0 0 0 0.0 00 ¢ 0.0=- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3-4 0 0 0 0 0.0 0.0 ( 0.0- 0.0
4-5 0 0 0 0 0.0£ 0.0 ¢ 0.0~ 0.0
5 - 0 0
TOTAL 0 0 0 0
HIF ) 4 | YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN ~ CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 K] 1 0 0 66.7 + 54.4 (121.1 - 12,2
1 -2 2 2 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3-4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 3 3 0 0
HEM:-EfafE YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
o OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE  5X STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
2-3 0 0 0 0 0.0£ 0.0 ¢ 0.0~ 0.0
3-4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4-5 0 0 0 0 0.0+ 6.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 0 0 0
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S_FL@%%E YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR

00000
[VRVRVEVEV]

0 -1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- O
2-3 0 0 ] 0 0.0+ 0.0 ¢ 0.0- O
3 -4 0 0 0 [ 0.0+ 0.0 ¢ 0.0 - 0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- O
6 - 0 0

TOTAL 0 0 0 0

_:IZ?E.%%@ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

cococooo
(VR R VEVEV)

ONSERVAT BEGINNING  INTERVAL  IFOLIW=UP IN ALIVE SURV. R 281 6% STD FRROR
BEZTRZET ESTIAZSSE = BEEEERLN sxm -

0 -1 0 0 0 0 0.0 £ 0.0 ¢ 0,.0- 0.
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0 - O
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- O
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- O
5 - 0 0

TOTAL 0 0 0 0

T 1) o oS YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 6% STD ERROR

0 -1 1 1 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0 £,0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
4 -5 0 0 0 0 0.0+ 0,0 ¢ 0.0- 0.0
§ - 0 0

TOTAL 1 1 0 0
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11— 1. Dukes D XERI#BMEEVRI4E 77 (C, A, T, D, S. DukesA)

=50 LARE  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R*2SE 5% STD ERROR
0-1 188 8 0 95.6 £ 3.0 ( 98.6 - 92.6
1-2 171 4 0 93.4 = 3.7 ( 97.1 - 89.7
2-3 164 3 0 91.6 * 4.1 ( 95.8 - 87.5
3-4 160 6 0 88.2 = 4.9 ( 93.0 - 83.3
4-5 150 4 0 85.8 * 5.3 ( 91.0 - 80.5
5 - 138 138
TOTAL 186 25 23 138
[:Pﬁﬂ:ﬂaﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 41 3 2 0 92.56 £+ 8.3 (100.8 - 84,2
1 -2 36 4 0 0 82.2 £ 12.2 (94.4.- 70.0
2-3 32 1 0 0 79.7 £ 12.9 ( 92.5 - 66.8
3 -4 31 2 3 0 74.3 £ 14.1 ( 88.3 - 60.2
4-5 26 4 1 0 62.6 + 16.0 ( 78.6 - 46.6
5 - 21 21
TOTAL a1 14 6 21
{&ﬁ{tﬂﬁﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 4 1 1 0 71.4 = 48.3 (119.7 - 23.1
1 -2 2 0 0 0 71.4 + 48.3 (118.7 - 23,1
2 -3 2 0 0 0 71.4 £ 48.3 (119.7 - 23.1
3 -4 2 1 0 0 35.7 £ 56.0 ( 91.7 --20.3
a-5 1 0 0 0 35.7 £ 56.0 ( 91.7 --20.3
5 - 1 1
TOTAL 4 2 1 1
N YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 a 1 1 0 71.4 + 48.3 (119.7 - 23.1
1 -2 2 o 0 0 71.4 £ 48.3 (119.7 - 23.1
2 -3 2 0 0 0 71.4 £ 48.3 (119.7 - 23.1
3 -4 2 0 0 0 71.4 £ 48.3 (119.7 - 23.1
4 -5 2 0 0 0 71.4 £ 48.3 (118.7 - 23.1
5 - 2 2
TOTAL 4 1 1 2
Eﬂﬁﬂﬂﬂ@ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 000 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 £+ 0.0 ¢ 0.0- 0.0
4 - 5 0 0 0 0 0.0 £+ 0.0 ¢ 0.0 0.0
5 - 0 0
TOTAL 0 0 0 0
Hﬁﬁ NOS YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 15 1 o 0 93.3 £ 12.9 (106.2 - 80.5
1 -2 14 0 1 0 93.3 £+ 12.9 (106.2 - 80.5
2 -3 13 0 0 0 93.3 £ 12.9 (106.2 - 80.5
3 -4 13 0 0 0 93.3 + 12.8 (106.2 - 80.5
4 -5 13 0 1 0 93.3 £ 12.9 (106.2 - 80.5
5 - 12 12
TOTAL 15 1 2 12
* 11— 1 ~11- 10D GUISFHE S 25
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Eﬁ{tﬂ;ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:2SE 6% STD ERROR
0-1 524 25 8 0 86.2 + 1.9 (97.1 - 93.3
1 -2 491 26 9 0 80.1 + 2.6 (92.7 - 87.5
2 -3 456 22 7 0 85.7 + 3.1 (88.8 - 82.6
3 -4 427 21 7 0 81.5 + 3.5 (84.9 - 78.0
4 -5 399 10 28 0 7.4 + 3.6 (83,0 - 75.7
5 - 361 361
TOTAL 524 104 59 361
ppﬁ{tﬁﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 5% STD ERROR
0 -1 215 11 4 0 94.'8 + 3.0 (97.9 - 91.8
1 -2 200 20 1 0 85.3 + 4.9 (¢ 90.2 - 80.5
2 -3 179 17 5 0 77.1 + 5.8 (82,9 - 71.3
3 -4 157 5 2 0 74.6 £+ 6.0 (80.7 - 68.6
4 -5 150 8 11 ] 70.5 + 6.4 (76.9 - 64.1
5 - 131 131
TOTAL 218§ 61 23 131
ﬁﬁﬂ:;ﬁﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 5% STD ERROR
0 -1 19 1 0 0 94.7 £ 10.2 (105.0 - 84.5
1 -2 18 ] 0 0 94.7 + 10.2 (105.0 - 84.5
2 -3 18 1 0 0 89.5 + 14.1 (103.6 - 75.4
3 -4 17 1 o 0 84.2 + 16.7 (100.9 - 67.5
4 -5 16 (] 4] 0 84.2 + 16.7 (100.9 - 67.5
5 - 16 16
TOTAL 19 3 0 16
ﬁﬁﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  5X STD ERROR
0-1 24 1 2 0 95.7 + 8.5 (104.2 - 87.1
1 -2 21 3 1 0 81.7 + 16.6 (¢ 98.3 - 65.0
2-3 17 1 o] 0 76.9 + 18.2 ( 95.0 - 58.7
3 -4 16 1 1 0 71.9 £ 19.5 ( 91.4 - 52.4
4 -5 14 ] 1 0 71.9 £ 19.56 (¢ 81.4 - 52.4
5 - 13 13
TOTAL 24 6 [ 13
H]ﬁmﬂa;@ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 2 ] 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 ] 0 0 100,60 £ 0.0 (100.0 -100.0
2 -3 2 0 2} 0 100.0 £ 0.0 (100.0 -100.0
3 -4 2 0 1 0 100.0 £+ 0.0 (¢100.0 -100.0
4 -5 1 0 0 0 100.0 £+ 0.0 <100.0 -100.0
5 - 1 1
TOTAL 2 0 1 1
ﬂ%ﬁ NOS YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 5% STD ERROR
0 -1 49 2 4 0 95.7 + 5.9 (101.6 - 89.9
1 -2 43 3 0 0 89.1 + 9.2 (98.3 - 79.8
2 -3 40 2 0 0 84.6 £ 10.7 (¢ 95.3 - 73.9
3 -4 38 4 2 0 75.5 £ 12.9 (88,3 - 62.6
4 -5 32 1 4 0 72.9 + 13.4 ( 86.3.- 59.6
5 - 27 27
TOTAL 49 12 10 27
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B45{LIR%E  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOQD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 404 31 4 0 92.3 £ 2.7 ( 94.9 - 89.6:)
1 -2 369 a1 8 0 82.0 + 3.9 ( B85.8 - 78.1)
2-3 322 42 9 0 7.1 £ 4.6 €757 - 66.5)
3 -4 271 21 9 0 65.5 £ 4.8 (¢ 70.3 - 60.7 )
4-5 241 16 19 0 61.0 + 5.0 ( 66.0 - 56.0)
5 - 206 206
TOTAL 404 151 47 206

14 LA ~ JEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUNULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 234 30 4 0 87.1 £ 4.4 ( 91.5 - 82.7)
1 -2 200 33 3 0 72.6 + 5.9 ( 78.5 - 66.7)
2 -3 164 17 3 0 65.0 + 6.3 ¢ 71.3 - §8.7 )
3-4 144 14 1 0 58.7 + 6.5 ( 65.2 - 52.1)
4 -5 129 7 10 0 55.3 + 6.6 C 62.0 - 48.7 )
5 ~ 112 112
TOTAL 234 101 21 112
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD 'S

{E57{LBRIE  OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE ERROR
0 -1 40 16 0 0 60.0 £ 15.5 - 44.5 )
1 -2 24 3 0 0 52.5 * 15.8 - 36.7 )
2-3 21 1 1 0 49.9 % 15.8 - 34.1)
3 -4 19 1 1 0 47.2 £ 15.9 - 31.4)
4 -5 17 0 0 0 47.2 £ 15.9 - 31.4)
5 - 17 17
TOTAL 40 21 2 17
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

Lot )
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 35 2 0 0 94.3 + 7.8 (102.1 - 86.4 )
1 -2 33 6 1 0 76.9 + 14.3 ( 81.2 - 62.5 )
2-3 26 2 0 0 71.0 + 16.6 ( 86.5 — 55.5)
3-4 24 4 0 0 59.1 + 16.8 ( 76.0 - 42.3 )
4-5 20 0 2 0 59.1 + 16.8 ( 76.0 - 42.3 )
5 - 18 18
TOTAL as 14 3 18

FIESMIKGE  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
0-1 4 0 0 0 100.0 £ 0.0 (100.0 -100.0 )
1 -2 4 2 0 0 50.0 £ 50.0 (100.0 - 0.0 )
2 -3 2 1 0 0 25.0 + 43.3 ( 68.3 --18.3 )
3-4 1 0 0 0 25.0 + 43.3 ( 68.3 --18.3 )
4-5 1 0 0 0 25.0 + 43.3 ( 68.3 --18.3 )
5 - 1 1 ‘
TOTAL 4 3 0 1

BGRE NOS YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R:2SE 5% STD ERROR
Q-1 26 4 1 0 84.3 + 14.4 (€ 98.7 - 69.9)
1 -2 21 1 0 0 80.3 + 15.8 ( 96.1 - 64.5 )
2-3 20 2 0 0 72.3 + 17.8 ( 90.1 - 54.4 )
3-a 18 0 0 0 72.3 + 17.8 (90,1 - 54.4 )
4-5 18 1 5 0 67.6 + 19.0 ( 86.6 — 48.6 )
5 - 12 12
TOTAL 26 8 6 12
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YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

0 -1
1 -2
2 -3
3 -4
4 -5
5_

TOTAL

YEAR OF ALIVE AT DIED

OBSERVAT BEGINNING

0 -1
1 -2
2 -3
3 -4
4 -5
5_

TOTAL

YEAR OF ALIVE AT
OBSERVAT BEGINNING

0 -1
1 -2
2 -3
3 -4
4 -5
5

TOTAL

YEAR OF ALIVE AT
OBSERVAT BEGINNING

YEAR OF ALIVE AT
OBSERVAT BEGINNING

0 -1
1 -2
2 -3
3 -4
4 -5
5 -

TOTAL

YEAR OF ALIVE AT
OBSERVAT BEGINNING

0 -1
1 -2
2-3
3 -4
4 -5
5 -

TOTAL

IN LOST TO
lNTERVAL FOLLW-UP

145 1
58 2
28 1
15 1

2 0

248 5

IN LOST TO
INTERVAL FOLLW-UP

116 3
52 1
20 0
2
1

DIED IN LOST TO
INTERVAL FOLLW-UP

DIED IN LOST TO
INTERVAL FOLLW-UP

DIED IN LOST TO
INTERVAL FOLLW-UP

DIED IN LOST TO
INTERVAL FOLLW-UP

WI1THDRAWN

IN ALIVE

WITHDRAWN
IN ALIVE

doocooo

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

CUMULATIVE  GREENWOOD'S

SURV.R+2SE 5% STD ERROR
EESESS=SCS=SS=S=S=S=SSESEREEE=S==s=S=ES
49.6 + 5.9 ( 55.5 - 43.7
29.2 + 5.4 ( 34.6 - 23.8
19.2 + 4.7 ( 23.8 - 14.5
13.7 £ 4.1 (17.8 - 9.6
12,9 + 4.0 ( 17.0 - 8.9
CUMULATIVE  GREENWOOD'S

SURV.R£2SE 5% STD ERROR

44.4 £ 6.9 ( 51.2 - 37.5
18.9 + 5.5 ( 24.3 - 13.4
8.9 + 4.0 ( 12.9 - 4.9
5.8+ 3.3 ( 9.1 - 2.5
4.0 £ 2.9 ( 6.8- 1.1
CUMULATIVE  GREENWOOD'S

SURV.R+2SE 5% STD ERROR

19.1 £ 11.5 ( 30.6 - 7.7
7.2 % 7.8 (15.0 - -0.7
4.8+ 6.5 ( 11.3 - -1.7
4.8 + 6.5 ( 11.3 - -1.7
4.8+ 6.5 ( 11.3 - -1.7
CUMULATIVE  GREENWOOD'S

SURV.R*2SE 5% STD ERROR
35.7 + 18.1 ( 53.8 - 17.6
28.6 + 17.1 ( 45.6 - 11.5
21.4 £ 15.5 ( 36.9 - 5.9
14.3 * 13,2 ( 27.5 - 1.1
14.3 £ 18,2 ( 27.5 - 1.1
CUMULATIVE  GREENWOOD'S

SURV.R+2SE 5% STD ERROR
EE=ECCSCTCSZZS=S==S=S=SIZsS=ZsSsE===:sS=
30.0 £ 29.0 ( §9.0 - 1.0
10.0  19.0 ( 29.0 - -9.0
10.0 £ 19.0 ( 29.0 - -9.0
10,0 + 19.0 ( 29.0 - -9.0
10,0 + 19.0 ( 29.0 - -9.0
CUMULATIVE  GREENWOOD'S

SURV.R:2SE 5% STD ERROR

31.6 + 15.1 ( 46.7 - 16.5
18.4 £ 12.6 ( 31.0 - 5.8
18.4 * 12.6 ( 31.0 - 5.8
12.8 + 11.0 ¢ 23.7 - 1.8
6.4 + 8.4 ( 14.8 - -2.0
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YEAR OF ALIVE AT
OBSERVAT BEGINNING

YEAR OF ALIVE AT

OBSERVAT BEGINNING

0 -1
1 -2
2 -3
3 -4
4 -5
5 -

TOTAL

YEAR OF ALIVE AT
OBSERVAT BEGINNING

YEAR OF ALIVE AT
OBSERVAT BEGINNING

0 -1
1 -2
2 -3
3 -4
4 -5
5 -

TOTAL

YEAR OF ALIVE AT
OBSERVAT BEGINNIN

0 -1
1 -2
2 -3
3 -4
4 -5
5 -

TOTAL

YEAR OF ALIVE AT
OBSERVAT BEGINNING

0 -1
1 -2
2 -3
3 -4
4 -5
5 -

TOTAL

DIED IN LOST TO
INTERVAL FOLLW-UP

23 0
12 0
7 0
5 6
1 2
48 8

DIED IN LOST TO WITHDRAWN
IN ALIVE

DIED IN LOST TO WITHDRAWN
IN ALIVE

INTERVAL FOLLW-UP

DIED IN LOST TO
INTERVAL FOLLW-UP

DIED IN LOST TO
INTERVAL FOLLW-UP

DIED IN LOST TO
INTERVAL FOLLW-UP

3 0
4 1
2 1
1 2
1 2
11 6

WITHDRAWN
IN ALIVE

0

0

0

0

0

45

45

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

WITHDRAWN
IN ALIVE

CUMULATIVE GREENWOOD 'S
SURV.R£2SE 5% STD ERROR

77.2 £ 8.3 ( 85.6 - 68.9
65.3 £ 9.5 ( 74.8 - 55.9
58.4 £ 9.8 ( 68.2 - 48.6
53.2 £ 10,0 ( 63.2 - 43.2
52.1 * 10.0 «( 62.1 - 42.0

CUMULATIVE GREENWOOD 'S
SURV.R+2SE 5% STD ERROR

80.6 £ 9.7 «( 90.3 - 70.9
68.7 £ 11.3 ( 80.0 - 57.3
69.3 £ 12.1 ( 71.4 - 47.2
52.6 £ 12.4 ( 65.1 - 40.2
47.4 = 12.6 ( 60.0 - 34.9

CUMULATIVE GREENWOOD 'S
SURV.R+2SE 5% STD ERROR
66.7 £ 22.2 ( 88.9 - 44.4
+ 23.0 ( 84.1 - 38.1
+ 23.4 (79.0 - 32.1
44.4 £ 23.4 ( 67.9 - 21.0
+ 23.0 ( 61.9 - 15.9

CUMULATIVE GREENWOOD 'S
SURV.R£2SE  5X% STD ERROR

SESS=ZSSESESSESI=ZI========
89.5 + 19.9 (109.4 - 69.6
55.9 + 33.1 ( 89.0 - 22.9
44.7 £ 33.2 ( 77.9 - 11.6
32.0 = 32.1 ( 64.0 - -0.1
32.0 * 32.1 ( 64.0 - -0.1

CUMULATIVE GREENWOOD 'S
SURV.R+2SE 5% STD ERROR

CUMULATIVE GREENWOOD 'S
SURV.R:2SE 5% STD ERROR

88.9 £ 12.1 (101.0 -
+ 17.0 ( 90.8 -
+ 18.6 ( 84.4 - 47.2
61.4 £ 19.3 ( 80.7 -
+ 20.2 ( 76.5 - 36.1
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= 9LARME  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 6% STD ERROR

0 -1 353 14 7 0 96.0 £+ 2.1 (98.1 - 93.9
1 -2 332 14 4 0 91.9 £+ 2.9 (94.8 - 89.0
2 -3 314 6 5 0 90.2 + 3.2 (93.4 - 86.9
3 -4 303 7 12 0 88.0 + 3.6 (91.5 ~ 84.5
4 - 5 284 ] 19 0 85.1 £ 3.9 (89.0 - 81,3
5 - 256 256

TOTAL 353 50 47 256

FP%“:H%E YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 117 3 1 0 97.4 £ 2.9 (100.4 - 94.5
1 -2 113 6 0 0 82.3 + 5.0 (897.2 - 87.3
2-3 107 4 1 0 88.8 £ 5.9 (94.6 - 82.9
3 -4 102 2 2 0 8B7.0 £ 6.3 (93,3 - 80.8
4 -5 98 2 5 0 86,2 £+ 6.6 (91.8 - 78.6
5 91 91

TOTAL 117 17 9 91

{&ﬁﬂ:ﬂ%ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ s
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. Rt 2SE 6% STD ERROR

0 -1 3 0 0 [ 100.0 = 0.0 (100.0 -100.0
1 -2 3 0 0 0 100,0 £ 0.0 (100.0 -100.0
2-3 3 1 0 0 66.7 + 64.4 (121.1 - 12,2
3 -4 2 0 0 0 66.7 + 654.4 (121.1 - 12.2
4 -5 2 1 0 0 33.3 + 54.4 (87.8 --21.1
5 - 1 1

TOTAL 3 2 0 1

%ﬁﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 ] 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 5 0 0 0 100.0 £ 0.0 <(€100.0 -100.0
2-3 5 0 0 0 100.0 = 0.0 (100.0 -100.0
3 -4 5 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 5 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 5 5

TOTAL S 0 0 5

Eﬂﬁﬂﬂ’}aﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0-1 0 0 0 o] 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 x 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

H%% NOS YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 16 0 1 0 100.0 £ 0.0 (100.0 -100.0
1 -2 15 0 0 0 100.0 £+ 0.0 (€100.0 -100.0
2 -3 15 1 0 0 93.3 + 12.9 (106.2 - 80.5
3 -4 14 0 0 0 93.3 + 12.9 (106.2 - 80.5
4 - 5 14 0 1 0 93.3 = 12.9 (106.2 - 80.5
s - 13 13

TOTAL 16 1 2 13
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B4 {LAR%E  YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 457 32 6 0 93.0 £+ 2.4 ( 95.4 - 80.5
1 -2 419 a3 4 0 85.6 + 3.3 ( 88.9 - 82.3
2 -3 382 33 9 0 78.1 + 3.9 (82,0 - 74.2
3-4 340 27 11 0 71.8 £ 4.3 C( 76.1 - 61.6
4-5 302 16 11 0 67.9 + 4.5 ( 72.4 - 63.5
5 - 275 275
TOTAL 457 141 41 275
. YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
A3 {LARME  OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 6% STD ERROR
0 -1 221 8 9 0 96.3 £ 2.6 (98,8 - 93.7
1 -2 204 17 1 0 B8.3 + 4.4 ( 92.7 - 83.8
2 -3 186 16 2 0 80.6 £ 5.4 ( 86.1 - 75.2
3 -4 168 12 8 0 74.7 + 6.0 ¢ 80.7 - 68.7
4-5 148 5 13 0 72.1 + 6.2 (78.3 - 65.8
5 - 130 130
TOTAL 221 58 33 130
{4} LAy ~ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 5 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 5 2 0 0 60.0 + 43.8 (103.8 - 16.2
2 -3 3 0 0 0 60.0 + 43.8 (103.8 - 16.2
3 -4 3 0 0 0 60.0 + 43.8 (103.8 - 16.2
4-5 3 0 1 0 60.0 + 43.8 (103.8 - 16.2
5 - 2 2
TOTAL 5 2 1 2
e YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 15 0 1 0 100.0 £ 0.0 (100.0 -100.0
1 -2 14 0 0 0 100.0 + 0.0 (¢100.0 -100.0
2 -3 14 2 0 0 86.7 + 18.7 (104.4 - 67.0
3 -4 12 1 0 0 78.6 + 21.8 (100.5 - 56.6
4 -5 11 1 4 0 69.8 + 25.5 ( 95.4 - 44.3
5 - 6 6
TOTAL 15 4 5 6
= YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
FERMIAIME  OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV. R+2SE 5% STD ERROR
0-1 3 0 0 0 100.0 £ 0.0 <¢100.0 ~100. 0
1 -2 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 3 2 0 0 33.3 t 54.4 € 87.8 -~21.1
3-a 1 0 0 0 33.3 + 54.4 ¢ 87.8 --21.1
4 - 5 1 0 0 0 33.3 + 54.4 ( 87.8 --21.1
5 - 1 1
TOTAL 3 2 0 1
B NOS YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R+2SE 6% STD ERROR
0o-1 25 4 1] 0 84.0 = 14.7 (98.7 - 69.3
1 -2 21 1 0 0 80.0 + 16.0 ¢ 96.0 - 64.0
2 -3 20 0 o 0 80.0 + 16.0 ¢ 96.0 - 64.0
3-4 20 1 0 0 76.0 £+ 17.1 ¢ 93.1 - 58.9
4 - 5 19 0 3 o 76.0 = 17.1 ( 93.1 - 68.9
5 - 16 16
TOTAL 25 6 3 16
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f ¥

NOS

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% 'STD ERROR
o -1 462 47 7 0 89.7 + 2.8 (92.6 - 86.9
1 -2 408 68 2 0 74.8 + 4.1 (78.8 - 70.7
2 -3 338 61 2 0 61.2 * 4.6 ( 65.8 - 56.6
3 -4 2758 30 6 0 54.5 £ 4.7 (59.2 - 49.8
4 - 6 239 28 19 0 47.8 £ 4.7 (52,6 - 43.1
5 - 192 192

TOTAL 462 234 36 192

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 345 31 10 0 90.9 £+ 3.1 (894.0 - 87.8
1 -2 304 61 2 0 72.6 £+ 4.9 (77.5 - 67.7
2 -3 241 43 4 o] 69.5 + 5.4 (64.9 - b4.1
3 -4 194 35 ] 0 48.6 * 5.5 (54.2 - 43.1
4 -5 154 20 11 0 42,1 £ 5.5 ( 47.6 - 36.6
5 - 123 123

TOTAL 345 190 32 123

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 27 7 0 0 74.1 £ 16.9 (90.9 - B7.2
1 -2 20 10 0 0 37.0 = 18.6 ( 565.6 - 18.5
2 -3 10 3 0 0 25.9 + 16.9 ( 42.8 - 9.1
3 -4 7 0 0 0 25.9 + 16.9 ( 42.8 - 9.1
4 - 6§ 7 0 0 0 25.9 £ 16.9 ( 42.8 - 9.1
5 - 7 7

TOTAL 27 20 0 7
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 34 4 1 0 88.1 £ 11,2 (99.3 - 76.9
1 -2 29 8 0 0 63.8 = 16.7 ( 80.5 - 47.0
2 -3 21 4 0 0 51.6 £ 17.4 (69.0 - 34.2
3 -4 17 3 0 0 42.5 £ 17.2 ( 58.7 - 25.3
4 -5 14 2 1 o 36.2 £ 16.8 ( 53.0 - 18.4
5 - 11 11

TOTAL 34 21 2 11
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 3 1 0 0 66.7 £ 54.4 (121.1 - 12.2
1 -2 2 2 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 ] 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 3 3 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 28 4 0 0 85.7 + 13.2 (98.9 - 72.5
1 -2 24 S 0 0 67.9 £ 17.7 ( 85.5 - 50.2
2-3 19 1 1 0 64.2 + 18.2 (82.3 - 46.0
3 -4 17 2 0 0 66.6 £ 18.9 ( 75.5 - 37.7
4 -5 15 1 2 o] 62.6 * 19.2 (71.8 - 33.4
5 - 12 12

TOTAL 28 13 3 12

(S RVRVR R [ORVEVEVRV [CRVEVEVEV [VECEVEVEV] [CRVEVEVEY]

[CRVEVEVEY)



11—29.
= LR

o {LiRAE

BT LAR A

KW

HIZR A R

B NOS

YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

YEAR OF ALIVE AT
OBSERVAT BEGINNING

YEAR OF ALIVE AT
OBSERVAT BEGINNING

YEAR OF ALIVE AT
OBSERVAT BEGINNING

YEAR OF ALIVE AT
OBSERVAT BEGINNING

YEAR OF ALIVE AT
OBSERVAT BEGINNING

INTERVAL FOLLW-UP

89 1
46 0
18 1
17 1

2 0
172 3

DIED IN LOST TO WITHDRAWN

lNTERVAL FOLLW-UP

92 0
53 0
14 0
5 1
2 2
166 3

DIED IN LOST TO WITHDRAWN
INTERVAL FOLLW-UP

22 0
2 0
0 0
0 0
0 0

24 0

DIED IN LOST TO WITHDRAWN

lNTERVAL FOLLW-UP

DIED IN LOST TO WITHDRAWN

INTERVAL FOLLW-UP

DIED IN LOST TO WITHDRAWN

INTERVAL FOLLW-UP

18 0
4 0
0 1
1 1
0 1

23 3

—156—

IN LOST TO WITHDRAWN

Dukes D JERIFE#KEEY RIS 7FE (Rs, Ra, Rb. DukesD)

CUMULATIVE GREENWOOD ‘S
SURV.R:2SE 5% STD ERROR

CUMULATIVE GREENWOOD 'S
SURV.R:t2SE 5% STD ERROR

47.4 £ 7.5 ( 55.0 - 39.9
17.1 £ 5.7 ( 22.8 - 11.4
9.1 £ 4.4 ( 13.5 - 4.8
6.2 £ 3.7 ( 9.9 - 2.5
4.8 £ 3.3 ( 8.1 - 1.5

CUMULATIVE GREENWOOD' S
SURV. Rt2SE 5% STD ERROR

12.0 = l3.0 (25.0 - -1.0
4.0 £ 7.8 (11.8 - -3.8
4.0 £ 7.8 (11.8 - -3.8
4.0 £ 7.8 (11.8 - -3.8
4.0 * 7.8 (11.8 - -3.8

SURV.R*2SE 5% STD ERROR

50.0 £ 25.0 ( 75.0 - 25.0
25.0 £ 21.7 ( 46.7 - 3.3
12.5 £ 16.5 ( 29.0 - -4.0
0.0 0.0 C 0.0- 0.0
6.0 £ 0.0 C 0.0 - 0.0

CUMULATIVE GREENWOOD 'S
SURV.R:2SE 5% STD ERROR

EE=ESEERES=SS========sS3I====
25.0 £ 43.3 ( 68.3 --18.3
0.0 £ 0.0 ¢ 0.0 - 0.0
0.0 £ 0.0 ( 0.0 - 0.0
0.0 £ 0.0 ¢« 0.0 - 0.0
0.0 0.0 ¢ 0.0 - 0.0

CUMULATIVE GREENWOOD 'S
SURV.R:x2SE 5% STD ERROR

33.3 £ 18.1 <« 51.5 - 15.2
18.5 £ 15.0 ( 33.5 - 3.6
18.5 £ 15.0 ( 33.5 - 3.6
13.2 £ 13.9 ( 27.2 - -0.7
13.2 £ 13.9 ( 27.2 - -0.7

—- e e ot — e hadiadiedid

——



11—10. Dukes 2 ¥BRI#ARE B A K (Rs, Ra, Rb. Dukesn3EAEE)

YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

E LR

o (LR

B LR

R

ENER Ml A e

fpxE  NOS

YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

0 -1 5
1 -2 2
2 -3 2
3 -4 2
4 -5 2
5 - 2
TOTAL 5

YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

0 -1 8
1 -2 5.
2 -3 5
3 -4 3
4 -5 1
5 - 0
TOTAL 8

YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

0 -1 0
1 -2 0
2 -3 0
3 -4 0
4 -5 0
5 - 0
TOTAL 0

YEAR OF ALIVE AT DIED
OBSERVAT BEGINNING

IN LOST TO

INTERVAL FOLLW-UP

IN LOST TO

INTERVAL FOLLW-UP

WITHDRAWN
IN ALIVE

0

0

0

0

0

75

75
WITHDRAWN
IN ALIVE

0

0

0

0

0

39

39

IN LOST TO WITHDRAWN

INTERVAL FOLLW-UP

IN ALIVE

IN LOST TO WITHDRAWN

INTERVAL FOLLW-UP

IN ALIVE

IN LOST TO WITHDRAWN

INTERVAL FOLLW-UP

IN ALIVE

IN LOST TO WITHDRAWN

INTERVAL FOLLW-UP

IN ALIVE

CUMULATIVE  GREENWOOD'S

SURV.R+2SE 5% STD ERROR

86.5 + 5.8 ( 92.2 - 80.7
76.3 £ 7.2 ( 83.5 - 69.1
71.2 £ 7.7 ( 78.9 - 63.5
66.7 £ 8.0 ( 74.8 - 58.7
63.5 + 8.3 ( 71.8 - 55.3
CUMULATIVE  GREENWOOD'S

SURV.R*2SE 5% STD ERROR

80.5 * 8.2 ( 88.8 - 72.3
65.3 + 9.9 ( 75.2 - 55.4
56.6 + 10.3 ( 66.9 - 46.3
49.9 + 10.4 ( 60.4 - 39.5
45.3 + 10.4 ( 55.8 - 34.9
CUMULATIVE  GREENWOOD'S

SURV.R+2SE 5% STD ERROR
40.0 + 43.8 ( 83.8 - -3.8
40.0 + 43.8 ( 83.8 - -3.8
40.0 + 43.8 ( 83.8 - -3.8
40.0 * 43.8 ( 83.8 - -3.8
40.0 + 43.8 ( 83.8 - -3.8
CUMULATIVE  GREENWOOD'S

SURV.R£2SE 5% STD ERROR
62.5 + 34.2 ( 96.7 - 28.3
62.5 + 34.2 ( 96.7 - 28.3
37.5 + 34.2 ( 71.7 - 3.3
22.5 + 31.0 ( 53.5 - -8.5
0.0+ 0.0 ¢ 0.0 - 0.0
CUMULATIVE  GREENWOOD'S

SURV.R:2SE 5% STD ERROR

0.0 £ 0.0 ( 0.0 - 0.0
0.0+ 0.0 ¢ 0.0 - 0.0
0.0 + 0.0 ( 0.0 - 0.0
0.0+ 0.0 ¢ 0.0 - 0.0
0.0+ 0.0 ¢ 0.0 - 0.0
CUMULATIVE  GREENWOOD'S

SURV.R+2SE 5% STD ERROR
83.3 + 12.4 ( 95.8 - 70.9
75.0 * 14.4 ( 89.4 - 60.6
69.4 * 15.4 ( 84.8 - 54.1
63.8 £ 16.1 ( 79.8 - 47.7
57.7 £ 16.7 ( 74.4 - 41.0

~ e — o — -~~~ —— e~ [RUININS

—— =



12— 1. ly. vic&B4%EFXR (C,A, T,D,S. v(—).no. IgiE)

ly (=)

ly ANHH

ly (=)

ly (+)

lyA~HH

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE X STD ERROR
0 -1 569 32 17 0 94.3 £ 2.0 (96.3 - 92.3
1 -2 520 35 6 0 87.9 =+ 2.8 ¢ 90.7 - 856. 1
2 -3 479 15 6 0 85.1 £+ 3.0 «(88.2 - 82,1
3 - 4 458 21 11 o] 81.2 £+ 3.3 (84.56 - 77.8
4 - 5 426 16 26 4] 78.2 + 3.6 (81.8 - 74.7
5 - 385 385
TOTAL 569 118 66 385

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 265 30 10 o 88.5 £+ 4.0 (92.4 - 84.5
1 -2 225 16 1) 1] 82.1 £+ 4.8 (86.9 - 77.3
2 -3 204 16 4 1] 76.0 =+ 6.4 ( 81.4 - 70.6
3 -4 185 14 5 0 70.2 £+ 5.8 ( 76.0 - 64.4
4 - 5 166 6 10 1] 67.6 + 6.0 (¢ 73.5 - 61.6
5 - 150 150
TOTAL 265 81 34 150

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOCD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 - 2 3 0 1] 0 100.0 £+ 0.0 <(100.0 -100.0
2-3 3 1 L] 0 66.7 + 54.4 (121.1 - 12,2
3 -4 2 0 0 1] 66.7 £+ 54. 4 121.1 - 12.2
4 - 5 2 (4] 1 0 66.7 £t 54.4 Q21.1 - 12.2
5 - 1 1
TOTAL 3 1 1 1
- S&7 =

12— 2. ly. vic&d4%7FER (C,A, T,D,S. v(+).no. IRfE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 67 6 0 0 91.0 £ 7.0 (98.0 - 84.1
1 -2 61 3 0 0 86.6 + 8.3 (94.9 - 78.2
2 -3 58 7 1 0 76.0 £ 10.5 ( 86.5 - 65.6
3 -4 s0 5 0 0 68.4 + 11.4 ( 79.8 - 57.0
4 -5 45 2 5 0 65.2 £+ 11.7 ( 77.0 - B3.56
5 - 38 38
TOTAL 67 23 6 38

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREFNWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 186 25 k] 0 86.4 ¢ 5.0 C 91.5 - 81.4
1 -2 158 20 1 0 75.5 % 6.4 (81.8 - 69.1
2 -3 137 11 3 0 69.3 £+ 6.8 (76.2 - 62.5
3 -4 123 7 3 o 65.4 ¢ 7.1 ¢ 72.4 - 68.3
4 - 5 113 4 8 0 63.0 £ 7.2 ( 70.2 - 565.7
5 - 101 101
TOTAL 186 67 18 101

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 4 0 o 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 4 1 0 [d] 75.0 £ 43.3 (118.3 - 31.7
2-3 3 0 0 0 75.0 + 43.3 (118.3 - 31.7
3 -4 3 ] 0 1] 75.0 £ 43.3 (118.3 - 31.7
4 -5 3 0 2 0 75.0 + 43.3 (118.3 - 31.7
5 - 1 1
TOTAL 4 1 2 1

[VRVRVEVEV

[VRVEVRVE)

(SRR VR [P RVRVEVEV]

~



12— 3. ly. vic&B34%7HEER (C,A, T,D,S. v(-).n+). IFE)

ly (=)

ly KB

ly (=)

1y A~BA

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:+2SE 5% STD ERROR
0 -1 188 31 2 0 83.4 £ 5.4 (88.9 - 78.0
1 -2 155 21 1 0 72.1 &+ 6.6 (78.7 - 65.5
2-3 133 17 4 0 62.7 £ 7.1 (69.8 - 55.6
3 -4 112 10 4 0 §7.0 £ 7.3 ( 64.4 - 49.7
4-~5 98 4 4 0 54.7+ 7.4 (62.0 - 47.93
5 - 90 30
TOTAL 188 83 15 90
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 290 59 4 0 79.5 + 4.8 (¢ 84.3 - 74.8
1 -2 227 42 3 0 64.7 £ 5.7 (70.4 - 5§9.0
2-3 182 28 5 0 54.6 + 5.9 ( 60.5 — 48.7
3 -4 149 16 2 0 48.7 &+ 6.0 ( 54.7 - 42.7
4 -5 1381 11 11 0 44.4 + 6.0 (50.4 - 38.5
5 - 109 109
TOTAL 290 156 25 109
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 3 1 0 0 66.7 + 64.4 (121.1 - 12.2
1 -2 2 0 0 0 66.7 £ 54.4 (121.1 - 12.2
2 -3 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
3 -4 2 0 0 0 66.7 + 54.4 (121.1 - 12,2
4-5 2 0 ] 0 66.7 + 54.4 (121.1 - 12.2
s - 2 2
TOTAL 3 1 0 2
— va =
12— 4. ly. viC&B2%ETFER (C,A, T,D,S. v(+).n+). BFE)
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 36 7 0 0 80.6 + 13.2 ( 93.7 - 67.4
1 -2 29 4 0 0 69.4 £ 15.4 ( 84.8 - 54.1
2-3 25 2 1 0 63.8 £ 16.1 ( 79.8 - 47.7
3 -4 22 0 ] 0 63.8 £ 16.1 ( 79.8 - 47.7
4-5 22 0 0 0 63.8 £ 16.1 ( 79.8 - 47.7
5 - 22 22
TOTAL a6 13 1 22
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD" S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE  6X STD ERROR
0-1 368 112 4 0 69.4 £ 4.8 (74.2 - 64.6
1 -2 252 72 7 0 49.3 + 6.3 ( 54.6 - 44.0
2 -3 173 32 1 0 40.1 £ 6.2 (€ 45.3 - 35.0
3 -4 140 17 3 0 35.2 . 5.1 ( 40.3 - 30.2
4-5 120 7 11 0 33.1 £ 5.0 (38.1- 281
5 - 102 102
TOTAL 368 240 26 102
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 3 1 0 0 66.7 + 54.4 121.1 - 12.2
1 -2 2 0 0 0 66.7 + 54.4 (121.1 - 12.2
2 -3 2 0 1 0 66.7 + 54.4 (121.1 - 12.2
3 -4 1 0 0 0 66.7 + 54.4 (121.1 - 12.2
4 -5 1 0 0 0 66.7 + 54.4 (121.1 - 12.2
5 - 1 1
TOTAL 3 1 1 1

—159—
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12— 5. ly. vic&24%7FE (Rs,Ra, Rb. v(-).no. &)

ly ( —_ ) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR.

0 -1 6559 36 11 0 93.5 £+ 2.1 (85.6 - 91.4)
1 -2 512 29 7 0 88.2 £+ 2.8 (80.8 - 86.4)
2-3 476 22 7 0 84.1 + 3.1 (87,2 -180.9)
3 -4 447 13 18 0 81.6 £ 3.3 (84.9 -78.2)
4 -5 416 12 22 0 79.1 £ 3.6 (827 -75.6)
5 - 382 382
TOTAL 569 112 66 382

l (+) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

y OBSERVAT BEGINNING INTERVAL FOLIW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 307 17 7 0 94.4% 2.6 (97.0-91.8)
1 -2 283 19 1 0 88.0 £+ 3.7 (91.8 - 84.3)
2-3 263 24 1 0 80.0 £ 4.6 ( 84.6 - 75.4)
3 -4 238 19 4 0 73.6 £ 5.1 (78.7 - 68.5)
4 -5 2186 8 20 0 70.7 £ 5.3 (76,0 - 65.4)
6 - 187 187
TOTAL 307 87 33 187

l Z:ﬂﬂ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

Yy OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE §%X STD ERROR
¢ -1 1 0 0 0 100.0 £ 0.0 <(100.0 -100.0)
1 -2 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0 )
2-3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0)
3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0 )
4 -5 1 [ 1 0 100.0 £ 0.0 (100.0 -100.0)
5 - 0 0
TOTAL 1 0 1 0

12— 6. ly. vic&54%7F% (Rs,Ra,Rb. v(+).no. I£fE)

1 ( — ) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

Yy OBSERVAT BFGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 78 4 0 0 94.9 £ 5.0 (99.9 -89.9)
1 -2 74 10 1 0 82.0 + 8.7 (90.7 -73.2)
2-3 63 4 0 0 76.8 £+ 9.6 (86.4 - 67.2)
3 -4 59 6 2 0 68.8 £ 10.6 ( 79.4 - 68.2)
4 -6 51 4 2 0 63.3 + 11.1 ( 74.4 - 52.2)
5 - 45 45
TOTAL 78 28 5 45

1 (+) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

y OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 211 18 1 0 91.0 £ 4.0 (94.9 - 87.0)
1 -2 191 24 1 0 79.6 £ 6.6 (85.1 - 73.9)
2 -3 166 14 4 0 72.7 £ 6.2 (78.9 ~ 66.6 )
3 -4 148 10 10 0 67.6 £+ 6.5 (74.2 - 61.1)
4 -6 128 14 8 0 60.0 £ 6.9 (66.9 - 53.1)
5 - 106 106
TOTAL 211 81 24 106

l Z:BH YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S

y OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 5 0 0 0 100.0 £ 0.0 (100.0 -100.0 )
1 -2 5 0 0 0 100.0 £ 0.0 (100.0 -100.0)
2 -3 5 [} 1 1] 100.0 £ 0.0 (100.0 -100.0 )}
3 -4 4 1 0 0 75.0 £ 43.3 (118.3 - 31.7
4 -5 3 0 0 0 75.0 £ 43.3 (118.3 - 31.7 !
5 - 3 3
TOTAL S 1 1 3

—160—



12— 7. ly. viC&2%7FE (Rs,Ra, Rb. v(—).n(+). IZE)

ly (=)

ly (+)

ly A

YEAR OF ALIVE AT DIED IN [OST TO WITHDRAWN CUMULATIVE GREENWQOD* S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 177 11 4 0 83.7 £ 3.7 (97.4 - 90.0
1 -2 162 25 0 0 79.3 £+ 6.2 (86.4 - 731
2-3 137 16 1 0 70,0 £ 7.0 (76.9 - 63.0
3 -4 120 12 4 0 62.8 £ 7.4 (70.2 - 865.5
4 -6 104 9 [ 0 67.2 £ 7.6 ( 64.9 - 49.6
5 - 89 89

TOTAL 177 73 15 89

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOQD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 324 47 7 0 86.3 =+ 4.0 (89.3 - 81.4
1 -2 270 71 4 0 62.7 £+ 5.4 (68.2 - 57.3
2-3 185 42 2 0 49.1 £ 5.7 (54.8 - 43.5
3 -4 151 26 3 0 40.6 + 5.6 ( 46.2 - 36.0
4 -5 122 19 8 0 34.1 + 5.4 (39.5 - 28.6
5 - 95 95

TOTAL 324 205 24 95
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -6 [} 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 ] 0

TOTAL 1 1 0 0

12— 8. ly. vic&B%E7FE (Rs,Ra, Rb. v(+).n(+). IRE)

ly (=)

lyARBH

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 47 ] 1 0 80.6 £ 11.6 (82.2 - 69.1
1 -2 37 5 0 0 69.7 £+ 13.5 ( 83.3 - 56.2
2 -3 32 7 0 0 54.56 £ 14.7 (69.2 - 39.8
3 -4 25 6 1 0 41.1 t 14.6 (55.7 - 26.6
4 -5 18 1 1 0 38.8 + 14.5 ( 53.3 - 24.3
5 - 16 16

TOTAL 47 28 3 16

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 436 116 4 0 73.3 £+ 4.2 (77.6 - 69.0
1 -2 16 92 0 0 51.9 + 4.8 (56.7 - 47.1
2 -3 224 53 3 [ 39.6 £ 4.7 (44.3 - 34.9
I -4 168 27 2 0 33.2 £ 4.5 (37.7 - 28.6
4 -5 139 19 16 0 28.4 + 4.4 (32,8 - 24.0
5 - 105 105

TOTAL 436 307 24 105

YEAR OF ALIVE AT DIFD IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 3 1 0 0 66.7 + 54.4 (121.1 - 12,2
1 -2 2 0 0 0 66.7 £ 54.4 (121.1 - 12.2
2-3 2 [} 0 0 66.7 + 54.4 (121.1 - 12.2
3 -4 2 0 0 0 66.7 =+ 64.4 (12).1 - 12,2
4 -5 2 0 0 0 66.7 + 54.4 (121.1 - 12,2
5 ~ 2 2

TOTAL 3 1 0 2

—161—

(SRR R [VRVEVR R

[VEVEVRVEV]

[VRVRURVR) [VRVRVEVRY

[SXVRVEVEY]



12— 9. ly. vic&34%7%FR (C,A, T,D,S. vFm. no. iRiE)

1 (_ ) YEAR OF ALIVE AT DIFED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
y OBSERVAT BEGINNING INTERVAL FOLLW-UP IN, ALIVE SURV.R+2SE  SX STD ERROR
0 -1 8 [ 0 0 100.0 £ 0.0 (¢100.0 -100.0
1 -2 8 0 0 0 100.0 £ 0.0 (100.0 -100.0
2-3 8 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 8 ] 0 0 100.0 £ 0.0 (100.0 -100.0
4-5 8 0 1 0 100.0 £ 0.0 (100.0 -100.0
5 - 7 7
TOTAL 8 0 1 7
1 ( + ) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
y OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R:2SE 5% STD ERROR
0 -1 26 2 ] 0 92.3 + 10.5 (102.8 - 81.9
1 -2 24 1 1 0 88.4 + 12.6 <(101.0 - 75.8
2 -3 22 0 ] 0 88.4 t 12.6 (101.0 - 75.8
3 -4 22 2 4 0 79.5 + 16.4 ( 96.0 - 63.1
4 -5 16 1 0 0 74.6 + 18.2 ( 92.7 - 56.4
s - 15 15
TOTAL 26 6 s 15
lyjﬁﬂﬂ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREFNWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 95 8 0 0 91.6 £ 5.7 (97.3 - 85.9
1 -2 87 9 [} 0 82.1 £+ 7.9 (90.0 - 74.2
2 -3 78 10 1 0 71.5 + 9.3 (80.8 - 62.2
3 -4 67 4 4 0 67.1 £ 9.7 (76.8 - 57.4
4 -5 59 3 3 0 63.6 + 10.0 ( 73.6 - 53.6
5 - 53 53
TOTAL 95 34 8 53

12—10. ly. viC&34%FE (C,A,T,D,S. vA®m. n(+). I25E)

ly (=) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
y OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 a 0 0 0 100.0 = 0.0 (100.0 -100.0
1 -2 3 0 0 0 100.0 + 0.0 (100.0 -100.0
2 -3 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
3-4 3 0 0 0 100.0 + 0.0 (100.0 -100.0
4-5 3 0 1 0 100.0 £ 0.0 (100.0 -100.0
5 - 2 2
TOTAL 3 0 1 2
ly (+) YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
y OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 19 7 0 0 63.2 + 22.1 (853 - 41.0
1 -2 12 3 1 0 46.7 £ 23.1 ( 69.8 - 23.5
2 -3 8 1 0 0 40.8 + 23.0 (63.8 - 17.8
3-4 7 2 1 0 28.3 £ 2.7 (50.0 - 6.5
4 -5 4 1 0 0 21.2 + 20.4 (41.6 - 0.8
5 3 3
TOTAL 19 14 2 3
lyA~HA YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 113 34 0 0 69.9 + 8.6 ( 78.5 - 61.3
1 -2 79 8 1 0 62.8 + 9.1 (71.9-53.7
2-3 70 9 2 0 54.6 + 9.4 (64.0 - 45.2
3-4 59 7 2 o 48.0 £ 9.5 (57.5 - 38.5
4-5 50 2 9 0 45.9 £ 9.5 ( 55.4.- 36.4
5 - 39 39
TOTAL 113 60 14 3s
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12—11. ly. vic& 2%7FE (Rs,Ra, Rb. vF#. no. i§E)

ly (=)

ly R

12—12. ly. viZ&2%FE (Rs,Ra,Rb. vrmg. n(+). IR&E)

ly (=)

ly (+)

lyABq

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 7 1 0 0 85.7 + 26.5 (112.2 - 59.3
1 -2 6 1 0 0 71.4 = 34.1 (105.6 - 37.3
2-3 5 0 0 0 71.4 + 34.1 (105.8 - 37.3
3 -4 5 0 0 0 71.4 £ 34.1 05.6 - 37.3
4 -5 5 0 1 0 71.4 + 34.1 (105.6 - 37.3
5 - 4 4

TOTAL 7 2 1 4
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 19 0 0 0 100.0 + 0.0 (100.0 -100.0
1 -2 19 2 0 0 89.5 + 14.1 (103.6 - 75.4
2-3 17 0 1 0 89.5 + 14.1 (103.6 - 75.4
3 -4 16 3 1 0 72.2 £ 21.2 (83.4 - 50.8
4 -5 12 0o 0 0 72.2 £ 21.2 (93.4 - 50.9
5 - 12 12

TOTAL 19 S 2 12
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 125 9 3 0 92.7 £+ 4.7 (97.4 - 88.0
1 -2 113 9 0 0 85.3 + 6.4 (91.7 - 78.9
2 -3 104 11 3 0 76.2 £ 7.7 (83.9 - 68.4
3 -4 90 9 2 o 68.5 + 8.5 (77.0 - 60.0
4 -5 79 3 8 0 65.7 £+ 8.7 (74.4 - 57.0
5 - 68 68

TOTAL 125 41 16 68

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SFE  5X STD ERROR
0-1 3 2 ) 0 33.3 + 54.4 ( 87.8 ——21.1
1 -2 1 0 0 0 33.3 + 54.4 ( 87.8 —-21.1
2 -3 1 0 0 0 33.3 £ 54.4 ( 87.8 ——21.1
3-4 1 0 0 0 33.3 + 54.4 ( 87.8 ——21.1
4-5 1 0 0 0 33.3 £ 54.4 ( 87.8 ——21.1
5 - 1 1

TOTAL 3 2 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE  5X STD ERROR
0-1 26 6 (] 0 76.9 + 16.5 (¢ 93.4 - 60.4
1 -2 20 5 o 0 57.7 + 19.4 ( 77.1 - 38.3
2 -3 15 5 1 0 37.8 £ 19.2 ( 57.0 - 18.6
3 -4 9 2 1 0 28.9 * 18.3 ( 47.2 - 10.6
4 -5 6 0 0 o 28.9 + 18.3 ( 47.2 - 10.6
s - 6 6

TOTAL 26 18 2 6

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLIW-UP IN ALIVE  SURV.R+£2SE 5% STD ERROR
0 -1 83 17 2 0 79.3 £ 9.0 (88.2 - 70.3
1 -2 64 15 0 0 60.7 + 10.8 ¢ 71.5 — 49.9
2 -3 49 10 1 0 48.2 + 11.1 (€ 59.3 - 37. 1
3 -4 38 8 0 0 38.0 + 10.9 ( 48.9 - 27.2
4-5 30 3 2 0 34.1 + 10.6 ( 44.7 - 23.5
5 - 25 25

TOTAL 83 53 5 25
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13— 1. BEOKESICLB3EHEE (C,A,T,D, S. iakIRR. izfE)

< 2cm

<3cm

<5cm

<Tcm

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 70 4 1 0 94.2 £ 5.6 € 99.8 - 88.7
1 -2 65 2 0 0 91,3 + 6.8 ( 98.1 - 84.6
2 -3 63 0 0 0 91.3 + 6.8 ( 98.1 - B4.6
3 -4 63 3 4 0 86.9 + 8.2 ( 95.0 — 78.7
4 -5 56 0 1 0 86.9 + 8.2 (950 - 78.7
5 - 55 55

TOTAL 70 9 6 55

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 97 4 2 I 95.8 + 4.1 ( 99.9 - 91.8
1 -2 91 8 2 0 87.3 + 6.8 ( 94.2 - 80.5
2-3 81 4 1 0 83.0 + 7.8 (€ 90.7 - 75.2
3 -4 76 1 1 0 81.9 + 8.0 ( 89.8 - 73.9
4 -5 74 3 4 0 78.5 + 85 (87.0- 69.9
5 - 67 67

TOTAL 97 20 10 67

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 512 30 15 0 94.1 + 2.1 (96.2 - 91.9
1 -2 467 36 13 0 86.7 £+ 3.1 ( 89.8 - 83.7
2 -3 418 28 11 0 80.8 + 3.6 ¢ 84.4 - 77.3
3-4 379 21 6 o 76.3 £ 3.9 (80.2 - 72.4
4 -5 352 16 24 0 72.7 + 4.1 (76.8 - 68.6
5 - 312 312

TOTAL 512 131 69 312

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 571 43 11 0 92.4 + 2.2 ( 94.6 - 90.2
1 -2 517 46 6 0 84.1 £ 3.1 (87.2 - 81.0
2 -3 465 33 6 0 78.1 + 3.5 (81.6 - 74.6
3-4 426 28 13 0 72.9 £ 3.8 ( 76.7 - 69.1
4 -5 385 15 s 0 69.9 + 3.9 (73.9 - 66.0
5 - 335 335

TOTAL 571 165 71 a3s

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 463 34 9 o 92.6 £+ 2.4 (950 - 90.1
1 -2 420 33 3 0 85.3 + 3.3 ( 88.6 - 82.0
2 -3 384 26 9 0 79.4 £ 3.8 (83.2 - 75.6
3 -4 349 17 9 0 75.5 £+ 4.1 ¢ 79.6 - 71.5
4 -5 323 11 24 0 72.8 £ 4.2 (77.1 - 68.6
5 - 288 288

TOTAL 463 121 54 288

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD®S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 104 ) 0 0 91.3 £ 5.5 ( 96.9 - 85.8
1 -2 95 6 0 0 85.6 + 6.9 (¢ 92.5 - 78.7
2 -3 89 11 0 0 75.0 £ 8.5 ( 83.5 - 66.5
3-a 78 5 4 0 701 £ 9.0 ¢ 79.1 - 61.1
4 -5 69 1 6 0 69.0 £ 9.1 ¢ 78.1 - 59.9
5 - 62 62

TOTAL 104 a2 10 62
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<2cm

<3cm

<5cm

<Tcm

B

—_— [=] - %7 AN
13— 2. BENOKESICLB4EFE (Rs, Ra, Rb. /ARGIER. I2iE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 106 3 2 0 97.1 £+ 3.3 (100.4 - 93.9
1 -2 101 4 1 o] 93.3 £+ 4.9 (98.2 - 88.4
2 -3 96 3 1 0 90.3 £ 5.8 (96.2 - 84.5
3 -4 92 3 0 0 87.4 £ 6.5 (93.9 - 80.9
4 -5 89 4 6 0 83.3 £+ 7.4 (90.7 - 75.9
5 - 79 79
TOTAL 106 17 10 79

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0-1 188 5 6 0 97.3 £ 2.4 (99.7 - 984.9
1 -2 177 10 2 0 91.8 £+ 4.1 (85.8 - 87.7
2 -3 165 10 4 0 86.1 £ 6.1 (91.3 - 8l1.0
3 -4 151 7 4 0 82.1 £+ 5.7 (87.8 - 76.3
4 -5 140 6 8 0 78.5 £ 6.2 (84.7 - 72.3
5 - 126 126
TOTAL 188 38 24 126

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 683 36 20 0 94.7 £ 1.7 (96.4 - 92.9
1 -2 627 63 7 0 85.1 £ 2.8 (87.9 - 82.3
2 -3 557 51 8 0 77.2 + 3.3 (80.5 - 74.0
3 -4 498 39 16 0 71.1 £ 3.6 (74.6 - 67.5
4 -5 443 29 30 0 66.3 £ 3.7 (70.0 - 62.5
5 - 384 384
TOTAL 683 218 81 384

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALJIVE SURV. R+ 2SE 5% STD ERROR
0 -1 658 48 11 o] 92.7 £+ 2.0 (94.7 - 90.6
1 -2 600 72 2 0 81.5 £+ 3.0 (84.6 - 78.5
2 -3 526 62 3 0 71.9 £ 3.5 ( 75.4 - 68.3
3 -4 461 36 11 0 66.2 £+ 3.7 (69.9 - 62.5
4 -5 414 21 30 0 62.7 £t 3.8 (66.5 - 58.89
5 - 363 363
TOTAL 659 239 57 363

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 366 23 4 0 93.7 £+ 2.6 (86.2 - 91.1
1 -2 339 38 1 0 83.2 £+ 3.9 (87.1 - 78.2
2-3 300 25 3 0 76.2 £ 4.5 (80.7 - 71.7
3 -4 272 23 14 0 69.6 + 4.9 ( 74.5 - 64.7
4 -5 235 17 15 0 64.4 £ 5.1 (69.5 - 59.3
5 - 203 203
TOTAL 366 126 37 203

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 96 10 1 0 89.5 + 6.3 ( 95.8 - 83.3
1 -2 85 8 0 0 8l1.1 £+ 80 (88,1 - 73.1
2 -3 77 7 2 0 73.6 £ 9.1 (82.7 - 64.6
3 -4 68 7 1 0 66.0 £ 9.8 ( 75.8 - 56.2
4 -5 60 3 5 0 62.6 £ 10.1 ( 72.6 - 52.5
S - 52 52
TOTAL 96 35 9 52
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13—3. BEOAZSIILB3%E%HE (C,A,T,D, S. FEARIIER IR/E)

< 2cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWQOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 8 2 0 0 75.0 = 30.6 (105.6 - 44.4
1 -2 6 1 0 0 62.5 + 34.2 (96.7 - 28.3
2 -3 S 0 0 o] 62.5 * 34.2 (96.7 - 28.3
3 -4 S 2 0 0 37.5 = 34.2 (71.7 - 3.3
4 - 5 3 0 1 0 37.5 £ 34.2 (7.7 - 3.3
5 - 2 2
TOTAL 8 5 1 2
< 3cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 21 12 0 0 42.9 * 21.6 ( 64.5 - 21.3
1 -2 9 5 0 0 19.0 £ 17.1 (36.2 - 1.9
2 -3 4 2 0 0 8.5 £ 12.8 (22,3 - -3.3
3 -4 2 0 1 o 9.5 + 12.8 (22.3 - -3.3
4 -5 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 21 20 1 0
< 5cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 168 69 1 0 68.8 £ 7.6 (66.4 - 51.2
1 -2 98 42 2 0 33.3 £+ 7.3 (40.7 - 26.0
2 -3 54 21 0 ] 20.4 £+ 6.3 (26.7 - 14.1
3 -4 33 9 0 0 14,8 £ 5.6 (20.4 - 9.3
4 5 24 6 0 0 11.1 £+ 4.9 (16.0 - 6.2
5 18 18
TOTAL 168 147 3 18
< Tecm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R£2SE 5% STD ERROR
0 -1 244 116 0 0 62.5 * 6.4 (58.9 - 46.1
1 -2 128 49 1 0 32.3 + 6.0 (38.3 - 26.3
2 -3 78 31 1 0 19.4 =+ 5.1 (24.5 - 14.3
3 -4 46 14 3 0 13.3 £ 4.4 (C17.7 - 8.9
4 -5 238 5 0 0 11.0 x 4.1 (15,1 - 6.9
5 - 24 24
TOTAL 244 215 5 24
Tom= YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
- OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 215 101 3 0 62.7 + 6.8 (59.5 - 45.9
1 -2 111 43 1 0 32.2 £+ 6.4 (38.6 - 25.8
2 -3 67 19 1 0 23.0 + 5.8 (28.8-17.2
3 -4 47 11 3 0 17.4 £ 5.3 (22,7 - 12.1
4 - 5 33 2 1 0 16.4 £ 5.2 (21.5 - 11.2
5 - 30 30
TOTAL 215 176 9 30
Z{ lyq YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 49 29 1 0 40.2 = 14.1 (654.3 - 26.1
1 -2 19 7 1 [ 25.0 = 12.6 ( 37.6 - 12.4
2 -3 11 4 0 0 15.9 £ 10.8 ( 26.7 - 5.1
3 -4 7 1 0 0 13.6 £ 10.2 (23.8 - 3.5
4 -5 6 0 0 0 13.6 £ 10.2 (23.8 - 3.5
5 - 6 6
TOTAL 49 41 2 6
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13— 4. BEEOKE SIZLB3EFE(Rs, Ra, Rb. FEAKRTIRR. 5E)

< 2cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 S 1 0 0 80.0 £ 35.8 (115.8 - 44.2
1 -2 4 3 0 0 20.0 = 35.8 ( 55.8 --15.8
2 -3 1 0 0 0 20.0 = 35.8 ( 55.8 --15.8
3 -4 1 1 o 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 0 0
TOTAL 5 5 0 0
<3cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 12 2 0 0 83.3 = 21.5 (104.9 - 61.8
1 -2 10 4 ] 0 50.0 £ 28.9 (78.9 - 21.1
2-3 6 1 0 0 41.7 £ 28.5 (70.1 - 13.2
3 -4 5 0 1 0 41.7 £ 28.5 (70.1 - 13.2
4 -5 4 1 0 0 31.3 £ 28.0 (59.2 - 3.3
5 - 3 3
TOTAL 12 8 1 3
<5cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 136 56 1 0 68.7 £ 8.5 (67.1 - 50.2
1 -2 79 26 1 0 39.2 + 8.4 (47.7 - 30.8
2-3 52 16 2 0 26.9 = 7.7 (34.6 - 19.2
3 -4 34 9 0 0 19.8 £ 7.0 <( 26.8 - 12.8
4 -5 25 2 2 [¢] 18.2 + 6.8 (24.9 - 11.4
5 - 21 21
TOTAL 136 109 6 21
< Tecm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 231 77 3 0 66.4 £ 6.2 (72.7 - 60.2
1 -2 151 72 0 0 34.8 £ 6.3 (41.1 - 28.5
2 -3 79 27 2 0 22.7 + 5.6 (28.3-17.2
3 -4 50 21 1 0 13.1 £+ 4.5 C17.6 - 8.6
4 - 5 28 7 1 0 9.8 + 4.0 (13.8 - 5.7
5 - 20 20
TOTAL 231 204 7 20
Tcem=s YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
- OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 158 73 0 0 54.1 £ 7.9 (62.0 - 46.2
1 -2 86 38 1 0 30.0 £ 7.3 (37.3 - 22.8
2 -3 47 16 o] 0 19.8 + 6.4 (26.2 - 13.5
3 -4 31 9 3 0 13.8 5.5 (¢19.3 - 8.2
4 -5 19 3 3 0 11.4 £ 5.2 (16.6 - 6.2
5 - 13 13
TOTAL 159 138 7 13
I~ Eﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 43 20 0 0 53.5 £ 15,2 (68.7 - 38.3
1 -2 23 10 0 0 30.2 £ 14.0 ( 44.2 - 16.2
2 -3 13 5 1 0 18.1 £ 11.9 (30.0 - 6.3
3 -4 7 2 0 0 13.0 £ 10.5 (23.5- 2.5
4 -5 5 1 1 0 10,1 £ 9.6 (19.7 - 0.5
5 - 3 3
TOTAL 43 38 2 3
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13— 5. BEOKZSICLB4EHEFE (C,A,T,D,S. 24 7E)

<2cm

<3cm

<5cm

<Tcm

Ten=

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 82 7 1 0 91.4 £ 6.2 (¢ 97.6 - 85.2
1 -2 74 3 0 0 87.7 £ 7.3 ( 95.0 - 80.4
2 -3 71 0 0 ‘0 87.7 £ 7.3 (95.0 - 80.4
3 -4 71 5 4 0 81.3 + 8.7 (90.0 - 72.7
4 -5 62 ] 2 0 81.3 + 8.7- (90.0 - 72.7
5 - 60 60

TOTAL 82 15 7 60

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 125 16 2 0 87.1 £+ 6.0 (93.1 - 81.1
1 -2 107 13 2 ] 76.4 = 7.7 (84.1 - 68.8
2 -3 92 6 1 0 71.4 £ 8.2 (79.6 - 63.2
3 -4 85 2 2 0 69.7 + 8.3 (¢ 78.0 - 61.4
4 -5 81 6 4 0 64.4 + 8.7 (73.2 - 55.7
5 - 71 71

TOTAL 125 43 11 71

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 695 101 16 0 85.3 + 2.7 (88.0 - 82.6
1 -2 578 81 15 0 73.2 £+ 3.4 ( 76.6 - 69.8
2 -3 482 52 11 0 65.2 + 3.7 (68.9 - 61.5
3 -4 419 31 6 0 60.3 + 3.8 (64.1 - 56.5
4 -5 382 22 24 0 56.8 + 3.9 ( 60.6 - 52.9
5 - 336 336

TOTAL 695 287 72 336

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 840 168 11 0 79.9 + 2.8 (82.6 - 77.1
1 -2 661 95 7 0 68.3 + 3.2 (71.6 - 65.1
2 -3 559 64 8 0 60.4 * 3.4 (63.9 - 57.0
3 -4 487 44 16 ] 54.9 * 3.5 ( 58.4 - 51.4
4 -5 427 20 35 0 52.2 * 3.5 ( 55.7 - 48.7
5 - 372 372

TOTAL 840 391 77 372

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 715 148 13 0 79.1 £ 3.1 (82.2 - 176.1
1 -2 554 81 4 0 67.5 £ 3.5 (71.0 - 64.0
2 -3 469 45 12 0 60.9 £ 3.7 (64.6 - 57.3
3 -4 412 29 14 0 56.6 * 3.8 ( 60.3 - 52.8
4 -5 369 14 26 0 54.4 £ 3.8 (58.2 - 50.6
5 - 329 329

TOTAL 715 317 69 329
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 243 106 2 0 56.2 + 6.4 ( 62.6 - 49.8
1 -2 135 27 1 0 44.9 £+ 6.4 (51.3 - 38.5
2 -3 107 15 0 0 38.6 + 6.3 ( 44.9 - 32.3
3 -4 92 8 4 0 35.2 + 6.2 (41.4 - 29.0
4 -5 80 1 7 0 34.7 + 6.2 ( 40.9 - 28.6
5 - 72 72

TOTAL 243 157 14 72
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13— 6. BEOKZIICLD47EE (Rs, Ra, Rb. 2. igi&E)

< 2cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 112 4 2 0 96.4 * 3.5 (88.9 - 92.9
1 -2 106 7 1 0 90.0 * 5.7 (957 - 84.3
2 -3 98 3 1 0 87.2 £+ 6.4 (93.6 - 80.9
3 -4 94 4 0 0 83.5 *x 7.1 (80.6 - 76.4
4 - 5 S0 4 6 0 7.7+ 7.7 ((87.4 - 71.9
5 - 80 80
TOTAL 112 22 10 80
< 3cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 208 7 6 0 96.6 £ 2.5 (89.1 - 94.0
1 -2 185 16 2 0 88.6 £ 4.5 (93.1 - 84.2
2 -3 177 11 4 0 83.0 £+ 5.3 (88.4 - 77.7
3 -4 162 8 5 0 78.9 £ 5.8 (84.7 - 73.1
4 -6 149 8 9 0 74.5 £ 6.2 (80.8 - 68.3
5 - 132 132
TOTAL 208 50 26 132
<5cm YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 838 92 21 0 88. + 2.2 (91.1 - 86.7
1 -2 725 91 8 0 77.7 £ 2.9 (80.6 - 74.8
2 -3 626 68 11 0 69.2 £+ 3.2 (72.4 - 65.9
3 -4 547 439 18 0 62.9 + 3.4 (66.3 - 59.4
4 -5 480 32 33 0 68.5 + 3.5 (62.0 - 55.0
S 415 415
TOTAL 838 332 91 415
< Tem YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 921 134 ) 14 0 85.3 £ 2.3 (87.7 - 83.0
1 -2 773 . 147 2 0 69.1 £ 3.1 (72.2 - 66.0
2-3 624 91 5 0 69.0 £ 3.3 (62.2 - 55.7
3 -4 528 57 14 0 62.5 + 3.3 (55.9 - 48.2
4 -5 457 30 32 0 48.9 £t 3.3 (52.3 - 45.6
5 - 395 395
TOTAL 921 458 67 395
Tens YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
- OBSERVAT BEGINNING INTERVAL FOLLW-UP. IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 1 546 93 4 0 81.8 £+ 3.3 (851 -78.5
1 -2 443 81 2 0 66.8 £+ 4.0 (70.9 - 62.8
2 -3 360 42 3 0 59.0 £+ 4.2 (63.2 - 54.8
3 -4 315 32 17 0 52.8 + 4.3 (57.1 - 48.5
4 -5 266 21 19 0 48.5 = 4.4 (52.9 - 44.1
5 - 226 226
TOTAL 546 275 45 226
71: % YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 253 109 2 0 56.7 £ 6.2 (63.0 - 50.5
1 -2 142 33 0 0 43.6 + 6.3 ( 49.8 - 37.3
2 -3 108 17 3 0 36,7 £ 6.1 ( 42.8 - 30.6
3 -4 89 13 1 0 31.3 + 5.9 (37.2 - 25.4
4 - 5 75 7 6 0 28.2 + 5.7 (34.0 - 22.5
5 - 62 62
TOTAL 253 178 12 62
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13— 7. BEOXZS(AR)CLB4EHER (C,AT,D,S. Ak 5E)

L/3UTF

1L 2LLF

2/ 3L F

B2

£ A

R 8

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 150 5 3 0 96.6 £ 3.0 (989.6 - 93.7
1 -2 142 7 1 0 91.9 £ 4.5 (86.4 - 87.3
2 -3 134 3 0 0 89.8 £ 5.0 (94.8 - 84.8
3 -4 131 4 4 0 87.0 £ 5.6 (92.6 - 81.5
4 -5 123 3 8 0 84.8 £ 6.0 (90.8 - 78.8
5 - 112 112

TOTAL 150 22 16 112

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE. GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 172 7 7 0 95.8 + 3.1 (98.9 - 92.8
1 -2 158 10 7 0 89.6 £ 4.8 (94.4 - 84.9
2 -3 141 5 3 0 86.4 £ 5.4 (91.8 - 81.0
3 -4 133 4 5 0 83.8 £ 5.8 (89.6 - 77.9
4 -5 124 6 11 0 79.5 £ 6.5 (86.0 - 73.0
S - 107 107

TOTAL 172 32 33 107

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 217 17 6 0 92,1 £ 3.7 (95.8 - 88.4
1 -2 194 14 2 o] 86.4 £ 4.9 (90.2 - 80.5
2 -3 178 11 3 0 80.1 £ 5.5 (856 - 74.5
3 -4 164 13 S 0 73.6 £ 6.1 (79.7 - 67.5
4 -5 146 3 14 0 72.0 £ 6.3 (78.3 - 65.8
5 - 129 129

TOTAL 217 58 30 129

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 5% STD ERROR
0 -1 310 21 7 0 93.1 £ 2.9 (96.0 - 90.3
1 2 282 25 3 0 84.8 £+ 4.1 (89.0 - 80.7
2 -3 254 16 6 0 79.4 £ 4.7 (84.1 - 74.8
3 -4 232 17 5 0 73.6 £ 5.1 (78.7 - 68.4
4 -5 210 11 17 0 69.5 £+ 5.4 (74.9 - 64.2
5 - 182 182

TOTAL 310 90 38 182

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.Rt2SE 5% STD ERROR
0 -1 867 73 13 0 81.5 £ 1.9 (93.4 - 89.6
1 -2 781 70 10 0 83.3 =+ 2.6 (85.8 - 80.7
2 -3 701 61 14 0 75,9 £ 2.9 (78.9 - 73.0
3 -4 626 34 16 0 71.8 £ 3.1 (74.9 - 68.7
4 -5 576 22 37 0 68.9 £ 3.2 (72.1 - 65.7
5 - 517 517

TOTAL 867 260 90 517

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 101 1 2 0 89.0 £ 2.0 (101.0 - 97.0
1 -2 98 5 1 0 93.9 £+ 4.8 (98.7 - 89.1
2 -3 92 6 1 0 87.8 £ 6.6 (94.4 - 81.1
3 -4 85 3 2 0 84.6 £ 7.3 (91.9 - 77.3
4 -5 80 1 7 0 83.6 £ 7.5 (91.1 - 76.0
5 - 72 72

TOTAL 101 16 13 72
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13— 8. BENOAZ S (AR)ICLB4E7EE (Rs, Ra, Rb. A%. 5iE)

/3L F

L2LF

2/3LLF

il

£

)55

B

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 345 13 5 0 86.2 £ 2.1 (98.3 - 84.1
1 -2 327 17 2 0 91.2 £ 3.1 (894.3 - 88,1
2-3 308 18 3 0 85.8 + 3.8 (89.6 - 82.0
3 -4 287 11 10 0 82.5 + 4.1 (86.6 - 78.3
4 - 5 266 10 26 0 79.2 £ 4.5 (83.7 - 74.8
5 - 230 230

TOTAL 345 69 46 230

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 380 17 12 0 85.5 + 2.2 (97.6 - 93.3
1 -2 351 30 4 0 87.2 £+ 3.5 (80.7 - 83.8
2-3 317 23 7 0 80.8 + 4.1 (850~ 76.7
3 -4 287 15 7 0 76.6 =+ 4.5 (81.0 - 72.1
4 -5 265 13 14 0 72.7 £+ 4.7 ((77.4 - 68.0
5 - 238 238

TOTAL 380 98 44 238

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 396 18 9 0 86.4 £ 2.1 (97.5 - 93.3
1 2 369 43 4 0 84.2 + 3.7 (87.9 - 80.5
2 -3 322 38 6 0 74.2 £ 4.5 (78.7 - 69.7
3 -4 278 21 7 0 68.5 + 4.8 (73.3 - 63.7
4 5 250 20 11 0 62.9 + 5.0 (67.9 - 57.9
S 219 219

TOTAL 396 140 37 219

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 454 35 10 ] 92.2 + 2.5 (84.7 - 89.7
1 -2 408 45 0 0 82.1 + 3.6 (857 - 78.4
2 -3 364 35 0 0 74.2 £ 4.2 (78.3 - 70.0
I -4 329 34 10 ] 66.4 £+ 4.5 (70.8 - 61.9
4 -5 285 15 26 0 62.7 + 4.6 (67.4 - 58.1
5 - 244 244

TOTAL 454 164 46 244

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 429 35 7 0 91.8 £ 2.7 (84.4 - 89.1
1 -2 387 43 2 0 80.1 =+ 3.9 (84.0 - 76.2
2 -3 336 42 3 0 70.1 £ 4.5 ( 74.5 - 65.6
3 -4 291 28 10 0 63.2 + 4.7 (67.9 - 58.5
4 -5 253 i8 14 0 68.6 + 4.9 (63.4 - 53.7
5 - 221 221

TOTAL 429 172 36 221

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 94 7 1 0 92.5 + 5.4 (98.0 - 87.1
1 -2 86 11 1 0 80.6 + 8.2 (88.8 - 72.4
2 -3 74 2 2 [o] 78.4 =+ 8.6 (87.0 - 69.8
3 -4 70 6 2 0 71.6 £ 9.5 (81.0 - 62.1
4 -5 62 4 3 0 66.9 =+ 9.9 (76.8 - 56.9
5 - 55 55

TOTAL 94 30 9 55
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13— 9. BENAZ S (AR)ICL34EER(C,A,T,D,S. AR I8/E)

1/31;J\'F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR

0 -1 11 5 0 0 54.5 + 30.0 ( 84.6 - 24.5)
1 -2 6 1 0 0 45.5 + 30.0 ¢ 75.5 - 15.4 )
2 -3 5 2 0 0 27.3 + 26.9 (54.1 - 0.4)
3-4 3 0 0 0 27.3 + 26.9 (54.1 - 0.4
4-5 3 0 1 0 27.3 £+ 26.9 (54.1 - 0.4)
5 - 2 2
TOTAL 11 8 1 2
L/2LF YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 31 13 0 0 58.1 + 17.7 ( 75.8 - 40.3 )
1 -2 18 7 0 0 35.5 £ 17.2 ( 52.7 - 18.3 )
2 -3 11 1 0 0 32.3 £ 16.8 (49.0 - 15.5)
3-4 10 3 1 0 22.1 £ 15.1 (37.1 - 7.0)
4-5 6 2 0 0 14.7 £ 13.1 €27.9 - 1.6)
5 - 4 4
TOTAL 31 26 1 4
2/ 3L0F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 58 21 0 0 63.8 £ 12.6 (¢ 76.4 - 51.2)
1 -2 37 11 1 0 44.6 = 13.1 (¢ 57.7 - 31.5)
2 -3 25 13 0 0 21.4 £ 10.9 (€ 32.3 - 10.5)
3-4 12 0 0 0 21.4 + 10.9 (¢ 82.3 - 10.5)
4-5 12 3 0 0 16.0 + 9.8 (25.8 - 6.3)
5 9 9
TOTAL 58 48 1 9
il YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR

0 -1 110 Sl 0 0 53.6 £ 9.5 (63.1 - 44.1)
1 -2 59 19 1 0 36.2 £ 9.2 (45.4 - 27.0)
2 -3 39 10 2 0 26.7 £ 8.5 (35.2-18.2)
3 -4 27 9 0 0 17.8 £ 7.5 (253 - 10.3)
4 -5 18 3 0 0 14.8 £+ 7.0 <¢21.8 - 7.9)
5 - 15 15
TOTAL 110 92 3 15

é }ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 443 211 4 0 562.2 £+ 4.8 (56.9 - 47.4)
1 -2 228 98 2 0 2.6 £ 4.4 (34.0 - 25.3)
2 -3 128 48 0 0 18.5 =+ 3.7 (22.2 - 14.8)
3 -4 80 22 6 0 13.2 £+ 3.3 (C16.5 - 10.0)
4 -5 52 6 1 0 11.7 £ 3.1 (14.8 - 8.6)
5 - 45 45
TOTAL 443 385 13 45

Z’{ iﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 52 28 1 0 45.6 * 13.9 (59.5 - 31.7)
1 -2 23 11 1 0 23.3 £ 12.0 (35.3 - 11.4)
2-3 11 3 0 0 17.0 £ 10.7 (€ 27.7 - 6.2)
3 -4 8 3 0 0 10.6 * 8.8 (18.5 - 1.7)
4 -5 5 0 0 0 ‘10.6 £ 8.9 (19.5 - 1.7)
5 S S
TOTAL 52 45 2 5



13—10. BEOAZ &(BR)ICL 347 (FLAE. Rs, Ra, Rb. IEARE. I87E)

1/ 3LF YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 29 4 1 0 86.0 £ 13.0 ¢ 99.0 - 73.0 )
1 -2 24 12 1 0 42.1 £ 18.8 ( 60.9 - 23.2 )
2 -3 11 5 0 0 22.9 + 16.3 (€ 39.2 - 6.7)
3-4 6 0 0 0 22.9 £ 16.3 (39,2 - 6.7)
4-5 6 0 0 0 22.9 = 16.3 (39.2 -~ 6.7 )
5 - 6 6
TOTAL 29 21 2 6

L2 F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 60 26 1 0 56.3 + 12.9 ( 69.2 - 43.4)
1 -2 a3 11 0 0 37.5 + 12,6 € 50.1 - 24.9 )
2 -3 22 8 1 0 23.6 £ 11,1 € 34.7 - 12.4)
3-4 13 2 1 0 19.8 £ 10.6 ¢ 80.3 - 9.2)
4-5 10 4 1 0 11.5 £ 8.8 (20.3 - 2.7)
5 - 5 5
TOTAL 60 51 4 5

2/3L°F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S

OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR

0 -1 97 42 0 0 56.7 £ 10.1 ( 66.8 - 46.6 )
1 -2 55 24 0 0 32.0 £ 9.5 (41.4 - 22.5)
2 -3 31 10 1 0 21.5 8.4 (29.8-13.1)
3 -4 20 6 0 0 15,0 £ 7.3 ((22.4 - 7.7)
4 -5 14 0 1 c 15,0 £ 7.3 (22.4 - 7.7)
5 - 13 13
TOTAL 97 82 2 13

ﬁé}%ﬂ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 121 42 i o 65.1 + 8.7 (73.8 - 56.5)
1 -2 78 35 1 0 35.7 + 8.8 (44.5 - 27.0)
2-3 42 11 1 0 26.3 x 8.1 (34.3 - 18.2)
3 -4 30 13 2 0 14.5 + 6.6 C21.1 - 7.9)
4 -5 15 2 0 0 12,6 £+ 6.3 (18.8%- 6.3)
5 - 13 13
TOTAL 121 103 5 13

é }ﬁ YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR

0 -1 242 103 1 0 57,3 £ 6.4 (63.7 - 651.0)
1 -2 138 61 0 0 32.0 £+ 6.0 (38.0 - 26.0)
2 -3 77 29 0 0 19.9 £ 6.2 (251 - 14.8)
3 -4 48 17 2 0 12.7 + 4.3 ((17.0 - 8.4
4 -5 29 7 4 0 9.4 £ 3.9 (13.3 - 5.6
5 18 18

TOTAL 242 217 7 18

Z’\' w YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP I[N ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 37 12 0 0 67.6 £ 15.4 (83.0 - 52.2)
1 -2 25 10 ] 0 40.5 = 16.1 (56.7 - 24.4)
2 -3 15 2 2 0 34.7 £ 15.8 (50.5 - 19.0)
3 -4 11 4 0 0 22.1 = 14.2 (€36.3 - 7.8)
4 - 5 7 1 1 0 18.7 £ 13.6 (32.3 - 5.1
5 - 5 5

TOTAL 37 29 3 S
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13—11. BEOAZS(AR)ICLB3EHEE (C,A,T,D,S. £ &=)

1/ 3LF YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 170 12 3 0 92.9 + 4.0 (96,8 - 88.9
1 -2 155 8 1 0 88.1 £+ 5.0 (¢ 93.1 - 83.1
2 -3 146 6 0 0 84.4 * 5.6 (90.1 - 78.8
3 -4 140 4 4 0 82.0 + 6.0 ( 88.0 - 76.0
4 -5 132 3 9 0 80.1 + 6.2 (86.3 - 73.9
5 - 120 120
TOTAL 170 33 17 120
1/2L0F YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 206 20 7 0 90.1 £+ 4.2 (94.3 - 85.9
1 -2 179 17 7 0 8l.4 + 5.5 (869 - 759
2 -3 155 7 3 0 77.7 % 5.9 (83.6 - 71.7
3 -4 145 7 6 0 73.9 + 6.3 (80.2- 67.5
4-5 132 8 11 0 69.2 + 6.7 < 75.8 - 62.5
5 - 113 113
TOTAL 206 59 34 113
2/ 3LLF YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 281 ag 6 0 86.3 £ 4.1 (€ 90.5 - 82.2
1 -2 237 26 3 0 76.8 + 5.1 (¢ 81.8 - T1.7
2 -3 208 25 3 0 67.5 £ 5.7 ( 73.2 - 61.8
3 -4 180 13 5 0 62.6 + 5.9 ( 68.4 - 56.7
4 -5 162 6 14 0 60.1 £ 6.0 ( 66.1 - 54.2
5 - 142 142
TOTAL 281 108 at 142
ikl YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 430 74 7 0 82.6 + 3.7 ( 86.3 - 79.0
1 -2 349 45 4 0 71.9 + 4.4 (76.3 - 67.6
2 -3 300 26 9 0 65.6 + 4.6 ( 70.2 - 61.0
3 -4 265 28 5 0 58.6 + 4.8 ( 63.4 - 53.8
4-5 232 14 17 0 54.9 + 4.9 (59.8 - 50.0
5 - 201 201
TOTAL 430 187 42 201
£ B YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1,398 329 19 0 76.3 + 2.3 (78.6 - 14.0
1 -2 1,048 179 12 0 63.2 + 2.6 ( 65.8 - 60.6
2 -3 857 109 16 0 55.1 + 2.7 (57.7 - 2.4
3 -4 732 57 23 0 50.7 £ 2.7 ( 53.4 - 48.0
4 -5 652 30 40 0 48.3 + 2.7 ( 51.0 - 45.6
5 - 582 582
TOTAL 1,396 704 110 582
~ H YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0-1 217 73 3 0 66.1 + 6.4 ( 72.6 - 59.7
1 -2 141 25 2 0 54.3 + 6.8 (61.1 - 47.5
2-3 114 9 1 0 50.0 + 6.8 ( 56.9 - 43.2
3-4 104 10 3 0 45.1 + 6.8 ( 52.0 - 38.3
4-5 91 2 7 0 44.1 + 6.8 (50.9 - 37.3
5 - 82 82
TOTAL 217 119 16 82
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13—12. BEOKE & (FR)ICL3%7FE% (Rs, Ra, Rb. 214, l55E)

L/3L\F

L/2UF

2/ 3LF

kA

£ M

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5%X STD ERROR
0 -1 382 18 6 0 95.3 £+ 2.2 (897.4 - 83.1
1 -2 358 31 3 0 87.0 £ 3.5 (80.4 - 83.5
2-3 324 23 3 0 80.8 £ 4.1 (84.8 - 76.7
3 -4 298 12 10 0 77.5 £ 4.3 (81.8 - 73.1
4 -5 276 10 26 0 74.5 £+ 4.6 (79.1 - 70.0
5 - 240 240

TOTAL 382 94 48 240

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 456 45 13 0 90.0 £ 2.8 (92.8 - 87.1
1 -2 397 43 4 0 80.2 + 3.8 (84.0 - 76.4
2 -3 350 32 8 0 72.8 £+ 4.2 (77.0 - 68.5
3 -4 310 18 8 0 68.5 £+ 4.5 (72.9 - 64.0
4 -5 284 18 15 0 64.0 £ 4.6 (68.7 - 59.4
5 - 251 251

TOTAL 455 156 48 251

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 615 67 9 0 86,9 £ 3.0 (89.9 - 83.8
1 -2 439 68 4 0 73.4 £ 3.9 (77.3 - 68.4
2 -3 367 50 7 0 63.3 £+ 4.3 (67.6 - 59.0
3 -4 310 27 9 o] 57.7 £+ 4.4 (62.1 - 53.2
4 - 5 274 22 13 0 52.9 £ 4.5 (57.4 - 48.4
5 - 239 239

TOTAL 515 234 42 239

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 580 79 11 0 86.5 + 2.8 (89.3 - 83.7
1 -2 500 80 1 0 72.6 £ 3.7 (76.3 - 68.9
2-3 419 47 1 0 64.5 £+ 4.0 (68.5 - 60.5
3 -4 371 47 12 o] 66.2 * 4.1 (60.3 - 52.0
4 -5 312 20 26 0 52.4 £+ 4.2 (56.6 - 48.2
5 - 266 266

TOTAL 580 273 51 266

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 730 169 8 0 76.7 £ 3.1 (79.9 - 73.6
1 -2 553 118 2 0 60.2 £+ 3.6 (63.8 - 56.5
2 -3 432 74 3 0 49.8 + 3.7 (53.6 - 46.1
3 -4 355 45 14 0 43.4 £ 3.7 (47.1 - 39.7
4 -5 296 26 21 0 39.4 £ 3.7 (43.1 - 35.8
5 - 249 249

TOTAL 730 433 48 249

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 206 67 2 0 67.3 £ ,6.6 (73.9 - 60.8
1 -2 137 34 1 0 50.5 £ 7.0 (57.6 - 43.5
2 -3 102 6 5 0 47.5 £+ 7.0 ( 54.5 - 40.5
3 -4 91 14 2 0 40.1 =+ 6.8 ( 47.1 - 33.2
4 - 5 75 6 4 0 36.8 £ 6.9 (43.7 - 28.9
5 - 65 65

TOTAL 206 127 14 65
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